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� &
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� '1(� � ��	����%�� !�� ��#
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���
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� ����	 �	����� ��
������
� ����������� ���
��	��� � ������������ 3����� � ������ ������ �����

4
��� Ω 5 ����
��� ��������� � n������� ���	������ ������������ R
n. ������ ���#���

���� 6 L(loc) = L(Ω; loc), Lq(ω) = Lq(Ω;ω), C∞(Ω), C∞
0 (Ω) + ��������������� �	��� 	���	���

�
����
��
� � Ω &
�����7 	������� ������������ &
����� � �������� ������ ‖u‖Lq(ω) =

=
(∫

Ω

|u|qω
)1/q

, 0 ≤ ω ∈ L(loc)7 �	��� &
����� u� ���8��� � Ω ����#����
� Dαu =

= ∂α1+...+αn

∂α1x1...∂αnxn
u ���� ��� ���� |α| =

n∑
i=1

αi7 �	��� &
����� u ∈ C∞(Ω) � ��������
�� ���

����	 ��� �	 �#�������� ��������� G ⊂ Ω : |G| 5 ���� 3������ |G|ω =
∫
G

ω. 9���# G �
���

���#������ #��
����� G� XG 5 ����������������� &
���� G� f/G 5 �
����� &
����� f
�� G� ∂G 5 ������� G� :���������	��
� &
����� �# �	���� L(loc) �
��� ��#
���� �������

4
��� ρ, v 5 ���� �� Ω, ��� !��� ρ−p′/p ∈ L(loc), C∞W = C∞W l
p(ρ, v) 5 �	��� &
�����
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u ∈ C∞(Ω) � �������� ������

‖u‖W = ‖u‖W l
p(ρ,v) =

⎛
⎝∫

Ω

|∇lu|pρ+ |u|pv
⎞
⎠

1/p

, )$-

��� |∇lu| =

( ∑
|α|=l

|Dαu|2
)1/2

. 9���# W = W l
p(ρ, v) = W l

p(Ω; ρ, v) �
��� ���#������ ����	�����

C∞W �� ����� )$-�
4
��� X,Y 5 �����������
� ������������ � ������� ‖ · ‖X , ‖ · ‖Y � ��������������� BX

5 �������
� %�� � X� >
��� ��������� ��� X �	����� � Y )#����� X → Y -� ��	� X ⊂ Y �
�
�����
�� ���� ����� ��� C > 0, ��� ‖x‖Y ≤ C‖x‖X ∀ x ∈ X. 0���������
� ��������

E : X → Y, #�����
� ���������� Ex
def= x, ��#
��8� ���������� �	����� E = EX→Y � ?�����

E ∈ σ∞ �
��� �#������� ��� E 5 ��������
� ���������
4
��� L(X,Y ) 5 �����
������ ���� 	�����
� ������
��
� ����������� ������
8��� �#

X � Y � 9���# LN (X,Y ) ���#����� ��������� ���� �����������
� ���������� L ∈ L(X,Y ),
��#�������� ����#� �����
� �� ����������� N. 4
��� HN (X) 5 �����
������ ���� �������
�������� X ��#�������� ≤ N, K 5 ������	������������������ ������������ ������������
�������� ������������ X. ��	����


aN (E) def= inf
L∈LN (X,Y )

‖E − L‖, dN (K,X) def= inf
H∈HN (X)

{sup
x∈K

inf
ξ∈H

‖x− ξ‖X}

��#
��8�� � �������������� N �� ��������������
� ���	�� ��������� E, N ������������� ��

=�	�������
 ��������� K � X7 N (λ,E) def=
∑

aN (E)>λ

1 (λ > 0) 5 &
���� ��������	��� 

��������������
� ����	 aN (E) ��������� �	����� E� 4
��� In 5 �����
������ ���� �
���
���� Q = Qd = Qd(x) = {y ∈ R

n : |yi −xi| < d/2, i = 1, . . . , n}. =
� λQ = Qλd(x) (λ > 0)� =
�

Q = Qd(x) ⊂ Ω ��������� ��	����


M(δ,ε)(x, d) = M(δ,ε)(x, d|ρ, v) = dl−n|Q(ε)|1/p′
σ inf |Q(ε) \ e|1/p

v ,

��� Q(ε) = (1 − ε)Q, δ, ε ∈ [0, 1), � inf ������ �� ��������
 N(δ)(Q(ε)), N(δ)(Q) def= { e ⊂
⊂ Q : |e| ≤ δ|Q|}. 4�� !��� ε = 0, ��	� ��	��� Ω = R

n. ?���� � � ��	����%�� σ = ρ1−p′ , p′ =
= p/(p− 1), 1 < p <∞.

�����π = π(δ,ε),l,p(Ω)� >
��� ��������� ��� ������ ���� (ρ, v) �� Ω 
���	����� �� 
�	��

��8
(π)

)��������	��� &
����� d(x)-� ��	� �
�����
�� ���� ��	�����	��� ����������� 
&
���� d(x) �� Ω, ��� �	 ���� x � Ω

Q(x) def= Qd(x)(x) ⊂ Ω � M(δ,ε)(x, d(x)) ≥ 1. )*-

= ������
� �� ������������� W = W l
p(ρ

μ, ρν), −∞ < μ, ν < ∞, ��� ρ(x)−1 !�����	�����
������ ��8 �� ������
 ∂Ω ������������ ��	���� Ω, 
�	��� )*- ��������	��� &
����� d(x) =
= Δ(x) def= sup{d > 0 : Qd(x) ⊂ Ω} ������� � � ����������� lp+ μ ≤ ν�

����� π∗
= π∗

(δ,ε),l,p(Ω)� >
��� ��������� ��� ������ ���� (ρ, v) �� R
n 
���	����� ��


�	���8 (π∗
) )� #����� (ρ, v) ∈ π∗

-� ��	� 0 < d∗(x) ≤ C < ∞ � Q∗(x) ⊂ Ω, ���
d∗(x) = d∗(δ,ε)(x|ρ, v)

def= sup{d > 0 : M(δ,ε)(x, d|ρ, v) ≤ 1}, Q∗(x)=Qd(x) ��� d = d∗(x). @
���� 

d∗(x)  �	 ��� ���������� �� ��
�������� �	
��� &
����� 0��	����� v∗(x) def= sup
d>0

{
d > 0 :

Qd(x) ⊂ Ω, dl−n/p

( ∫
Q(ε)

v

)1/p

≤ 1
}

)��� 'A(� ��,B-� 4��� (ρ, v) ∈ π∗

���	����� �� 
�	���8

)π- ��������	��� d(x) = d∗(x).



0� ����������� ��������	��� ��������������
� ����	 �	������� C D

4
��� ���� (ρ, v) ∈ π ��������	��� &
����� d(x). �
��	�� �� #���
� � d(x) ���������
�
���6 B(x) = B(ε)(x) = {Q ∈ In : x ∈ Q � ∃ �
� Q(ε)(y) ⊃ Q} � B = B(ε) =

⋃
x∈Ω

B(x). E�	��� 

�	����� W (ρ, v) → Lq(ω) �
����8�� � �������� ������� K(x) = K(Q(ε)(x)), ��� �� �
���

Q = Qd(x) ∈ B, K(Q) = K(x; d) def= dl−n|Q|1/p′
σ |Q|1/q

ω .
�	��
8��� 
�	��� 

K = ess sup
x∈Ω

K(ε)(x) <∞ � K(ε)(x) ⇒ 0 ��� x→ ∂Ω )B-

 �	 8�� ���������
�� �� ����� (ρ, v) ∈π �	 ����������� �	����� W l
p(ρ, v) → Lq(ω) )���

'$*(� �� 2,-� ?����� K(ε)(x) ⇒ 0 ��� x→ ∂Ω �#������ �
��	����� �	��
8���� 
�	��� 6 ∀ε > 0
������� ������� F ⊂ Ω, �	 �������� ess sup

x∈Ω\F
K(ε)(x) < ε.

��������� �
��� B  �	 ��� ��&&�������	��
� ��#����� ��� ��#��	 �� ����������
� ���
��#�� ������ � ������������ �������	��
� �������� �� &
���� �� ������	���
� � ��	����

M∗f(x) = sup
Q∈B(x)

|Q|−1

∫
Q

|f |, f ∈ L(loc). );-

0������� f →M∗f(x) ������
�� �# L(loc) � ������������ M(Ω) ���� �#�����
� &
������
#�����
� �� Ω. ���������	���� ��������� Gλ = {x ∈ Ω : M∗f(x) > λ} 5 ����
��� �	 
λ ≤ 0 Gλ = Ω, � � �	
��� λ > 0 ������� �
� Q ∈ B(x)� �� ������� ��� ��� λ < 1

|Q|
∫
Q

|f |, � ���

��� Q ∈ B(y) ∀y ∈ Q, �� M∗f(y) > λ ∀y ∈ Q, � Q ⊂ Gλ.
��������� �
��� {Qj , j ∈ J} ⊂ In ��#
��8� B�����
���� ��������� A ⊂ R

n, ��	� �
��	�
���
 
�	��� 6

$� A ⊂ ⋃Qj ;
*�
∑XQj (x) ≤ κ1 <∞ ∀x ∈ R

n )������� κ1����������-7
B� {Qj , j ∈ J} ���������� �� ��	��� ��� �� κ2 < ∞ ����������� {Qj , j ∈ Jν} �������

����������8���� �
��� )������� κ2���#��	������-�
4
��� A 5 ������������ ������������ Ω, {Qx, x ∈ A} 5 ��������� �
��� Qx = Qh(x)(x) ∈

∈ B. .���� �# {Qx, x ∈ A} ����� �#�	��� B�����
��� � ����� ��
�� κi = κi(n), i = 1, 2. )���
'$B(� ��$$-� � ��	����%�� #� θ #������� #������� θ = l−n/p+n/q. ?������� ��� ∀ x ∈ Q, Q ∈ B
� |Q|−1

∫
Q

|f | ≤M∗f(x), ���
�� �	��
�� ������

K(Q) = dθ(|Q|−1|Q|σ)1/p′(|Q|−1|Q|ω)1/q ≤ dθΦ(x) ∀x ∈ Q, )D-

��� Φ(x) = Φσ,ω(x)
def
= (M∗σ(x))1/p′(M∗ω(x))1/q.

� ��	
 )D- ��������� ���

K(Q) ≤
(∫

Q

(Φ(x))n/θdx

)θ/n

. ),-

��� &���
	��
��
� ���� ��#
	����
 �
�
� ������	����� �
��	����
�� �	��
8��� 
�	��
�� 6 l ≥ n, 1 < p ≤ q <∞, θ > 0, � ���� (ρ, v) ∈π.

�� � � �	 � 
� ����� Φ ∈ Ln/θ. 
���� EW→Lq(ω) ∈ σ∞.

��
 � � � � � � � � � � � � � ��	
 ),-

K = vrai sup
x

K(ε)(x) < (1 − ε)−(l−n)‖Φ‖Lθ/n
. )1-

.�� ���
� �
��	���� ����������� 
�	���� �	 �
���������� �	����� W → Lq(ω). �	 
����#���	����� ��	8���� EW→Lq(ω) ∈ σ∞ ������	���� �����	�� ��� Ω ����������� 4
���
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Ωλ = {x ∈ Ω : Δ(x) > λ}, Gk = Ω2−(k+1) \Ω2−k , k = 0, 1, 2, . . . . 4
��� m 5 ������	���� ��	���

��� ������� Ω2−m 
= ∅. F# ��������	��� ∫
Ω

Φn/θ =
∞∑

k=m

ak, ak =
∫

Gk

Φn/θ �	��
��� ���
∞∑

k=j

ak → 0

��� j → ∞. 4
��� ε ≥ 2−s (s ≥ 0). F# ������ Δ(y) ≤ 2Δ(x) ��� y ∈ (1 − ε)QΔ(x)(x) �	��
���

��� �	 x ∈ Ω \ Ω2−j Q(ε)(x) ⊂ Ω \ Ω2−(j−1) =
∞⋃

k=j−1

Gk, � #������ K(ε)(x) ≤
( ∞∑

k=j−1

ak

)θ/n

. G��

��#��	 �� 
���������� ��� K(ε)(x) ⇒ 0 ��� x → ∂Ω, ���� ������ � )1- �
 ����� ���������
�

�	��� )B- ����������� �	����� W → Lq(ω).

4
��� Ω ������������� ���������� ����#���� ��� BW ∩ C∞(Ω) ����� � Lq(ω) ������
8
τ ����� ∀ τ > 0� 4�	���� Ω̃j = Ω ∩QjR(0), R = 2 sup

x∈Ω
d(x). �	 ����#��	��� �
�������� τ > 0

������� ����� N, ��� ������� c1
∫

Ω\Ω̃N−1

Φn/θ < (τ/2)n/θ, c1 > 0 5 ���	�� �
��� #������ 

�������� �
��� ��#H ���� ����� �	 ���� u ∈ C∞(Ω) ∩BW � ��	
 ),-

‖u‖Lq(Ω\Ω̃N ;ω) ≤ c ess sup
Ω\Ω̃N

K(ε)(x) ≤ cc
−θ/n
1 τ/2 = τ/2, )2-

��� cc
−θ/n
1 = 1.

/�������� F = {f = uXΩ̃N
, u ∈ C∞(Ω) ∩ BW} �� ����#�����
 ����� 5 �������������

� Lq(Ω̃N ;ω). 4
��� ḡ 5 �����	����� �
	�� �� ��� Ω &
����� g ∈ Lq(Ω̃N ;ω). 4
��� ��	��
{g1, . . . , gN} 5 ������� τ/2����� � Lq(Ω̃N ;ω) ��������� F . .���� � ��	
 )2- �����
������
{ḡ1, . . . , ḡN} �
��� τ �����8 �	 %��� BW ∩ C∞(Ω).

4
��� G 5 ����
��� ������������ Ω. ������ ���#������ 6 EG 5 �������� �	����� 

W (G) → Lq(G;ω), W (G) = W l
p(G; ρ, v); N (λ,EG) def=

∑
ak(EG)>λ

1 5 &
���� ��������	��� 

��������������
� ����	 ak(EG); E = EΩ, Gλ = {x ∈ Ω : K(ε)(x) > λ}. 4
��� F #����
�� �
Ω, G 5 ����
�� ����������� F � Ω. 4� ������	���8 C∞(F ) =

⋂
G

C∞(G).

��		� 
� ����� ��������� ������� )B- � {Qj} � B���� ���� Gλ, ���������� �! ���
��"���� {(1− ε)Qh(x)(x), x ∈ Gλ}, ��� 0 < h(x) ≤ d(x)� #�$������� ���������� c > 1 �����%
&��

N (cλ,E) ≤ cmax
ν

∑
j∈Jν

N (λ;EQj ) ∀λ > 0. )A-

����#���	����� 	���
 $ ��������� � ������� '2(� 'A(�

��		� �� #�$�����'� �� !�����$�� �� Q ∈ B ���������� c0, c > 0 �����% &��

N (cλ,EQ) ≤ c0, ��� ������ K(Q) < λ (λ > 0). )$I-

��
 � � � � � � � � � � � � �
�����
�� �������� S� ���� ��� � ������������ &
����� u ∈
∈ C l(Q̄)� Q = Qd, ��	���� Slu ������� ≤ l − 1, �	 ��������∫

Q

|u− Slu| ≤ c1d
l

∫
Q

|∇lu|

)��� '2(� ��**I-� �	������ ����	��� W l
1(Q1) → L∞(Q1) �	���� �����


(∫
Q
|v|qω

)1/q

≤ |Q|1/q
ω sup

Qd

|v| ≤ c2d
l−n|Q|1/q

ω

(∫
Q

|∇lv| + d−l

∫
Q

|v|
)
. )$$-



0� ����������� ��������	��� ��������������
� ����	 �	������� C 1

4�	��� � )$$- v = u− Slu� ��	
���� ��� �� %��� BW (Q)

‖u− Slu‖Lq(Q;ω) ≤ c3d
l−n|Q|1/q

ω

∫
Q

|∇lu| ≤ c3K(Q)
(∫

Q

|∇lu|pρ
)1/p

≤ c3K(Q) ≤ c3λ.

.��� S ∈ Lm(W (Q);Lq(Q;ω)) m = c0(l, n) > 0, �� �� �
�� Q, 
���	����� 8��� 
�	���8
K(Q) ≤ λ� ���	� ak(EQ) ≤ c3λ ��� 0 ≤ k ≤ m, ���
�� �	��
�� ������ )$I-�

��		� �� ����� ��� (���)�� d(x) ��$������� �� !�����$�� �� x &���� η ∈ (0, 1)
�����% &��

d(t) ≥ ηd(x), ��� ������ t ∈ Q(ε)(x). )$*-


���� ����� ����� �������)��

Q = Qd(x) ⊂ Q(ε)(x), K(ε)(x) > λ⇒ Q ⊂ {x ∈ Ω : d(x)θΦ(x) ≥ c−1λ},

��� c > 0 �� !������ �� x * � ����� ρ, v+�

��
 � � � � � � � � � � � � 4
��� K(ε)(x) > λ, t ∈ Q = Qd(x) ⊂ Q(ε)(x). � ��	
 )D- �


�	��� )$*- d(t)θΦ(t) = (1 − ε)−θ

(
d(t)
d(x)

)θ

((1 − ε)d(x))θΦ(t) ≥ (η/(1 − ε))θK(ε)(x) ≥ c−1λ, ���

c−1 = (η/(1 − ε))θ.

�� � � �	 � �� ����� �� � (ρ, v) ∈ π ������������ (���)�� d(·), ��������� �'$�"
������' )$*-% � Φ = Φσ,ω ∈ Ln/θ. 
���� �� �������� �)����

N (λ,E) ≤ cλ−n/θ

∫
{d(·)θ>c−1λΦ−1}

Φn/θ. )$B-

��
 � � � � � � � � � � � � ������ ������������������ ��#���

d̂(x;λ) = sup
d>0

{d : Q = Qd(x) ⊂ Ω, K(Q(ε)) ≤ λ} )$;-

)��� '2(� ��**I-� F# ����������� ��#������� K(x, d) �� d �	��
��� ��� 0 < d̂(x;λ) ≤ d(x) ��

Gλ
def= {x ∈ Ω : K(ε)(x) > λ} � K(Q̂x,λ) = λ, ��� Q̂x,λ

def= (1 − ε)Qd(x), d = d̂(x;λ). 4
���
{Q̂j}j∈J 5 B�����
���� �
��	����� �# ��������� {Q̂x,λ, x ∈ Gλ}, Q̂j = Q̂xj ,λ. � ��	
 	���
 B

Q̂j ⊂ {Φ > c−1
1 λd(·)−θ}. 4�����  	���
 $� * � �����
 )D-� �
�����

N (c2λ,E) ≤ c2 max
ν

∑
j∈Jν

(
λ−1K(Q̂j)

)n/θ

≤

≤ c3λ
−n/θ max

ν

∑
j∈Jν

∫
Q̂j

Φ(x)n/θ ≤ c4λ
−n/θ

∫
{d(·)θ>c−1

4 λΦ(x)−1}

Φ(x)n/θdx.

� �	 � � � �� � 
� ����� ��� ω ��������� ��� ������' ,���-��� ����-����,������������
-�!��� B, ���� ��$������� ����� c > 1, &�� ∀ Q ∈ B c−1ω(y) ≤ ω(x) ≤ cω(y) � � y ∈ Q. .
� ��� �% ω(x) = d(x)μ, ��� d(x) = min{1,Δ(x)} �� Ω 
= R

n. / 0��� ���&�� M∗ω � ω. 1�����
f � g �!��&���% &�� c−1f(x) ≤ g(x) ≤ cf(x) � ������ �" �� !�����$�" �� x ∈ Ω ���������"
c > 1.



2 /� �� <������� � 3� =� =
�������

� �	 � � � �� � �� ����� ���� ρ � v �� Ω 
= R
n ��������� �'� ������������ d(x) =

= min{1,Δ(x)} ������ �! ������"2
3+ |Q|−1 inf

e∈N(δ)(Q)
|Q \ e|v ≥ c1d(x)−lp−α, |Q|−1|Q|σ ≥ c2d(x)−β4

5+ |Q|−1 inf
e∈N(δ)(Q)

|Q\e|v ≥ c1d(x)−α, |Q|−1|Q|σ ≥ c2d(x)−lp′−β, ��� α/p+β/p′ > 0% � Q = Q(ε)(x).

/ 0��� ���&�� �� � (ρ, v) � ��&�����' �� ����������� ���6����� c > 1 ��������� ���
������' (π) ������������ (���)�� d(x) = min{1,Δ(x)}.

4������� � � ��#
	������� ��������������� �
����8��� �# ������ $ � *�

�� � � �	 � �� ����� ���� ρ, v, ω �� Ω 
= R
n ��������� �'� ��������2 3+ (ρ, v) ∈ π

������������ d(x) = min{1,Δ(x)} = δ(x); 5+
∫
Ω

Φn/θ < ∞. 
���� W = W l
p(ρ, v) ���������

���6��� � Lq(ω). � � 0���

N (λ,E) ≤ cλ−n/θ

[ ∫
Ω1∩{Φ>c−1λ}

Φn/θ +
∫

Ω′
1∩{Φ>c−1λδ(·)}

Φn/θ

]
, )$D-

��� Ω1 = {x ∈ Ω : Δ(x) ≥ 1}, Ω′
1 = Ω \ Ω1.

� ���������� �
��� ρ(x) � d(x)−μ, v(x) � d(x)−ν , −∞ < μ, ν <∞, ν > lp+μ� 4�����������
W = W l

p(ρ, v) ��������� �	����� � Lq(ω), ��	�

I =
∫
Ω1

M∗ωn/lp +
∫
Ω′

1

M∗(ρ−1ω)n/lp <∞,

� ����� ����� ������

N (λ,E) ≤ cλ−n/l

[ ∫
Ω1∩{(M∗ω)1/p>c−1λ}

(M∗ω)n/lp +
∫

Ω′
1∩{M∗(ρ−1ω)1/p>c−1λρ1/μ}

(M∗(ρ−1ω))n/lp

]
.

J�	� Ω ����������� �� W l
p(ρ, v) ��������� �	����� � Lp(Ω) �

N (λ,E) ≤ cλ−n/l

[
|Ω1| +

∫
Ω′

1∩{ρ−1/p−1/μ>c−1λ}

ρ−n/lp

]
.

>�#�� B = B(ε), ���������
� �� &
����� d(x) = d∗(x)� �
��� ���#������ ����# B∗ = B∗
(ε);

��������������� Φ∗
σ,ω = Φσ,ω, G∗

λ = Gλ, G̃∗
λ = G̃λ ��������	��� �������	����� ��������� M∗

�� ��#��
 B∗.
>
��� ��������� ��� ��� g �� Ω 
���	����� �� 
�	���8 (A∗∞) )��������	��� ��#��� B-� ��	�

�	 ������� τ > 0 ������� ����� δ ∈ (0, 1), ��� ∀ Q ∈ B
|e|g ≤ τ |Q|g, ��� ��	��� |e| ≤ δ|Q|. )$,-

J�	� ��� v ∈ A∗∞ ��������	��� B∗, �� ��� ��������� c > 1, ��� ����
��� 
������� � ����
(ρ, cv) ∈π ��������	��� d(x) = d∗(x).

�� � � �	 � �� ����� ���� v, ρ, � ω ��������� �'� ��������2 
+ vρ−1 ∈π∗
; �+ ρ ��������

����-����� ������������ -�!��� B∗
(ε), � v ∈ A∗∞;

�+
∫
Ω

(ρ−1M∗ω)n/lp <∞. 
���� W = W l
p(ρ, v) ��������� ���6��� � Lp(ω). � � 0���

N (λ,E) ≤ cλ−n/lJ(c−1λ), )$1-

��� J(λ) =
∫

{(ρ−1v)∗(ρ−1M∗ω)1/lp>λ1/l}
(ρ−1M∗ω)n/lp.



0� ����������� ��������	��� ��������������
� ����	 �	������� C A

� �	 � � � �� � �� 7� ������ ����� v ∈π∗ ∩ A∗∞ � �� ���&����" �-����� Ω ����� �����
 �!������ 8�9���-���� *���:;<=+

c−1N (cλ,E) ≤ λ−n/l|{v∗ > λ1/l}| ≤ cN (c−1λ,E).

J�	� ��� v ∈ A∞� �� ������� ����� ��� c = c(δ) > 1, δ ∈ (0, 1), � ������� ���� (v, cv)

���	����� �� 
�	���8 (π(δ,0)) �� R

n ��������	��� &
����� d(x) ≡ 1. � �	��
8��� �������
&
����� M∗ ��������
 �� ��#��
 B = {Qd : 0 < d ≤ 1}.

�� � � �	 � �� ����� ��� v ∈ A∞ � Φ = (M∗v1−p′M∗ω)1/p ∈ Ln/l(Rn). #� �������� ���� �

6�����2 3+ W l
p(v, v) ��������� ���6��� � Lp(Rn);

5+ ����� ����� �)����
N (λ,E) ≤ cλ−n/lJ(c−1λ),

��� J(λ) =
∫

{Φ>λ}
Φn/lp.

����������� !��"���#��

0! ��������� �	
	 1�	
�
�2� �
��
�2 ��
��� ���3
�4����! �!� 05��!

"! ��
������� ������ �������� ������ ���������� �
 !� "
����� ����#$��� 66 7-)8!&,-9!

055�! :! 0"�� ; "! <!0�� = 0>"!

>! %&'(�)�� *	 +	 66 �?�! ��?
� ���! 055�� ;�! <!>" = @�!

�! ,���� -�����
� ��� -���.��� 66 A%%*BC$&! D9EB*F ,(8 A%%G! 0555! :! 0@� ; 0! H! @� = �>!

@! /011�2�) 3	4	� �56'(��7(�8 /	9	 66 ���! ?��! 0555! :! �@� ; �! H! #�0 = #�5!

�! �5�6'(�� �	4	 66 ���! ?��! 055#! :! �>! ; �! H! #50 = 5�"!

�! :2561;5� 
	<	 66 IJ1 HHH�! 05��! :! ">0� ; �! H! #0� = #0>!

#! =�>��(�) ?	@	 :2561;5� 
	:	 66 :���2 ��J1 J1 HHH�! 05#�! :! 0��! H! "0> = ">"!

5! 
A)1;5� B	�	� :2561;5� 
	:	 K��
�2� L��	M�
��
N�2� ��
��������� � ���	�� ��LL�O

���M��
N�2P 
�����
�
�! �! 05##!

0�! B07;�)��; =	B	 66 IJ1 HHH�! 05#�! :! "@0� ; �! H! �50 = �5�!

00! 
A)1;5� B	�	 66 IJ1 HHH�! 05#�! :! "��� ; >! H! @># = @�0!

0"! B07;�)��; =	B	 :�
���2 �

4��� � ������

 M�� ���
�2P ��
�������� H
3

���! I
	�!

�������! J
���2! 0555!

0>! +07�;) 
	 I�LL����M��
����� �������

�! �! 05�#!

0�! /258) @	 H����
 ��2� �������
2 � ��LL����M��
N�2� ��
����� L��	M��! �! 05�>!

��������� �  ����)�' 
<�	���		���



�����������	�
 ��
���� ������� �		�� 
�� �� � 
� �� 
	 � 
�

��� �����

� ���������� �	
������ ���
��
�


�� �� ����

�������� ���	����
� ��
 ��

������� ������� ���
��� ���� ���

�� ������ ��	�
� �����
����� 
������� ���������� 	������ �����	������� � �
���	����
���	� ������� 
������ ����������� ��������� ��������� � 
���	����	�� ��
�������� �����
����

������������������� ��������� ���������  !"# �
������������ !$% ��	 	��� ����
# ����	
����	�& ��	���&� '���������� ���	����� ��� 	����� ��
��(�	��# ��
�����# � ����	��  $") *"�
+�� � !,-$ ��
� ��	��� ������  ." 
�����/ 0��� 1�	 �(� ����� !!% ��	 2	� ��������� 
���
������	 �������� �����
���	����# �� ���� � 
����
��� ��
� ���� 
������� ������������ �

����� 
���	����	���������
����
��� ��
�3� � ���3�� ������ �	�������� ���	����� ���� �	

���(���� ���������� 4 ����� ����� ������	�	� �� 
���3��� � 
� ��� 
���� ���0

�	
���	�
� ������� ���������� ��������� ��������� 
�� �
����� ������������ �����
��� � ��
����� χ# ���
�� 5� 6��������  7"# ��(�� ��
���	� � ��
�

∂f

∂t
+ (v, gradf) = B(f, f), 8!9

�
�

B(f, f) = J(f) − fS(f), J(f) =
∫
R3

∫
Σ

f(t, x, v′)f(t, x, v′1)g(θ,W )dσdv1,

S(f) =
∫
R3

∫
Σ

f(t, x, v1)g(θ,W )dσdv1, g(θ,W ) = 0.5χ2 |W | sin θ cos θ,

v, v1 4 ���	��� ������	� 
��� �	������&����� ������� 
� �	����������# � v′, v′1 4 ���	���
������	� 
���� �	����������# ���	��	�	�����#

v = (ξ1, ξ2, ξ3), v1 = (η1, η2, η3), v′ = (ξ′1, ξ
′
2, ξ

′
3), v′1 = (η′1, η

′
2, η

′
3) ∈ R3,

f = f(t, x, v) 4 ������� ���
��
������ �������# ���&��� ������	� v: W = v1 − v 4 ���	��
�	����	������ ������	� 
���
 ������
���	����: ������	� ������� v′, v′1 ������� �� ������	���
v, v1 
����
�	��� ���3��� 
�����3����� ���	�������/

v′ = v + β(β,W ), v′1 = v1 − β(β,W ),

��������	 ��������� ���	�
���� �
���
��� ������ �� ���
��
��� ������ �������


��� �
����
���� ������� ��
�����
����	 ���
�� ������ ��� �

�© �� �� ����� 	

	�



; ���������� ��������� ��������� !!

�
� β 4 �
���3��� ���	�� � ��
�������� ��������� �������/

β =
(
sin θ cos ε, sin θ sin ε, cos θ

)
, (θ, ε) ∈ Σ =

{
0 ≤ θ ≤ π; 0 ≤ ε ≤ 2π

}
.

<�����	��� 
�� ��������� 8!9 ��������& ��
�3� 6��� � �����	�
Q = (0, T ] × G× R3 � ��3������ ��������

f(t, x, v)
∣∣∣∣
t=0

= ϕ(x, v), 879

� 
����
�3����� �����3��� ��������

f(t, x, v)
∣∣∣∣
Γ0xα

= f(t, x, v)
∣∣∣∣
Γ1xα

, α = 1, 3, 8$9

�
� t 4 �����# t ∈ [0, T ]; T < ∞, G = [0, 1]3 4 �
���3��� ���# x = (x1, x2, x3) ∈ G,Γρxα 4
����� ���� G# 
��
��
��������� � ��� xα, 
����
���� 3���� xα = ρ, ρ 
�������	 ���3����
���� 0# ���� 1.

���	� ��
��������� =�� ������� ��
�3� 8!9)8$9 ��
������� ��	�
 �����
������ ;	���
	��# 3	� ����� ��	�
 �����
����� ��� 
������� � ����	���� 
�����	��� ��
���� ���������
��������� � ����	��  >"#  -"�

?��	� ��3������ ������� ϕ(x, v) 
���(�	����� � G×R3, 	���

ϕ(x, v) > 0 � ϕ(x, v) ∈ C2(G)
⋂

C(R3); 8>9

∫
R3

| v |γ‖ ϕ(v) ‖C(G) dv = Aγ <∞; γ = 0, 2 8.9

� �
����	����@	 �����3���� ������& 8$9# �
�

‖ ϕ(v) ‖C(G)= sup
x∈G

ϕ(x, v), 
�� ∀v ∈ R3.

;	����� [0, T ] ���
���� �� M ������ 3��	�� 
���� τ 	�3���� tn = nτ, n = 0,M − 1.
?��

���(��# 3	� �����	�� 
�����(���� {fn(x, v)} � �����	 ������� nτ. 5��
� ����� ��	�
�
�����
�����# ���	��	�	��&��� ��
�3� 8!9)8$9# ��
�����&	�� � ���
�&��� ��
�/

fn+1/5 − fn

τ
= −fn+1/5S(fn), 8A9

fn+2/5 − fn+1/5

τ
= J(fn), 8*9

� ��3������ ��������
f0(x, v) = ϕ(x, v) 8-9

�
fn+(α+2)/5 − fn+(α+1)/5

τ
+ ξα

∂fn+(α+2)/5

∂xα
= 0, α = 1, 3, 8,9

� �����3��� ��������

fn+(α+2)/5 |Γ0xα
= fn+(α+2)/5 |Γ1xα

, α = 1, 3. 8!%9

<������ fn+1/5 �� 
������ ���� n+ 1/5 �
��
����	�� ���� �� ����������� ��������� 8A9/

fn+1/5 =
fn

1 + τS(fn)
. 8!!9



!7 B� C� B���

;	�&
� ���
��	# 3	� 2	� ��������� � 	�3���	�& O(τ2) ��(�� ��
���	� � ��
�/

fn+1/5 = (1 − τS(fn))fn. 8!79

��	��
�� ���
�	���# 3	� �� �������� �� 
���	����	��

C(2)
(
0, T

]⋂
C(3)

(
G
)

��������� 8A9# 8*9# 8,9 �

���������&	 �� ����� ���� 
� ������� � 
����� 
���
��� �

����
������� 
� τ ���
�&��� ������	����������������� ��������� ���������/

fn+1 − fn

τ
+

3∑
α=1

ξα
∂fn+1

∂xα
= B(fn, fn), 8!$9

���	��	�	��&��� 8!9�
?��	� 
�����(���� fn(x, v) 4 
���(�	������ � �
����	�����	 ��������	���∫

R3

| v |γ‖ fn(v) ‖C(G) dv <∞; γ = 0, 2,

��� τ 
�
3���� ������3���&

τ <

(
inf
G

∫
R3

fndv

) / (
sup
G

∫
R3

fnS(fn)dv
)
. 8!>9

D� 8A9 88!799 ���
��	# 3	� ������� fn+1/5 ���������� ������3��� 
� (x, v) ∈ G×R3 ��������
fn# 	���

fn+1/5(x, v) ≤ fn(x, v). 8!.9

D�	������� ��������	�� 8!.9 
� �����	� R3# �����∫
R3

| v |γ ‖ fn+1/5(v) ‖C(G) dv ≤
∫
R3

| v |γ ‖ fn(v) ‖C(G) dv, γ = 0, 2. 8!A9

'���
���� 8*9 � 8!!9# 
���3��

fn+2/5 =
fn

1 + τS(fn)
+ τJ(fn). 8!*9

;	�&
� � �3�	�� 8!>9# ��
������ 8!79 � �����	�� ��	������ �	����������# ����
��∫
R3

| v |γ ‖ fn+2/5(v) ‖C(G) dv ≤
∫
R3

| v |γ ‖ fn(v) ‖C(G) dv, γ = 0, 2. 8!-9

D� 
����
��� ������ ���
��	∫
R3

| v | ‖ fn+2/5(v) ‖C(G) dv ≤
∫
R3

(1+ | v |2) ‖ fn(v) ‖C(G) dv. 8!,9

E�
�3� 8,9# 8!%9 ����	 �
���	������ 
���(�	������ �������# ��	���� ��
��	�� � 
�����&
���
�&��� ������/

fn+(α+2)/5(., xα, ., v) = μν(xα, 0)

1∫
0

exp[−aα(1 − sα)]fn+(α+1)/5(., sα, ., v)dsα+



; ���������� ��������� ��������� !$

+

xα∫
0

ν(xα, sα)fn+(α+1)/5(., sα, ., v)dsα, α = 1, 3; ξα > 0 , 87%9

fn+(α+2)/5(., xα, ., v) = μγ(1, xα)

1∫
0

exp[−aαsα]fn+(α+1)/5(., sα, ., v)dsα+

+

xα∫
0

ν(xα, sα)fn+(α+1)/5(., sα, ., v)dsα, α = 1, 3; ξα < 0 , 87!9

fn+(α+2)/4(., xα, ., v) = fn+(α+1)/5(., xα, ., v) α = 1, 3; ξα = 0, 8779

�
�

aα =| τξα |−1, ν(y, z) = aα exp[−aα(y − z)], μ = [1 − exp(−aα)]−1.

D� 87%9)8779 ���
��	# 3	� fn+(α+2)/5(., xα, ., v) > 0, α = 1, 3 
�3	� ��&
� � G × R3 � �����	��

����
�3����� �������� 
� xα# 	�� ��� fn+2/5(., xα, ., v) 4 
���(�	������ � 
����
�3����� 
�
xα, α = 1, 3.

����� �� ��� ������� ������ � !"�
	! ���#� ����� ����$�%

‖ fn+(α+2)/5(v) ‖C(G)≤‖ fn+(α+1)/5(v) ‖C(G) ∀v ∈ R3, α = 1, 3. 87$9

�	
 � � � � � � � 
 � � 	 � <�����	��� ������� 87%9 ��
�3� 8,9)8!%9 
�� ξα > 0. ' �3�	��

���(�	������	� �������# 
�����
� � ��������	��# 
���3��

fn+(α+2)/5(., xα, ., v) ≤‖ fn+(α+1)/5(v) ‖C(G)

(
μν(xα, 0)

1∫
0

exp[−a(k)
α (1 − sα)]dsα+

+

xα∫
0

ν(xα, sα)dsα

)
, α = 1, 3; ξα > 0.

1�3����� ��	������# ����
��/

μν(xα, 0)

1∫
0

exp[−a(k)
α (1 − sα)]dsα = exp(−a(k)

α xα),

xα∫
0

ν(xα, sα)dsα = 1 − exp(−a(k)
α xα).

?�
�	����� ���
����� ���3���� ��	������� � ��������	��# 
���3�� 
�����	����	�� 
�����
3��	� ����� ! 
�� ξα > 0. 5���� (� ������� 
�������&	�� ��	������ ���3���

F���� ! 
��������

D�	�������# ��������	�� 87$9 
� �����	� R3# ����
��∫
R3

| v |γ ‖ fn+(α+2)/5(v) ‖C(G) dv ≤
∫
R3

| v |γ ‖ fn+(α+1)/5(v) ‖C(G) dv, γ = 0, 2; α = 1, 3. 87>9

����� �� &��� ��������� '(�$��� (������������ (�����# �)!* �� ��� ������+ ������

��!"�
	! �,��������� ����$�%∫
R3

| v |γ ‖ fn+1(v) ‖C(G) dv ≤
∫
R3

| v |γ ‖ fn+4/5(v) ‖C(G) dv ≤



!> B� C� B���

≤
∫
R3

| v |γ ‖ fn+3/5(v) ‖C(G) dv ≤
∫
R3

| v |γ ‖ fn+2/5(v) ‖C(G) dv ≤

≤
∫
R3

| v |γ ‖ fn+1/5(v) ‖C(G) dv ≤
∫
R3

| v |γ ‖ ϕ(v) ‖C(G) dv ≡ Aγ , γ = 0, 2; 87.9

∫
R3

| v |‖ fn+1(v) ‖C(G) dv ≤
∫
R3

| v |‖ fn+4/5(v) ‖C(G) dv ≤

≤
∫
R3

| v |‖ fn+3/5(v) ‖C(G) dv ≤
∫
R3

(1+ | v |2) ‖ ϕ(v) ‖C(G) dv ≡ B. 87A9

�	
 � � � � � � � 
 � � 	 � D� ��������	� 8!A9# 8!-9# 87>9 ����
�	�� ��
� ��������	�∫
R3

| v |γ ‖ fn+1(v) ‖C(G) dv ≤
∫
R3

| v |γ ‖ fn+4/5(v) ‖C(G) dv ≤

≤
∫
R3

| v |γ ‖ fn+3/5(v) ‖C(G) dv ≤
∫
R3

| v |γ ‖ fn+2/5(v) ‖C(G) dv ≤

≤
∫
R3

| v |γ ‖ fn+1/5(v) ‖C(G) dv ≤
∫
R3

| v |γ ‖ fn(v) ‖C(G) dv, γ = 0, 2.

;	�&
�# �������� 
� n# 
����
�� � 
�����	����	�� 87.9# �� ��	����� ���
��	 87A9�
F���� 7 
��������
=����# ��
������ 
������������� 6�������� ��	������ �	���������� �� 8 7"# �	��$$ 9# �����

����� 8!*9 ��
���� ��
�/

fn+2/5 = fn+1/5 + τJ(fn) ≡ fn+1/5 + 2τ
∫
R3

fn(x, v′)
ρvv′

∫
Evv′

fn(x, q)dqdv′, 87*9

�
� Evv′ 4 �������3��� 
������	�# dq 4 2�����	 
����
� �� Ev′v#

ρvv′ =
√

(ξ1 − ξ′1)2 + (ξ2 − ξ′2)2 + (ξ3 − ξ′3)2 − ����	����� ��(
� v � v′.

��
�� 
�������	��� ��������	���� 6��������# ��	���� � ����� ���3�� ��
���	�� � ���
�&�
��� ��
�/ ∫

Ev′v

J(fn)dq ≤ π

∫
R3×R3

fn(x, v)fn(x, v1)dvdv1 ∀x ∈ G, 87-9

∫
R3

1
ρv′v

J(fn)dv ≤ 4π
∫

R3×R3

fn(x, v)fn(x, v1)dvdv1, ∀x ∈ G. 87,9

D� ��������� 8*9 � 
�����& ����G� 8!A9# 87>9 � 
��
�
���� ��������	� 
���3��∫
R3

1
ρv′v

‖ fn+2/5(v) ‖C(G) dv ≤
∫
R3

1
ρv′v

‖ fn(v) ‖C(G) dv + 4πτA2
0,

∫
Ev′v

‖ fn+2/5(q) ‖C(G))dq ≤
∫

Ev′v

‖ fn(q) ‖C(G) dq + τπA2
0.



; ���������� ��������� ��������� !.

5��
�# ��H�
���� 
����
��� ��������	�� � ������� 87$9# ����� ��
� ��������	�∫
R3

1
ρv′v

‖ fn+1(v) ‖C(G) dv ≤
∫
R3

1
ρv′v

‖ fn+4/5(v) ‖C(G) dv ≤
∫
R3

1
ρv′v

‖ fn+3/5(v) ‖C(G) dv ≤

≤
∫
R3

1
ρv′v

‖ fn+2/5(v) ‖C(G) dv ≤
∫
R3

1
ρv′v

‖ fn(v) ‖C(G) dv + 4πτA2
0,

∫
Ev′v

‖ fn+1(q) ‖C(G) dq ≤
∫

Ev′v

‖ fn+4/5(q) ‖C(G) dq ≤
∫

Ev′v

‖ fn+3/5(q) ‖C(G) dq ≤

≤
∫

Ev′v

‖ fn+2/5(q) ‖C(G) dq ≤
∫

Ev′v

‖ fn(q) ‖C(G) dq + πτA2
0.

;	�&
�# �������� 
� n# ���
��∫
R3

1
ρv′v

‖ fn+1(v) ‖C(G) dv ≤
∫
R3

1
ρv′v

‖ ϕ(v) ‖C(G) dv + 4πTA2
0 ≡ A3, 8$%9

∫
Ev′v

‖ fn+1(q) ‖C(G) dq ≤
∫

Ev′v

‖ ϕ(q) ‖C(G) dq + πTA2
0 ≡ A4. 8$!9

D� ��������� 87*9 � �3�	�� 8!.9# 87$9 � 
����
��� ��������	�# ����
�� ������

fn+1(x, v) ≤ fn(x, v) + τA5, �
� A5 = 2A3A4.

;	�&
� 
���3���

‖ fn+1(x, v) ‖C(G×R3)≤‖ ϕ(x, v) ‖C(G×R3) +TA5 ≡ A6. 8$79

����
�����	
�� �������� ?��

���(��# 3	� ���&	�� 
�� ������� f(t, x, v) � F (t, x, v).
1�
���� ��������� 
�� �� ������	� U = f − F :

∂U

∂t
+ (v, gradU) = B(f, f) − B(F, F )

� �����	� Q = (0, T ] ×G×R3 � ������� ��3������

U |t=0= 0

� 
����
�3����� �����3��� ��������

U(t, x, v)
∣∣∣
Γ0xα

= U(t, x, v)
∣∣∣
Γ1xα

, α = 1, 3.

�����
��� U ∈ C(Q) ��	�������� ���	�������

d

dt

∫
R3

‖ U(t, v) ‖C(G) dv = 0, 3	� � ����������� U(t, x, v) ≡ 0.

�� 	 � � � � � &��� ,���-�������� ��������� '(�$��� ϕ(x, v) (������������ (�������

�.!"�)!* �� �(/����(�� ������������ ,���-�������� ������� ������ �
!"�0! f(t, x, v) ��

��������� ������� [0, T ], T <∞* ,�������-�/�� C(Q).

������������ ����������

�� �������� 	
 �	
��� � �	 !�� "�# $� ��� �%�&� ��� ��
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� �������������� ����� &���������� #����� ���������
 ������� '(�")����
 

*������ ��������� ��������� ��
 ���������������� '+�) ����� � ������� ����� ��������
$
�� ������������� ���� ���#������� ��#������� ,�
 �� #�������
 ��������$� ��#�������
��� ��#������� ��������-��� ��������
� ��� ������� #������ �� ������ ��������-��� ����
��� � ������� +�����
 �������$��
 . ��	��� /01 ��������� ���� ��22��������-��� ���������
��
 ������������ ����������� ���������� �����
� ������������� ������� ��������� �����
����� ��
 ���������������� ������ ��#������ ���������������� '������ ����������������

������) ���������� ��������� .����� ������� ��������� ��������� #���- �����-#��� ���
��������� � ������ ��� #�������� 

*������� ����������� 2�#������� ������������
�� ��������� #��
�� � ���� �� ��
��
����$� +�� ������� �������� �������� ��������� ��������� ��������� � ����������� ����
	������ �� ����������-����- ��������� ����� ��������!��� ������� ��� ��������� #��
�
��
������� 3���- �� ������ ����� ��������!���
 � ������#�� ��� ��������� #��
� �������
�������� ������ �����������
 ����� ��22��������-��� ��������� ��
 ������������ "������
������� �����!�� � ��	� ��������� 4-$���� ��
 ���!�
���
 #��
!����� ���� 5�� � #����
���� ������� ��������� ��������� 

��������	
���
��������� ��������� ��	
������ . ����-� /01 ����#���� ��� ���
����� ��������� ��������� ��
 +�����
 ��!�� #������- � ����

−c−1∂tA = i 678A+ J, c = 1/
√
εμ, '0)

ρ = c−19:; A, '<)

��� A = ����������� ������ ����
!������� +�����


A = AE + i AH =
√
εE + i

√
μH,

��������	 ������� ��	� �� 
������ �
������� ����	������ ���������������� �������� ���	��� ����� ������ �
�������


��� �
����
���� ������� ��
�����
����	 �����

�© �� �� �������	
� �

��



0> ? � ���������

��� J � ����������� #��
� ρ �����
 �������
$��
 ����# ������������� � ��������� ���� �
�	����� +��#��
�� 2��������

J = JE − iJH =
√
μjE − i

√
εjH , ρ =

√
μρE − i

√
ερH ; ρE = ε 9:;E, ρH = −μ 9:;H. '@)

3���- ������������� � ��������� ������������� ε, μ = ����!����-��� ���������� c = ����
����- +������� E,H = ����
!������� �������������� � ���������� ���
� jE(x, t)� jH(x, t) =
��������� ������������� � ��������� ������ x = (x1, x2, x3 ), t � 0 

A��� ������ ����������-��� ������ �������� #��
��� V � ��

J = ρV, jE = ρEV, jH = ρHV. 'B)

3������� ��� ������
 +�����
 ��� ����� #����� �������
���
 ����# �����- ������������
������� (����


W =
1
2

(
ε ‖E‖2 + μ ‖H‖2

)
= 0, 5 ‖A‖2 = 0, 5(A,A∗), 'C)

� ������ ��������� ���

P = E ×H =
ic

2
A×A∗, 'D)

��� A∗ =
√
εE − i

√
μH = ���������������
!����� A 

�� � � �� � �� �������  �������! "
# !��!���! �������� �������$�  �������! ����

ΔA− c−2∂
2A

∂t2
= −i rot J + c grad ρ+ c−1∂tJ. 'E)

��	 � � � � � � � 
 � � � � ,��������� �#
�- ����� � '0)� ����	��#����- ������� ����� �
������ ���������

678 678 = F6G9 9:; − Δ, '>)

� ����� ��� #����� ����#������ �� ������� ����#��- ����# ���� � ∂tA� �
� ��# �����-#�
 '0) 
H����-#�
 �������� 2����������-���� ������
 ��������� ��������
 ����� ����#������


�� � � �� � �� %��� ��&��� '(�� ���� J ∈ D′
3(R

4
+)) �� �*�*(����� �������  �������!

"
#) �������'(�� �+� ,����� � +�� -�'(�� �� *������,����� ./������) ����� ��� �������

A = −i rot (J ∗ ψ) + c grad (ρ ∗ ψ) + c−1∂t (J ∗ ψ) , 'I)

$�� ψ � � ���������0��� ������� �������$�  �������! ψ = −(4πR)−1δ(t−R/c)) δ(t−R/c) �
������& ���& �� ������!'(�&�! ����� R = ct [1, 3]�

3���- D′
3(R

4
+) = ���������� ������������ �	�	
����� �������2������ �� D3(R4

+)� R4
+ =

R3 × (0,∞) 
� � � � � � � � � � . 2������ 'D) /01� ����������� '0)� ����
��� ������ � #���� �����

�������� ��� �����
�� �� #��� ������� ���������� � ������ ����� 2������ ������� D /01�
����������� ������� @� ����#����� ��� ������ � ����
-$ 2������ J���� ��������� '0) 

&��������� ���������� ��!��� � ����� #����
 �����!����� ���� ����� 

���������������
	�� ������� . �����2�#��� � ������������ �#���$��
 � �����-�
#�$��
 ��������� ����� �������$
�� ���� � �������������� +�����
 ���$� ������������$
#���������- �� ������� � �������� ω, ω > 0 %J(x, t) = J(x) exp(−iωt), A = A(x) exp(−iωt) .
���� ������ �# '0) ��
 ����������� ��������� ��������� ������� �����$
�� ������� �� ���
���������

A = k−1678A− ik−1 J, k = ω/c. '0K)

A��� �#
�- ����������$ '0K)� � ������ ��������� '>) �������� ��� ��������
 ��������� ����
�������
�� ��������$ J��-����-�� '��� ���!� ������� �# ������� <) 5��$�� �������� ���
����� �����$
�




5 #�������� ������� ��������� ��������� 0I

�� � � �� � �� �������  �������! "

#  ���������!��  �������'

ΔA+ k2A = −ik J − i rot J + c gradρ,

�) ���� J ∈ D′
3(R

3) � supp J(x) �$����,��) �� ����������� � ����

4πA = ik
eikR

R
∗ J + i rot

(
eikR

R
∗ J
)
− c grad

(
eikR

R
∗ ρ
)
, ρ = −iω−1div J.

.�� ������� ����������� � ������ ������&)  ���������!'(�-  �����!� �+� ,���! 1������

���0�� �� *������,����� [3]�

3���- D′
3(R

3) = ���������� ������������ �	�	
����� �������2������ �� D3(R3) 

�� ��
�������� ������� ����- (����� �� #������ �� ������� L���� ��������� 'E)
����	��#����
 � ��������� ��������%

ΔA = −i rotJ + c gradρ, '00)

������� �������� ����� ��� �-$���������� ���������� � ������� ����� ����#������
 ������
$
�


�� � � �� � !� %��� J ∈ D′
3(R

3) � supp J(x) �$����,��) �� ������� "

#) �����!(���! �

� �' �� *������,�����) ����������� � ����������� � ���� �������

A = −c grad
(

1
4πR

∗ ρ
)

+ i rot
(

1
4πR

∗ J
)
. '0<)

A��� ������ ����
���� � ��������� ���������� �����
% c−1A = gradΦ + i rotΨ, divΨ = 0,
��� ��������

 �� ����!���
 � '0) � '<)� � ������ ��������� '>) ������� ���!� ��������

��������

ΔΦ = ρ, ΔΨ = −c−1J, '0@)

������ ������� ������������� ����������� ������������� ���
 ����# �-$��������� ���������
��

Φ = − 1
4πR

∗ ρ, Ψ =
1

4πcR
∗ J, '0B)

��� ���!� ������� � �# '00) 
" � � � � � � � &��������� ���� � ����� ���
�$
���
 ������ ��� X3 � �����
���� �����

��� �������-$ ω

J = ρ(x) [	 × x] , 	 = (0, 0,ω); ρ(x) = 0, ‖x‖ > a.

L���� ���������� ���
 ���$� ���

Φ = − 1
4π

∫
‖y‖<a

ρ(y)
‖x− y‖dV (y), Ψ = − ω

4π

∫
‖y‖<a

ρ(y)
‖x− y‖

⎛
⎝ −y2

y1

0

⎞
⎠ dV (y).

A��� ��������- ����� = ���������% ρ = ρ0� �� ��������� ��!�� ��������- ������������ 
4��������

Φ = −ρ0

2

∫
R′<a

R′2dR′
π∫

0

sinϑdϑ√
R2 +R′2 − 2RR′ cosϑ

=
ρ0

2R

∫
R′<a

R′dR′
R′∫

−R′

d
√
R2 +R′2 − 2Rz =



<K ? � ���������

=
ρ0

2R

∫
R′<a

R′ (∣∣R−R′∣∣−R−R′) dR′ = −
{

ρ0a
3/3R, R ≥ a

0, 5ρ0(a2 −R2/3), R ≤ a
.

5��$�� ������� �#������� ��#��-��� /<1� ��� ��� ���� ���������-��
 ����- ���
 ��������� �

����� ��������� #��
�� ρ = ρδ(x)� ������� #��
�� ���� ρSa = 4πa3ρ0

3 � ���������������� � �����
x = 0 5�� ����� �����$
�� ���

grad Φ =
{
ρ0x
3
, R ≤ a;

ρ0a3

3R2

x
R
, R ≥ a

}

� ��������-�� �� ����������� ����� � ��� ��� �	����� ��� 1/R2 
���������� ������� ��������� ���������

Ψ2 = − ρ0

4πR

∫
R′<a

R′3dR′
π∫

0

sinϑdϑ

2π∫
0

√
x2

1 + x2
2 sinϑ cosϕ+ x1 cosϑ√

R2 +R′2 − 2RR′ cosϑ
dϕ =

= −ρ0x1

4πR

∫
R′<a

R′dR′
R′∫

−R′

z√
R2 +R′2 − 2Rz

dz =
ρ0x1

2πR

a∫
0

{
2r4

3R2 , r ≤ R
2
3rR, r ≥ R

}
dr =

=
ρ0a

3x1

3πR

{
a2/4R2, R ≥ a
aR− 3R2/4, R ≤ a

}
.

L��!� �������
���


Ψ1 = −ρ0ωx2

3πR

{
a4

4R2
, R ≥ a;

{
R(a− 3

4
R), R ≤ a

}}
.

,���� ������� ����������-��$ �������
$
�$ �����


{i rot Ψ}k =
iρ0ω

3π
ekmjejl3∂m

{
xl

R

{
a4

4R2
, R ≥ a; R

(
a − 3

4
R
)
, R ≤ a

}}
⇒

i rotΨ = − i ρ0ω

3π

⎧⎨
⎩

a4

R3

(
3x1x3
4R2 ,

3x2x3
4R2 ,

1
2 − 3r2

4R2

)
, R ≥ a(

3x1x3
4R , 3x2x3

4R , 2a− 3
2R
(
1 + r2

2R2

))
, R ≤ a

,

��� r =
√
x2

1 + x2
2 3���- � ����������-��� ��������� 'x3 = 0) � �� ��� ���
���
 M3 rotΨ

���������� M3

i rot Ψ(x1, x2, 0) = − iρ0ω

3π

⎧⎨
⎩

a4

R3

(
0, 0, 1

2 − 3r2

4R2

)
, R ≥ a(

0, 0, 2a− 3
2R
(
1 + r2

2R2

))
, R ≤ a

;

i rot Ψ(0, 0, x3) = − iρ0ω

3π

{
a4

x2
3
(0, 0, 5) , R ≥ a(

0, 0, 2a− 3
2 |x3|

)
, R ≤ a

.

3������� ��� ��� ����������� ��� � ���� A ���������� ��� �$	�� x� � ��� ����� � ���
R = a 

!� ���#	���� ��������$ %�& � .�������� ��������� '0) ��#������� 5�� �����!�� ���
���#������� �������2������ A � J  A��� J �#������� �� ��������
 ���������� ��
 ���������

������� L���� 2������ '<) ���!�� ��
 ����������
 #��
�� �� ���������� A �����	���
#������- '0) 



5 #�������� ������� ��������� ��������� <0

.������ ���������� ��������� '0@) 3������� ��� ������ ��������� � '0@) ����������� ��

�$	��� +�����
� � � 
��
���
 ���������� '<) ,���������-��
 ����- ����� ��������
 ������
���� ����������� ���� �������������� #��
��� � �����
 �� ���� ��������� � ���������� ��

���������� �-$���������� ��������������� ���
� ��������- ����� �������� ������������-�
�� ��������� ����� ���������� #��
�� 3���� ���������
 #��
�� �� ���� ���!� ��������� �
#������ ���������
 ����� 5��$�� ����������� ��#������
' � � � � � � � � ��������� #��
� = ��� �������������
 ����� '� �������-$ �� ����������

��#������� �����!����
 κ)% ρg = κ
√
ερH  ��������� ���� = ��� ���������� ���!���
 ����

����� ��� �������� ���� '�� �������� � �������������� ������)% ρgV = κ
√
εjH � ��� V =

�������- ���!���
 �������������� ����� 
5����
�- �� ��� ������#�� #������ ������� ��������� ��������� ,�
 ����� ����������

����� ���������

κ
dJ

dt
= −iρ cA+A× J. '0C)

3���- ����� ����� �����
 ����#�����
 ���� J �� ������� � ����� x

dJ

dt
=
∂J

∂t
+

3∑
k=1

Vk
∂J

∂xk
.

5��$��� �����

 �����$ � ����������-��$ ������ ������� ��� ��������
 ��
 �������� �
������������� �����

κ
√
ε
djH

dt
= ρEE + ρHH + jE ×B − jH ×D, '0D)

κ
√
μ
djE

dt
=
(
ρEB − ρHD

)
+ c−1

(
E × jE +H × jH

)
. '0E)

3���- ����# D � B �	�#������ ������������� ���
���� � ��������
 �������
% D = εE, B =
μH  

A��� ������������- ��������� �������������� � �������� ����� '��� �	
�����
��)� ��
��������� '0C) �� ���� ��������� �� ������ #������ 4-$���� +�� � �����!��� ����� ��

��� �������
 ,���������-��� #���- � ����� ����� ����� ����#�����
 �� ��������� ����������
���!���
� � � ������ ����� ��������
 ������������-�� ���
� ����������
 ���� ����
!���

#��
��� 'ρEE)� �-$��������
 ���� ����
!���
 ���� 'ρHH)� ��������� ���� 'jE ×B)� ��������
$
�
 �� ���!�
���
 #��
�� � ��������� ���� � �������

 ����
 ���� '−jH ×D)� ������

��������� �������� �������������� ���
 �� ���!�
���
 ����� 4�#���� ��� ���� 2�������

�������& 
.����� ��������� '0E) = ����� 5�� ��������� #���� �#������
 ������������� ����� ���

��������� �����
 . ����� 2���� �� ���#������ �� �������� ��!�����
 � �������������-���
��������� ��� � ���� ��������
 2�������������! ���� +�� ��� ��������
 ��������� � ������
��� ���� ��������� ��������� '����������-��
 � �����
 ����� '0)) ��$� #�������$ �������
��������� ��
 ����������
 ����� � ����
!�������� +�����
 

( � � � ) � � � � � � � 3�+���� K 4��������0'42������������,����& "��� ����������

��,����&# 2���$�� 5����!

K = 0, 5κ (J, J∗) = 0, 5κ
(
μ
∥∥jE

∥∥2
+ ε

∥∥jH
∥∥2
)
. '0>)

3������� ��� ��� ���$���� ��������- ������� ������������� ����� '�!������ �����) ��
�������� ����
��� ������#�� ��������- ������������ ������� .����� ������� ��#����
 ����
������� ���������� ������ �# ���� ���	��!���� 

4�#����� ��������- � ����������� ���$���� � ������� �#�#� ��#��������� � � ��#�������-
���� �������� �� ��������� � ��#�������-$ ��������� ������� '�!N�3)� ������-�� ���
�� �
��������� �������� ���� � ��� ����
� �������� ���������� #��
��� 



<< ? � ���������

,�
 K �����������

�� � � �� � *� "+���� ��-������! 2������������,����& 2���$��#

dK

dt
= Im(ρcA, J∗) + Re(A× J, J∗). '0I)

��	 � � � � � � � 
 � � � � A��� ��������� '0C) ����!��- ����
��� �� 0, 5J∗ � ���!��- � ���
���������������
!������ �� ������� 2������ ������� 

*�+�������, %-./&����,� H���� #�������
 ������� ��������� ��
 '(�")����
 ��!��
	��- ������������ � ���� ���� ��������� '��� ��������� � ���� ����
����)

−c−1∂tA = i 678A+ J, '<K)

κ
dJ

dt
= A× J − iρ cA, '<0)

ρ = c−19:;A, '<<)

������� ��
#���$� ��� �#������� ���
% �������������� ��������� � �������������� � ���!��
���� ���� � ������������� #��
��� A��� ������� ��� �������� ���� ��������
�� ���������
���� ���- ���
������ ����������-��� ����� H����
� � �������������� ���� = ��� ���������-�
��� ����� *���������-��� ����� ����� ���% ������������� � $������$������ 

&�����
 ���� ������� ��������� ����������
$� �����$
�� #������ ���������
 /01

∂tρ+ 9:; J = 0, '<@)

∂tW + 9:;P = −Re(J,A∗), '<B)

dK

dt
= Im(ρcA, J∗) + Re(A) × J, J∗). '<C)

3������� ��� ������� ��������� '<K)O'<<) ���������� ���������� �� ������� 
��
���
 ������
����-��� #������ 3���- � �������� �� ��������� ����������
" � � � � � � � ����- ������������� #��
��� � �������������� ����� ��� 'ρE = K, JE = 0) 

L���� �# '<K)O'<<) ����� ������� ��������� ��
 �������
 ���!���
 ����%

−ε ∂tE + 678H = 0, μ ∂tH + 678E = jH ,

κ
√
ε
djH

dt
= ρHH − jH ×D, '<D)

ρHD = c−2H × jH ,
√
ε ρH = −c−1√μ 9:;H, 9:;E = 0. '<E)

P�� ������ � ���� ������ ���!�
�
�
 ����� ����!���� �� ���-�� �������������� H������ ��
� ����������-��� ������������� E������ ������� ���
�� �� �� ���!���� ��� ���� �# '<K)O'<@)
�������

∂tW + 9:;P = (j�, H), ∂tρ
H + 9:; jH = 0,

dK

dt
= (ρHH, JH). '<>)

A��� ������� ������������� ��� �������� ���� #������� 9:;P = 0, 9:;ρgV = 0, � � �����
������� ��!�� ����������- ���-�� ��� ����������-��� �������� ����� .����� ��������� P
��!� �������� L����

678H = 0, 678E = jH . '<I)

*���������-��� 4����� ����� ���������-���� ��������������� ���������� ���
 ��� 5������
��� ���� �������� ������������� ���� ������� �� ���
 � #������ �� �������$
�� ��������
����� 



5 #�������� ������� ��������� ��������� <@

H# '<E) �����$� ������
 ���������-�����

(E, jH) = 0, (E,H) = 0.

* ������ ����������
 ������ ����#������ � �������������� ������ � ���� ������ ����������
��
 ����- ����#������ K �� ������� ����������
�� ��������$

3∑
j=i

∂K

∂xj
Vj = (ρHH, JH). '@K)

.������ ��
���������
 ������
 ��������� '<K)O'<<) � �� ���������
 ��
 ���� �������� #���-
���� �� �����������$��
 

0� 1�������
��� ����- < f > ��#�������- f  . ���� 'C) ��#�������- �������� �����

A ����� ��#�������� ��������� ������� +�����
� ������� A����� 
��
���
 ��������������%
< (A,A∗) >=�!/�3 

5	�#����� ��#�������- A ����# α =< A > H# 2����� '<)�'D) ������� ��#�������� �����-�
��� �������% < P >= α·�NQ� < J >= α/�� < ρ >= α·QN�2� < k >= α·Q� K = α3QN�2 '�� �����-
�R��� �� �������-$ +������ c) 

��	�2������ �������������
 �������������
 �����- (A, J)����
 '<K)O'<<)� ��� ����#��
��� ���$���� � ��	
 ������� ��������� ��������� � ��������
 4-$���� ��
 ���!�
���

#��
!����� ���� 5�� ��#���
�� ������ ���
��� ��������������� ���
� ��� ���
� ���������-�
��
 ����- �������� 
��
���
 ������������ � ����������-��
 = �������#��� . ������ ������
��!�� ������#�� ��� �����
����� ��������� #��
� = ��� ������ ������
 �������
���
 ������
������� ��������������� ���
 *�������������� ��������� ���� = ��� ���!�
���
 ����� ���
�������� ���� 

.����� ��������� �-$���������� ���� '0C) #������� ������� ��������� ���������-�� A�
���
 � J����� 5�� �����!�� � ��	� ���!� #���� �#������
 ������������� ����� ��� ��������
�� �������������� � ��������������� ����� . ����� 2���� ���� #����� �������� ��!�����
 �
�������������-��� ��������� ��� � ���� ������#� � ��������� #��
�� 3���- ��� ������#� ����
�
�� �� ������ ���������
 ��22��������-��� ��������� ��
 ����������� ���������������
���
 ���� � ���
 �������������� ��������� #��
��� * ����� ����� #����
� �������������

�����- ��������������� ������������������������ �����
 ��������������� � ��!�� ��������
�����-�
 ��� ���� �# �������������� ������� ������ ������ ���
 

������������ ����������

�� ��������� �	�	 (( ���	����)	�
�* +�,���� ����� -� �� .�� /� �� 0 ���

�� 
���
�� �	� ������ �	� ����� �	 1	*����23�
�	 �	
4�� 52 6�7�
	� 8�	
�,29�����
��

��� �:;;� -� ;� <�� ��

<� �����
���� �	�	 =,�3�	��> ���	����)	�
2* 6�7�
�� ��� �:��� ��� ��

6��� ���� � �������' 7�	���		�$�
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���	 �������� ����
������� ������� 
����*�� ������*���� ������� ������ ������� �
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� ������� ������ � ������*���� ������� 04� 8� 92!

:���
����� ������ �
������	 ,;;/� �������7�� � ��*�� �
���	 <�����������7��� ������
*������� �
�������� � 08� 92! - 
����� 0=� 1)2 �
������� ����� ����
����	 ������
� �
���� 
��������*���� ������� �����
������7�� �
������� ������� �
������	� �
����	
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��
����
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>����	
�	 
����� ����	
��� ����
����� ������� �
������	 �� ������ ��� ��� ������ ��
�� � �����7�������� ����	
������������������ �������!

:
���������	 ������ ����
����	 �������7�� � ������
�� ������ ;; 0?� 112� �� ��	������
� ���*����� ������*����� ��������� � ����	
�� ����
����� ;; � 
�6���� ����* ���������
*������ �
��
����
�����	 01@2301(2!

- 
����� 
������
������	 ����*� ����
����	 ������� �
������	 �
��������7�� � ������
������ � ������� 
����
����� ��������
�� �������� � �������������� ���������� ������
��� �����
������7�� �
������� � ����������
�� �
�������� 01?2{

ẋ(t) = Ax(t) +Ahx(t− h), t ≥ t0,
x(t0 + υ) = ϕ(υ), −h ≤ υ ≤ 0,

,1/
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A ����
����� ������� �
������	 ��	 ��������� ��������
���� ������� � ������������� @(

��� t ∈ [t0,∞) ≡ J(t0)� x(t) ∈ Rn B �����
 �����	��� �������� x(t − h) ∈ Rn B �����

�����	��� �������� ����������
�� �� �
��	 h� h = const > 0 B ����*��� �����������	�
ϕ(υ) ∈ C([−h, 0], Rn) B ���
�
����	� ��
���*����	 ��*��7��	 �����
��	 ������	� C(·) B
�
���
������ ���
�
���� ������� ϕ(υ) �� ��
���� [−h, 0] � ��
��� ‖ϕ(υ)‖h = max ‖ϕ(υ)‖
�
� −h ≤ υ ≤ 0, ‖ϕ(υ)‖ B ��������� ��
�� �����
� ϕ(υ)� ‖ϕ(υ)‖ < ν(t0), ν ∈ [t0 − h, t0] B
������
�� *����C A, Ah ∈ Rn×n B �����	���� ���
���!

>����	
�	 
����� ����	
��� ����
����� �������� ������� �
������	 ��	 ��������
����
������� � ������������� �� ������ ��������� ������ �
������	 � �����
��� �������� �	�
������ � �����7�������� �
	���� ������ �	������� ����	
������������������ ������� �
������ ����������� �
��
����
�����	 ,>�:/ 01@2301(2!

'� �( )��*(# � !"( ���+ !�!"�,- !(#�����+
�.+ !"#)� �#(� /  01�$"# ! %#�#%�-�#���,

:
���������� *�� ������� ,1/ ����� ���7 �
���������� � ���� ”m” ��������	����� ����
������ ����⎧⎪⎪⎨

⎪⎪⎩
ẋi(t) = Aixi(t) +Ahixi(t− h) +

m∑
j=1,j �=i

Aijxj(t) +
m∑

j=1,j �=i

Ahijxj(t− h), t ≥ t0,

xi(t0 + υ) = ϕi(υ), −h ≤ υ ≤ 0, i = 1,m,

,@/

��� xi(t) ∈ Rni B �����
 �����	��� i��� ����������� xi(t − h) ∈ Rni B �����
 �����	��� i���
����������� ����������
�� �� �
��	 h� xj(t) ∈ Rnj B �����
 �����	��� j��� �����������
xj(t−h) ∈ Rnj B �����
 �����	��� j��� ����������� ����������
�� �� �
��	 h� h = const > 0
B ����*��� �����������	� ϕi(υ) ∈ C([−h, 0], Rni) B ���
�
����	� ��
���*����	 ��*��7��	
�����
��	 ������	� C(·) B �
���
������ ���
�
���� ������� ϕi(υ) �� ��
���� [−h, 0] �
��
��� ‖ϕi(υ)‖h = max ‖ϕi(υ)‖ �
� −h ≤ υ ≤ 0, ‖ϕi(υ)‖ B ��������� ��
�� �����
� ϕi(υ)�
Ai, Ahi ∈ Rni×ni , Aij , Ahij ∈ Rni×nj B �����	���� ����� ���
�� A � Ah� ������������
��

�������� ������� ,1/ �� ����������!

:���7 ��������*����	 �����7 �����
������� ���������� ����� ������
�� ���{
ẋi(t) = Aixi(t) +Ahixi(t− h), t ≥ t0,

xi(t0 + υ) = ϕi(υ), −h ≤ υ ≤ 0, i = 1,m.
,4/

:
���������� *�� ��	 ������ �� ��������� ,4/ ����
���� ������	 �	������

Vi(t, xi) = xT
i (t)Hixi(t), Hi = HT

i > 0, i = 1,m, ,5/

����
�	 	��	���	 i��� ����������� -.��������� ,1/� �!�!

V (x) = (V1(x1), . . . , Vm(xm)). ,(/

D�	 ����������� ������� ,1/ � -.� ,(/ ���� ����� ����
���7 ������� �
������	 ����

ẏ = g(y), y(t0) = y0 ,?/

� y ∈ Hc ⊆ Rm ������ *�� ���
�
����	 ������	 g : Hc → Rm ���������
	�� ������� -�����
����� (gi(y) ≤ gi(z)) �
� y ≤ z � yi = zi, i = 1,m � ����� �������

∀x ∈ H, V̇ (x) ≤ g(V (x)), ,8/

��� V̇ (x) = (V̇1(x1), . . . , V̇m(xm))� H = Rn� V̇i(x) = (gradVi(xi)T [Aixi(t) + Ahixi(t − h) +
m∑

j=1,j �=i

Aijxj(t) +
m∑

j=1,j �=i

Ahijxj(t− h)], i = 1,m.



@? E! F! G	������ H! >! :�
����

>��
�
����� ������� g(y) ����� �����7 � ����

g(y) = Py, ,9/

�!�! ���� ����� ����
���7 �������� ������� �
������	 ����

ẏ = Py, ,=/

��� P ∈ Rm×m B �����	���	 ���������	 ���
��� � pij ≥ 0 �
� i �= j � *�� ������*�����
���������� ������� -��������� � Hc = Rn!

>� ������� ,9/ ���
�����	���	 � ������
�� ��
����
�*����� ������ ���
�
���� �����
��� {g(p, y)}, ���������
	�
� �������� �
�������	�� �� ������	 ������*���	 �����*6� 
����������� ���*������ �������� � ;;!

- ��*����� �
���
�	 ����
� ������� g(y) �� ��������� ��
����
�*������ ������ ���
��

���� �������� �� �����	
��� �� ���*������ ��������� ���7��� ������� �� p �� ������
���
���
�
������ �� ������ �
������� ����������� J �� ���	��� g(p, V (x)) − V̇ (x) ��
��������
,8/! >�
�������� ,8/ � 
������
������� ���*�� �
���� ���

δi(xi, pi) =
m∑

j=1,j �=i

pijVj −Ri(xi), i = 1,m, ,1)/

��� pi = (pi1, . . . , pim) B i��	 ��
��� ���
��� P � Ri(xi) B ����	
�����������������	 ������	�
	��	�
�	�	 �������� �
��������� ������� �	������ ��	 �����
������7�� �
������� �
������	�
���	 �
�������� 0182

Ri(x) = sup{V̇i(xthi)|xthi ∈ μV i(xi, t)}, i = 1,m. ,11/

.�����	 Ri(xi) ��
����	���	 ������76�� ���*����� ����������� V̇i(xthi, t) i = 1,m ��
��
���*����� ��������� �����
��7�� �
��� 0182

μV i(xi, t) = {xthi|Vi(υ, xi(υ)) ≤ Vi(t, xi), t− h ≤ υ ≤ t, xi(t) = xi}, ,1@/

����7 ����
� ������	 Vi(xi) �������!
:���
����� ;; ,=/ �������	 � ������
�� ”m” ����*�� ��������*������ �
��
����
����

��	

min
pi∈�i

Ji[gi(pi, Vi(x)) −Ri(x)], ,14/

��� �i = {pi ∈ 
i ⊂ Rli : gi ∈ Wy(Hc) ∧ (∀x ∈ H, gi(pi, Vi(x)) − Ri(x)) ≥ 0}� 
i B ������� �
Rli ; l =

∑m
i=1 li! - ���� ,1/ � ����
� V (x), g(p, V ), Ji,�i ����*� ����������� �
��
����
�����	

,14/ ����� 
�6����!

>����� �
��������� ������� Vi(xi)! - ���� ,@/ ��� ����� ������
�� ���

V̇i(xthi, t) = xT
i (t)(AT

i Hi +HiAi)xi(t) +
∑m

j=1,j �=i(x
T
i (t)HiAijxj(t)+

+xT
j (t)AT

ijHixi(t)) +
∑m

j=1,j �=i(x
T
i (t)HiAhijxj(t− h)+

+xT
j (t− h)AT

hijHixi(t)) + 2xT
i (t)HiAhixi(t− h), i = 1,m.

,15/

;���	
�����������������	 ������	 Ri(xi)� i = 1,m ����� ����7 ���

Ri(xi) = sup{xT
i (t)(AT

i Hi +HiAi)xi(t) +
∑m

j=1,j �=i(x
T
i (t)HiAijxj(t)+

+xT
j (t)AT

ijHixi(t)) +
∑m

j=1,j �=i(x
T
i (t)HiAhijxj(t− h) + xT

j (t− h)AT
hijHixi(t))+

+2xT
i (t)HiAhixi(t− h) |xthi ∈ μV i(xi, t)}, i = 1,m.

,1(/
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����� ������� �
������	 ��	 ��������� ��������
���� ������� � ������������� @8

I����� � ��
������ ,1(/ ���������� ����
��
�� �����
� �����	��� � ����������
��
�
�������� xj(t− h), xi(t− h)� � ������������ � ,1@/ � ��
���������� 01?2

2xT
i (t)HiAhixi(t− h) ≤ xT

i (t)H2
i xi(t) + xT

i (t− h)AhiA
T
hixi(t− h) ≤

≤ xT
i (t)H2

i xi(t) + xT
i (t)AhiA

T
hixi(t),

2xT
i (t)HiAhijxj(t− h) ≤ xT

i (t)H2
i xi(t) + xT

j (t− h)AhijA
T
hijxj(t− h) ≤

≤ xT
i (t)H2

i xi(t) + xT
j (t)AhijA

T
hijxj(t),

2xT
j (t− h)AT

hijHixi(t) ≤ xT
i (t)H2

i xi(t) + xT
j (t− h)AT

hijAhijxj(t− h) ≤
≤ xT

i (t)H2
i xi(t) + xT

j (t)AT
hijAhijxj(t), i = 1,m.

,1?/

; �*���� ,1?/ ��
������ ��	 ������� Ri(xi) �
���� ������
�� ���

Ri(xi) = xT
i (t)(AT

i Hi +HiAi +AhiA
T
hi +H2

i )xi(t)+

+
∑m

j=1,j �=i x
T
i (t)HiAijxj(t) +

∑m
j=1,j �=i x

T
j (t)AT

ijHixi(t)+

+1
2

∑m
j=1,j �=i x

T
j (t)AhijA

T
hijxj(t) + 1

2

∑m
j=1,j �=i x

T
j (t)AT

hijAhijxj(t), i = 1,m.

,18/

- ��
������ ,18/ ������ ������
�� ������*���	

Ãi = Ai + 0.5qiIni , i = 1,m, ,19/

��� Ini B �����*��	 ���
��� 
����
����� (ni ×ni)� qi = const ����
����	 �� ������	 ��
�����
����� ���
��� Ãi

Qi = ÃT
i Hi +HiÃi +AhiA

T
hi + 2H2

i − qiHi,

T̆ij = HiAij , Ťij = 1
2AhijA

T
hij , i = 1,m.

,1=/

F����

Ri(xi) = xT
i (t)Qixi(t) +

∑m
j=1,j �=i(x

T
i (t)T̆ijxj(t) + xT

j (t)T̆ T
ijxi(t))+

+
∑m

j=1,j �=i(x
T
j (t)(Ťij + Ť T

ij )xj(t), i = 1,m.
,@)/

-�*����� ���	���

δi(xi, pi) =
∑m

j=1,j �=i pijVj −Ri(x) = xT
i (t)Di(pi)xi(t), i = 1,m, ,@1/

����� Di
kj(pi) ������
�*����� ���
��� Di(pi) ��
����	���	 ���

Di
kj =

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎩

δkj(pikHk −Qk), ���� i = k = j,

−δik(T̆kj), ���� i = k,

−δik(T̆ T
jk), ���� i = j, k, j = 1,m,

−δkj(pikHk − (Ťij + Ťij
T ), ���� k = j �= i,

0, ���� k �= j �= i,

,@@/

��� δsr B ������ A
�����
�!
I������� *�� ��
��������∑m

j=1,j �=i pijVj −Ri(x) ≥ 0, i = 1,m, ,@4/

����� ���������� ���� ��
�������� �������

δi(xi, pi) ≥ 0, ∀xi(t, ϕi(υ)) �= 0, i = 1,m. ,@5/



@9 E! F! G	������ H! >! :�
����

F���� ��
����� ����*� ����
����	 ;; ,=/ �������	 � m ����*�� >�: 01@� 1(2 ����

min
pi∈Wi

Λ[Di(pi)], i = 1,m, ,@(/

��� Wi = {pi ∈ Ωi : λ[Di(pi)] ≥ 0,Ωi = {pi = (pi1, . . . , pim) : 0 ≤ pij ≤ ρ, �
�j �= i � | pii |≤ ρ}�
ρ B �������*�� ���76�� ���������7��� *����� λ[Di(pi)] B �������7��� ����������� ���*��
��� ��*�� ����
���*�� ��
� ,@1/� Λ[Di(pi)] B ��������7��� ����������� ���*���� ��*��
����
���*�� ��
� ,@1/! - 
����7���� 
�6���	 ����� i��� ����*� >�: ,@(/ ����� ��
�������
���� ��
��� pi = (pi1, . . . , pim) ���
��� P ! +��
��� P ����� ���7 ����*��� ����� ����������
���7���� 
�6���	 m ����* ,@(/! D�	 *��������� 
�6���	 ����* >�: �����7�����	 ����
���
���
�*��������
���� ������ 01(2! >�*��7��� �
��������� �����
� pi ����
����	 ���*�����
��
����! E��� �������	� *�� pi ∈Wi� �� ������ �����
 ��
���	 �� ��*��7��� �
���������! -
�
������� ���*�� ��
��
����	 ����� ���*����� �����
 pi!

��6���� ����*� ,@(/ ����� ����� �
� �������� *�� ��������� Wi� i = 1,m �� �����!
+�������� Wi� i = 1,m �� ������ ���� Vi(xi)� i = 1,m ���������
	�� ������� 042

ci1‖xi‖2 ≤ Vi(xi) ≤ ci2‖xi‖2,

Ri(xi) ≤ −ci3‖xi‖2,

‖gradVi(xi)‖ ≤ ci4‖xi‖, i = 1,m,

,@?/

��� cij ≥ 0� j = 1, 4� ‖xi‖2 = xT
i xi.

J�����	 �� ������� ,@?/ ��
�������� ������ �����7������ ����� -.�� ��<���� �����
������ ����� ������ ��
���*���	 �� -.� 0?2!

K����7��	 ������

λi min‖xi‖2 ≤ Vi(xi) ≤ λi max‖xi‖2,

Ri(xi) ≤ νi‖xi‖2,

xT
j (t)HiAhijA

T
hijHixi(t) + xT

i (t)HiAijxj(t)+

+xT
j (t)AT

ijHixi(t) ≤ μij(‖xi)‖2 + ‖xj)‖2), i �= j,

,@8/

��� λi min B �������7��� ����������� ���*���� ���
��� HiC λi max� νi� μij B ���������������
��������7��� ����������� ���*���	 ���
�� Hi� Ã

T
i Hi +HiÃi +AhiA

T
hi + 2H2

i − qiHi �(
0 T̆ij

T̆ij
T

Ťij + Ťij
T

)
,

���
����
��� ���
��� � ��
���������� ������� �
������	 ��	 ������� ,1/ � -.� � ������
������� � ���� ����
���*�� ��
�� ����
�	 �������	 � �������*��� ������	� �� �������
�������� Wi, i = 1,m!

�� � � � � � � ��� ������������� �������� ������� ��������� ���  �� ������� � !�"

#�! ������� �
� � $%&  ������'��( '��)�  �� �*)�+� i = 1,m ��#�������, �����������

a) νi ≤ 0 ��� (νi > 0 � λi min · λi max > 0),
b)  �� �*)�+� j = 1,m � i �= j μij ≤ 0 ��� (μij > 0�λi min > 0).

,@9/

:
���������	 �
�����
� ����
����	 ;; ,=/ ������� �� ������
� 6����L
M�� 1! D����������	 ����������� ������� ������� �� ����������!
M�� @! N������ -.�L V (x) = (V1(x1), ..., Vm(xm)).
M�� 4! :���
����� �������� Ωi� i = 1,m.
M�� 5! :���
����� �������� Wi� i = 1,m!



A ����
����� ������� �
������	 ��	 ��������� ��������
���� ������� � ������������� @=

M�� (! :
���
�� �� ������� �������� Wi� i = 1,m! E��� ��� �� ������ �� ��
� �� � 6��� ?!
M�� ?! ��6���� ����*� ����������� �
��
����
�����	 ,14/!
M�� 8! E��� ����*����� ���*���� pi ����� �� �
����� Ωi� �� �����*���� Ωi � ��
� �� � 6���
(� ���*� � 6��� 9!
M�� 9! .�
��
������� ������ � ����*� 
����7�����!

2� �(�,�(

�������
�� ������� � ������������� ,1/ ?��� ��
	���� �����	
�� �� ��� ��������� ,m =
= 2/� x1 ∈ R4, x2 ∈ R2� x = (xT

1 , x
T
2 )T ∈ R6� ����*��� �����������	 h = 1! +��
��� �� �����

������� A, Ah ∈ R6×6 � ����
���*�� ��
� ������� �	������ H1 ∈ R4×4� H2 ∈ R2×2 ��	
�����
������ ��������� �
������� ����L

A =

⎛
⎜⎜⎜⎜⎜⎜⎝

0 1 0 0 0 0
−13.362754 −0.9952 −0.0024587 −0.0002 −0.00011 0

0 0 0 1 0 0
0.004414 −0.00015 −11.734324 −0.086227 0 0.020492

0 0 0 0 0 1
−0.067062 −0.00697 0 −0.05519 −2.175124 −0.851766

⎞
⎟⎟⎟⎟⎟⎟⎠
,

Ah =

⎛
⎜⎜⎜⎜⎜⎜⎝

0 0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 0 0

0.00522 0.00645 1.52544 0.12564 2.25343 0.35472

⎞
⎟⎟⎟⎟⎟⎟⎠
,

H1 =

⎛
⎜⎜⎝

6.681377 0.02488 0 0
0.02488 0.5 0 0

0 0 5.867162 0.021569
0 0 0.021569 0.5

⎞
⎟⎟⎠ ,

H2 =
(

1.087562 0.2129415
0.2129415 0.5

)
.

N� ��*��7��� �
��������� ���
��� P ∈ R2×2 �
� ����
����� ������� �
������	 ,=/ ����
�
��	�� ������
�� ( −0.055 0.05

0.18 −0.55

)
.

D�	 ����
����	 ������� �
������	 ��� 
��
������ ����� �
������� �
��
��� � ������7�
��� �����
�
������� �
��� �
��
����
�����	 "#$%&' (!)! ; �����7�������� 
��
����������
������ �
������� �
��
��� ���� ����
���� ���
��� ������� �
������	

P =
( −1.294456 0.0005444

0.003582 −2.766418

)
.

:
� <��� Λ1(D1(p1) ����76����7 � 0.293878 �� 0.000656� Λ2(D2(p2) B � 1.204041 �� 0.025120�
� ����������� ���*���	 ���
��� P � −0.45678 � −0.048765 �� −2.7664 � −1.2945! I���������	
���
��� P �� �
���
�� min

p
max

i
λi(p) 01@2 ���� 
����7����  ���� *�� ����*��� � ������

���*��! :
� 
��������� <��� ����*� ���������� ����*��� �
�
�
���� <�������� ���*�����
��������� ���
��� � ���*������ ���������� �����
� ���� �
��	�� 
������ 0.0002C *����
�����*�� �
�� 
����� 100C ��*����7 ��*������	 ���������� ���*���� �
� ��������7���
������
�*����� ���
��� 
����� 10−6!
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#!	
��
�
� ��	�� ��
�
������ ����� �
���� � !�"� ���	A ��������� � 
���
���I�J

��	K ��	��� �����
! �	�	��
����� �9��!

:!	
��
�
� ��	�� ��
�
������ ���� L���	�J����E�� M����	�� � �B �	���	����! �	�	J

��
����� �9��!

G! # $�%�
� ��!� 11 ���	������� ���A�A����	K A�������E��! ��N��O� �9G?! "� �!

�! &
�' ��
�
 "�(�� # $�%�
� ��!� 11 C�N��� A	���A	� < ��N�B������	K 
�P��N	���	K

���I�	K �	������E�� �	 
���
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�B�����! Q! �! ����
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�
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��! #
'
�
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�"! 2
�$
�
� �� 3� ����
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X����
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! �!� �9��!

�G! 1
:-$�;�� &�!� Y��	KI��	��O U��A������B �����
! �!� �9��!
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� ��
 ��

������� ������� ���
��� ���� ���� ��� !"#$%&"'��(�

��)*+ ���,���-�
	�./� ��
 ��

�0��0�� ��)�1��2�� +��/	)���	��
�3 ���� ��� 455'6�&%("478�(47�(�

��� ��������	
����
� ��
�������
� �	�������	�����
� ��������� ��������� ��� ���	��

������ ����������� �	��� λ ��	������	� ������ 	� �������	� �������
� ������
�������
�������
�� ��������� ������� 	�	 �������
���� ������� 

�� �������	
� ����
� � ������������ !���� Ω⊂R
n " n������# ��$ � ��$���	 ��	��

2π. !���� P∞ " �	��#��� ���
��$���	� 
����	�� ���	��	����	� �� 
��� ���������� ����
�������� �����	#� � Hx " 
	��$����
� ����������
� ����	������ 
 �
������ �� Ω �����	#�

 ������� �������
� P∞ ������ !��	���� A(s) � ����������	 �����������	 ��%��	�	���
���	

A(s) =
∑
|β|≤β

aβs
β , sβ = sβ1

1 . . . sβn
n , |β| =

n∑
j=1

βj , β " �������� ����� �	���

�������
	� �	�������	������ ������	� A(−iD) ���	� �$������ ���

A(−iD)eis·x = A(s)eis·x, s · x =
n∑

j=1

sjxj .

&���
����
���	# �������� A : Hx → Hx �������	� ��� �������	� 
 Hx ������		 A(−iD),
�����������# ���
��������� �� �����	��� ��	��������	� P∞. '��	� ��������� A ����
���
Π�����������	 ()* !���� S = {s = (s1, . . . , sn)|sj = 0;±1,±2, . . . , j = 1, . . . , n}. '�
�� ��
�����
����� %�������� {eis·x}, s ∈ S �$������ ����
�������# $��	� 
 Hx 	 �
������ ����
�������
��$���� ��$��
����� %�������
 ��� �����
� 	� ���������
 A. + ����
����
���	# ��$�� �	�
��� {A(s)}, s ∈ S " ��$��
�����	 ������	��	 ��������� A. !���� H≡ L2(0, b;Hx).

,�������	
����� ������������ 
������ ��� ��
�������
� �	�������	�����
� ���������
L, �����������
� 
���	���# ������#

[Dt −A+N ]u(t) = f(t), t ∈ (0, b), μu(0) − u(b) = 0, -).

��������	 ������ ������	
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�� Dt =
∂

∂t
, N [u(t)] =

m∑
k=1

αku(tk), μ, αk ∈ C, k = 1, . . . ,m, f ∈H.
���	� ���$���	��� 
 ������#3�� ���������	� 

��� � � � � � � � � �� ������� u ∈ H ����� �������� �������� ������ �
 ! �"�� "�#�$

"����� %�"������������"�� &���'�( )��'*�+ ul(x, t), "(��,#�,", � H ' u, ��'�,! ��� ul 2π$
%��������� %� %��������� xj , ����������,-� �"����,� �� �
 %� t � L(D)ul = fl → f %�� l →
→ ∞ � H.

!���� T : H → H " ��������# �	��	��
����# ��������# �������� -
��$�� 
�
����
���
���	�����#. � �$������ ���������	� D(T ), ������# 
 H, E− �������
����# �������� 

��� � � � � � � � � �� .�'����� ���/�"��� ρT ⊂C ��������", ������������� ���/�$

"���� �%������� T, �"�� ��, �-��&� λ ∈ ρT �%������ (T − λE)−1 "�#�"�����! �&������� �

�%������� �� �"�� %��"����"��� H.
��� � � � � � � � � �� 0��'����� ���/�"��� σT = C\ρT ��������", "%�'���� �%�������

T.

��� � � � � � � � � �� 
��'� λ ∈ σT %�������/�� ��������� "%�'��� 4σT �%������� T,
�"�� �%������ (T − λE)−1 �� "�#�"������

��� � � � � � � � � �� 
��'� λ ∈ σT %�������/�� ��%��������� "%�'��� 5σT �%�������

T, �"�� �%������ (T−λE)−1 "�#�"�����! ���/�"��� D((T−λE)−1) %����� � H, �� �%������

(T − λE)−1 ���&��������

��� � � � � � � � � �� 
��'� λ ∈ σT %�������/�� �"��������� "%�'��� 6σT �%�������

T, �"�� �%������ (T − λE)−1 "�#�"�����! �� ���/�"��� D((T − λE)−1) �� %����� � H.

�� ����	��� ����������� !����� 
��
� �����	�� ��� ��������� Dt −A− λ+N = Dt −
− (A+ λ) +N, 
�� A+ λ− ���
� Π���������� ���������� 	���	�� �����# λ = 0.

7
���� �$�������	�� α =
m∑

k=1

αk,

8(s) ≡
[μ− exp{b ·A(s)}] · [A(s) − α] + [μ− 1]

m∑
k=1

αk exp{tkA(s)}
A(s)

, s ∈ S. -0.

� �� � 
 � � � � �� 1"�� s ��'��! ��� A(s) = 0, �� � �� 8(s) �%�����,��", "����-#��

%��������� "�����������

8(s) = lim
A(s)→0

[μ− exp{b ·A(s)}] · [A(s) − α] + [μ− 1]
m∑

k=1

αk exp{tkA(s)}
A(s)

=

= bα+ (μ− 1)[1 +
m∑

k=1

αktk].

&���
���	
� �������	� ����� 

����� �� 0 ∈ ρL ��&�� � ����'� ��&��! '�&�� ��%������ �"����, 8(s) �= 0 ∀s ∈ S.
� �� � 
 � �� � �� 1"�� ��&���'� � �
 ��"��"�����! �� �"�� αk = 0, k = 1, . . . ,m, ��

�"����� ����� "��%����� " �"����,�� μ− exp{b ·A(s)} �= 0 ∀s ∈ S, �� [1, "�119].



&����������� �
�#��
� ��
�������
� �	�������	�����
� ��������� //

����� �� 0 ∈ 4σL ��&�� � ����'� ��&��! '�&�� ��, '�'�&�$���� s0 ∈ S ��%���,��",

�"����� 8(s0) = 0, &�� 8(s) �%�������� � �� �

����� �� 0 ∈ 5σL ��&�� � ����'� ��&��! '�&�� "�#�"����� %�"������������"��

{sl}∞l=1 ⊂ S ��'�,! ��� |8(sl)| → 0 %�� l → ∞.

2� 
�3���������� ���� ������� ����
���	
���� ����
��
� ���������� 

 � � � � � �� 
��'� λ ∈ C %�������/�� ������ �� ���/�"�� ρL, 4σL, 5σL.

�� !�
���������	� ����� �� ������������
� ����� ) ����
��� �� 	�����		 ����
���
��
����# -). ������	 ������

[Dt −A(s) +N ]us(t) = fs, μus(0) − us(b) = 0, s ∈ S, -/.


�� us(t), fs(t) " ��
	���	� �� t ��%��	�	���� ��������	#

u =
∑
s∈S

us(t)9is·x, f =
∑
s∈S

fs(t)9is·x. -:.

2����������� �����
 ����� 	� ()� ; ))<*�

� � � � � � 0����� �
 ���������� ��������� %�� �-��� 2������� f ∈H ��&�� � ����'�

��&��! '�&�� �"� ������ *�%��'� �� ���������� ��������� � "�#�"����� ������",#�, �� s
%�"��,���, C > 0 ��'�,! ���

‖us‖L2(0,b) ≤ C‖fs‖L2(0,b) ��	 ��$�� s ∈ S.
=�#��� �������
���	� ��3��	# ����� -/. 2���
�	��� %�	 �����	� 	����

us(t) = us(0)9A(s)t +N [us(t)] · 1 − 9A(s)t

A(s)
+

t∫
0

9A(s)(t−τ)fs(τ)dτ, ���	 A(s) �= 0, ->.

us(t) = us(0) − t ·N [us(t)] +

t∫
0

fs(τ)dτ, ���	 A(s) = 0, -?.


�� N [us(t)] =
m∑

k=1

αkus(tk). @����� ��	 t = b ��������

[μ− 9A(s)b]us(0) +
1 − 9A(s)t

A(s)
·N [us(t)] =

b∫
0

9A(s)(b−τ)fs(τ)dτ ���	 A(s) �= 0, -A.

[μ− 1]us(0) + b ·N [us(t)] =

b∫
0

fs(τ)dτ, ���	 A(s) = 0. -<.

������ ��	��
�	
�� t 	 tk 
 ->.B-?.� ������� ��������� ����
����
���� �� αk 	 ����	���
���������� ������3��	� �� k �� 1 �� m, $���� 	���� ��	 A(s) �= 0

−
m∑

k=1

αk9A(s)tk · us(0) +

A(s) − α+
m∑

k=1

αk9A(s)tk

A(s)
·N [us(t)] =

m∑
k=1

αk

tk∫
0

9A(s)(tk−τ)fs(τ)dτ, -C.

��	 A(s) = 0 : −α · us(0) + [1 +
m∑

k=1

αktk] ·N [us(t)] =
m∑

k=1

αk

tk∫
0

fs(τ)dτ. -)D.
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@��������� ����
����
����� 	� �	���� ���
���	# -A.� -C. 	 -<.� -)D. ��	�
������ 
��	�	�� us(0)
	 N [us(t)], ��������� ��� ��3��	� ����� ������	 -/. 	���� �������
���	�

us(t) = [D(s)]−1
[
Δus(0)9

tA(s) + ΔNs [A(s)]−1(1 − 9tA(s)
]

+

t∫
0

9(t−τ)A(s)fs(τ)dτ, ���	 A(s) �= 0,

-)).

��

Δus(0) =

∥∥∥∥∥∥∥∥∥∥∥∥

b∫
0

9(b−τ)A(s)fs(τ)dτ [A(s)]−1[9bA(s) − 1]

m∑
k=1

αk

tk∫
0

9(tk−τ)A(s)fs(τ)dτ [A(s)]−1

[
A(s) − α+

m∑
k=1

αk9tkA(s)

]

∥∥∥∥∥∥∥∥∥∥∥∥
,

ΔNs =

∥∥∥∥∥∥∥∥∥∥∥∥

μ− 9bA(s)

b∫
0

9(b−τ)A(s)fs(τ)dτ

−
m∑

k=1

αk9tkA(s)
m∑

k=1

αk

tk∫
0

9(tk−τ)A(s)fs(τ)dτ

∥∥∥∥∥∥∥∥∥∥∥∥
,

	 D(s) ���������� ��
����� -0.E

us(t) = [8(s)]−1
[
Δus(0) − ΔNs · t

]
+

t∫
0

fs(τ)dτ, ���	 A(s) = 0, -)0.


��

Δus(0) =

∥∥∥∥∥∥∥∥∥∥∥∥

b∫
0

fs(τ)dτ b

m∑
k=1

αk

tk∫
0

fs(τ)dτ 1 +
m∑

k=1

αktk

∥∥∥∥∥∥∥∥∥∥∥∥
, ΔNs =

∥∥∥∥∥∥∥∥∥∥∥∥

μ− 1

b∫
0

fs(τ)dτ

−α
m∑

k=1

αk

tk∫
0

fs(τ)dτ

∥∥∥∥∥∥∥∥∥∥∥∥
,

	 D(s) ���������� 
 �������		 ) 
2� -)). 	 -)0. ����������
���� ������� ����������� �����3	����� �����# �����	 ������	

-/. 
@������� ������
	�� ���	����� �����	� ��
�������� �����	������ 	������ s.
!���� A(s) = 0. & ������ �������
���	� ��3��	� -)0. ����������
���� ������
�	
���

���$����� �����	 !���� ������ A(s) �= 0. 7 %��� ������� 
 �	�� ����
	� ����� ) 	 ����
	�
A(s) �= 0 ��������� ��� ������
��� ���������� δ1, δ2 ���	�� ��� |8(s)| ≥ δ1 > 0, |A(s)| ≥
≥ δ2 > 0 ∀s∈ {S|A(s) �= 0}. ������#3�� ������������
� ����� ) ���
��	��� �����
	��� �����
��� %�� ������� 
 (0� /� A� <* ��� ������������
� ������� �$ ����������# �	����# �����3	����	

���	���# �����	 -). F���� ) ��������� �������� 

�� !�
���������	� ����� �� ������	������ � ����
	� ����� 0 �����	�� ��� A(s0) �=
�G 0. '�
��� ���	 ��	 �������� s0 ∈ S : 8(s0) = 0, �� �����	�

[
9tA(s0)+ +

1 − 9tA(s0)

A(s0)

]
9is0·x

���� ����	
	������ ��3��	� ���������# �����	� ����
����
����# -).� ��� ��� μ = 9bA(s0) +

+
1 − 9bA(s0)

A(s0)

 �	�� 
���	���
� ����
	� 	� -). !���� ������ A(s0) = 0. '�
�� ����	
	������



&����������� �
�#��
� ��
�������
� �	�������	�����
� ��������� />

��3��	�� ���������# �����	� ����
����
����# -).� $���� �����	� (1− t)9is0·x. 7 %��� ������
	� 
���	���
� ����
	� -). $���� 	���� μ = 1 − b.

@$������ ��	 ������
�
��		 ����	
	�����
� ��3��	� ���������# �����	� ����
����
���
��# -).� ����3��	� ����
	� ����� 0 ��
������� H�� ����	
����	� ��
������	� ����� ) 

�� !�
���������	� ����� �� '�� ��� 0 /∈ 4σL, �� ���������� ��� �������� L−1 ���
����
��� 	 �$����� D(L−1) ������ 
 H -������	� ��
����� 
�� �������� ����� 
	�� -:.. 
������� ���
���	�������� ��������� L−1. &�
����� �����������	� ����� / ������
��� ���
�����
���������� {sl}∞l=1 ⊂ S ������ ���

εl = |8(sl)| → 0 ��	 l → ∞. -)/.

@$�����	�� Al = A(sl). 7 ������
� ���
�� �����# 
 ���
���		 -). 
������ �������
����������
�����	#

fl = exp (isl · x), ‖fl‖2
H = (2π)nb. -):.

!������� ��� ����� ��3��	# ul �����	 -). ��	 ���
�� ������ 
	�� -):. ���
���	����� ������
��	 l → ∞. 7	� ul 
 %��� ������ ������ �������#

ul = ul(t) exp (isl · x), ‖ul‖2
H = (2π)n‖ul(t)‖2

H1(0,b),


�� ul(t) 	���� ��������� �������
���	� -
 ���
���	�� -/. fsl(t) ≡ 1.

ul(t) = [8(sl)]−1

{
Δul(0)9

tAl + ΔNl

1 − 9tAl

Al

}
+

t∫
0

9(t−τ)Aldτ, -)>.


��

Δul(0) =

(
Al − α+

m∑
k=1

αk9tkAl

) b∫
0

9(b−τ)Aldτ −
(

9bAl − 1
) m∑

k=1

αk

tk∫
0

9(tk−τ)Aldτ

Al
,

ΔNl
= (μ− 9bAl)

m∑
k=1

αk

tk∫
0

9(tk−τ)Aldτ +

b∫
0

9(b−τ)Aldτ
m∑

k=1

αk9tkAl .

!��	�
��� 	���
�	��
��	� 	 	������� 	� ����������	� �����# Al = 0 -��� 
������� �� ����
��������� ���	 ���$���	��� � ����
����
����# ����������
���������	.� �����	�

ul(t) =
1
Al

(
μ− 1
8(sl)

9tAl − μ− 9bAl

8(sl)

)
. -)?.

I��	 μ = 1, �� ul(t) �� ��
	�	� �� t 	 ����
	� ����� ��
���	���� ������3��	� |Al −
− α| → 0 ��	 l → ∞ -
 ��������	� ��	 α = 0 	���� |Al| → 0 ��	 l → ∞.� ��� ��� ��	 μ = 1

ul(t) = − 1
Al − α

. '��	� �$������ 
 %��� ������ �� 	���� ���
���	�������� ��������� L−1.

I��	 μ �= 1, �� 
 ������� -)?. 
����� ���
����� −(μ− 9bAl)[Al8(sl)]−1 �
���	����� ��� ���
��� ���������� $���3	� l 	���� |Al − α| ≥ η > 0, 	 ��	 |Al| → ∞ �����	��� � ���� !�%�����

 -)?. ���������� ��������� ��� ���
���	����� ������ ����� �����	#

vl = 9tAl [8(sl)]−1A−1
l .

!����	� Al = rl + iql, 
�� rl, ql 
�����
���� 2����

‖vl‖2
H(0,b) =

92brl − 1

2rl

∣∣∣∣(μ− 9bAl)(Al − α) + (μ− 1)
m∑

k=1

αk9tkAl

∣∣∣∣
2 . -)A.
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I��	 μ = 0, �� ���
�� ����� -)A. �����	��� � 
��	�	�� 9−2tkrl , ������� 
 �
�� �������
�����	��� � +∞ ��	 rl → −∞. !�������� ����
����
��� ����
	� ����� 8(sl) → 0.

I��	 μ = ∞, �� 	� ����
	� ����� �������� ��� rl → +∞. @����� �������� ���
���	����
����� ���
�# ����	 -)A. 

I��	 μ �= 0, 1,∞, �� ��� ���������� $���3	� l 	���� 0 < η1 ≤ |Al −α| ≤ η2 <∞. !��������
|rl|−1|92brl − 1| ≥ β > 0 -��� ���������� $���3	� l |92brl − 1| ≥ δ1 > > 0, rl > +N), 
	�	�� ���
‖vl‖2

H(0,b) ������ 
����� � |8(sl)|−2. H�� ��
��3��� ������������
� ����� / 

� �� � 
 � �� � �� 3�� μ = 0, ∞ � %����������� �%������� A �������+ "%�'�� �%�������

L �� �"�&�� %�"� �� ������� �� "����,! '�&�� ��"��"����� ��&���'� [1, "�122; 2; 3] �

� �� � 
 � �� � �� ."�������+ "%�'�� �%������� L %�"�! '�' � � �%������� A, �� �"��

σL = 4σL, 5σL = σL \ 4σL. @��������� ��� %�� �
�#��
� ��������� L �� ��
	�	� �� ���	�	�
��
����	 

1������
� 4σL ��	��
����� ������	 λ ���
���	�{[
|μ|9i arg μ+2πli − 9b[A(s)+λ]

]
· [A(s) + λ− α] +

[
|μ|9i arg μ+2πli − 1

] m∑
k=1

αk9tk[A(s)+λ]

}
·

· [A(s) + λ]−1 = 0, s ∈ S, l = 0,±1,±2, . . .

"� �������� ,�������	� �
� ��	���� �� ��	�����	� ���������� ����������
 

)0. !���� A(s) = s2, μ = 1, α = 0. '�
�� ����
	� -0. ��	�	���� 
	� 8(s) = 1− exp bs2, ���	
s �= 0; 
 ��������	� 8(0) = 0. 2���� 	����

# � 	 � � $ � � � � � � � 3�"�� A(s) = s2, μ = 1, α = 0. 
�&�� 0∈4σL. 
������+ "%�'��

4σL �%������� L �%�"�����", ���/�"����4 λ = −s2 + i2π(b)−1l, l = 0,±1, ±2, . . .
00. !���� A(s) = s2, μ = 0, α = 0. '�
�� ����
	� -0. ��	�	���� 
	� 8(s) = − exp (bs2)−

−s−2
m∑

k=1

αk exp (s2tk), ���	 s �= 0; 
 ��������	� −8(0) = 1 +
m∑

k=1

αktk. '��	� �$������ ��������

# � 	 � � $ � � � � � � � 3�"�� A(s) = s2, μ = 0, α = 0, Bs = B(s, αk, tk) ≡
m∑

k=1

αks
−2·

· exp (−s2(b− tk)). 
�&�� 0 ∈ ρL, �"�� Bs �= −1 ∀s ∈ S; 0 ∈ 4σL, �"�� Bs = −1 (��, ��

��, ����&� s ∈ S. 5 2��� "����� �������+ "%�'�� 4σL �%�"�����", '���,�� ��������,4
m∑

k=1

αk
exp [−(b− tk)(s2 + λ)]

s2 + λ
= −1, s ∈ S.

��
�%
����� @����	�� ��� ��
�������� �	�������	������ ��������� 	�����	�� ����
�� 
 ��$���� (:BC* 7 ��$��� (?* ��������	
��	�� ������������ 
������ ��� ��
��������
�$����
����� �	�������	������ ���������
 
����
� ������� �� �
���	������ 	����
��� 

������������ ������� ��

�� ����� ���� �9:�	 /.;).�� �	.)�� 1)���<��= >�2�<� ��� �?���

�� �	
��
���� ���� @@ A�B54 "! C"'��D5E� ����� F� G0� H I� J� ��G� K �����

G� ��������� ���� @@ L�MM	)	�N� �)�/�	��3� ����� O� G0� H �� P� �� K ���

�� ������� ���� +)�/�	��3 ���	����<	�
.Q 9�.�.1��� C�� �??��
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I� �� �� !�"� @@ L�MM	)	�N� �)�/�	��3� �??�� R� �0� H �� S� �� K ?GT H ?� S� ���� K ��IG�



&����������� �
�#��
� ��
�������
� �	�������	�����
� ��������� /A

0� ��������� ����# $� ������ ��!� @@ O)� �	U2���).2�� 
.�M� V�IK�� .
�� ����� ������W�

������� ����� P� �� K ���

�� ��������� ����# $� ������ ��!� @@ ���	����<	�
�Q U�)���� ����� R� �� H �� S� �� K �?�

?� ��������� ����# $� ������ ��!� @@ O)� ��������� ���	����
� 
�
 -	��)��� V�	UX

2���).2��
.�M� YCYZ[X����� ��K�� M	/)� ����� ����
W� ����� R� ��� S� �� K �?�

3�"��%��� � ����'*�- 
6�	���		�&�



�����������	�
 ��
���� ������� �		�� 
�� �� � 
� �� �� � ��

��� ������

�� �������	
 ������
��
 � ��������	


�	������	
 ���������


�� �� �����	


��� ����� ��	


��

��� ���	��� ���� �� ���� ��

� ������ ����	���
�����
 
�������� 	�������� ���������� ���
��
	�� ��	����
� 

��������
�����
 ������ 
� ��
�	��
������ ��������
�

����	���
	 ��	������ S ��������� ���	������� ������������ �
�� N

S = {s | s⊆N}.

 �
 �� �����! ��	 �������� ��	������ 	���� �����
 ��� ��	����
� ��� ���������
� ν 
"
	�������� ����������� �
��� N �� ��� ��	������ S

ν : N → S

#����
 $�%�&������� '()! *�� ��	����
� ν ��"���	 K+���
��
	��! ���
 ����
��� ������+
�

 ”y ∈ ν(x)” 
��
���
 K+	��������	�  ���
	
 �����	
! 	�������� {< x, y > | y ∈ ν(x)}
��
������
� ������ K� ,���� ����" < x, y > ���"����� ��	�� ����
�������� ���� (x, y) �
-����������� ��	����

 ���� � �������� ������ K 	���� ����	���
�����
 ����� ����� 	��+
����� � �����+�
�� 
�����

 	��������
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����
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���� ���! ��� ������������� 
"������� ���
��
	���� ��	����� �����+
�
��� �����
��
	�� 	������� �����
������ ������ Σ0

1 � 
�����

 -�
�
+&���������� '.! /)�
0�� ������ "�����	���� � �
�� �������������
 ���
	��

 ���
��
	���
 ����" ������
����
�����
��
	����� % ������ � �������
� ���� ����
 ����	���
�����
 ����� ������� ���
�
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	���
�
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	! ��� ��
 ����	 K+���
��
	�	 ��	������ S ��� 	�������� 
" *���� ��	������ ���
�� 
��
���
 K+	��������	
 1
�
! ��� ���� ��	��! 
��
���
 K+���
��
	�	
 	��������	
2�
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" ��������
��
� ���
��
	�� ��	����
� 
��
���
 ��������� 
�������� 	�������
'456)� %�������� 	�������� �������
���
 ��� ������������ ���� ν+��	���� ������ 
 ���� ��
	���������  �
 	�������� s 
" ��	������ S 
�������� 	�������� � ��	����

 ν *���� ��	��+
���� �������
���
 �������
	 ����"�	

Iν
s = {x | ν(x) = s}.
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�������� 	�������� 	���� 
	��� ��"��� ���������
� ����� 
 ��� �� K+���
��
	�� ��	����

� 8� *�� ��

�� ��� ��������� ��	��� 	�������� s!
��� 
 ��������� ��	������ S� &���
	�����
 ��������� 
��������� 	�������� ��������
"���
��������� 
 ��	�� ��	����

 ν�

9������	 ������ ��
�	��
������ ��������
 
�������� 	������� ��
 K+���
��
	�� ��+
	����
�! ��� � �������� ������ K ������
 ������ Σ−1

n+1 	������� � 
�����

 :�;����

�� � � �� � �� ����� ν �������� Σ−1
n+1����������� ������ ��� ��!�����"� ���������

S #�$���%���� ����������"� ��$�� 
�"$� $�� �&'�"� ���%����� s �( ��������� S ��$�!��

��� ���%����� Iν
s ��%�� � !����� Π0

2 ���)�������!�� �����*�� +���!��,������!�"�� ���

-��� $�� �&'�"� ���%�����M �( !����� Π0
2 ��.�����&� ��������� S/ �"� Σ−1

n+1�����������

������ �� ν � ���%����� s �( ��������� S ��!��/ ��� ���%����� M �������� ��������

����&.�� ��$�!���� ���%������/ ���� Iν
s = M �

	�
 � � � � � 
 � � � � � � 9������	 ������� ������� ������ ��
�	��
������ ��������

*���� 	���������  �
 ���
"�������� 	�������� s 
" ��	������ S "��
��
���	 ��������� ���
ν+��	�� m0 : ν(m0) = s�

8�	����

 ν 
��
���
 Σ−1
n+1+���
��
	��! � �������������
� ����� Σ−1

n+1 
��
���
 �������+
��	 ������ Δ0

2 
�����

 -�
��
+&����������� $ ����	� ���������� ������
���� ����
����
A(m,u, v, y) 
 B(m,u, v, y) �����	���� ��
 �����	 m �������
��
� ��
����������� *��	��+
��� y 	�������� ν(m)! ����	���
���	�	� ��� Σ0

2+	�������� 
 ��� Π0
2+	��������! ������������+

��

y ∈ ν(m) ⇔ ∃u ∀v A(m,u, v, y),

y ∈ ν(m) ⇔ ∀u ∃v B(m,u, v, y).
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! ��� m ∈ Iν

s ����� 
 ������ �����!
����� ��
 ������� ������������ "�����

 y ������
���
 *��
�����������

y ∈ ν(m) ⇔ y ∈ ν(m0).
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m ∈ Iν
s ⇔ ∀y (y ∈ ν(m) ⇔ y ∈ ν(m0)) ⇔

⇔ ∀y ((y � ∈ν(m) ∨ y ∈ ν(m0)) ∧ (y ∈ ν(m) ∨ y � ∈ν(m0)) ⇔
⇔ ∀y ((¬(∃u ∀v A(m,u, v, y)) ∨ ∀u1 ∃v1 B(m0, u1, v1, y))∧
∧(∀u2 ∃v2 B(m,u2, v2, y) ∨ ¬(∃u3 ∀v3 A(m,u3, v3, y)))) ⇔
⇔ ∀y ∀u ∀u1 ∀u2 ∀u3 ∃v ∃v1 ∃v2 ∃v3 [(¬(A(m,u, v, y))∨
∨B(m0, u1, v1, y)) ∧ (B(m,u2, v2, y) ∨ ¬(A(m0, u3, v3, y))].
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�	�	 <�������+-����������� *�
	 �����������! ���

�������� 	�������� Iν

s ���
� � ������ Π0
2 ��
�	��
������ 
�����

 	��������
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	! ��� ���
 	� �������
	 �����������
� ������	�� ��	������ S! *��	���� s 
 K+
���
��
	�� ��	����

 ν ��
 K = Σ−1

1 ! �� *��� �� ��
	�� ����� ����������
�� ��������

	
�����	� 
 ��
 Σ−1

n+1+���
��
	���
 ��
 ����	 ����������	 n � �
�� �������

 Σ−1
1 ⊂ Σ−1

n+1�

9�������
� ��	������ S 
 ��� Σ−1
1 +���
��
	�� ��	����

 ν ��������
	 �� ;���	� #�	��+

���� S ����� �����
�� 
" ��������� ��������� ����"��� ������������ �
�� 
 ����� 	��������
N �



4= �� 9�  ���
��

9���� M > ���
"������� 	�������� 
" ������ Π0
2� 9�������
� �������	 ���! ��� 
���+

	�	 ����� 
�������� 	�������� Iν
N = M � 3��"���
	 ����" PM (u, v, x) ������
���� ����
���!

�������
��
� 	�������� M

x ∈M ⇔ ∀u ∃v P (u, v, x).

3�
;�	 ��������
� 	�������� ν(x) �����	���� �� x�
� �������� ��������

 �� �����	 ;��� t ����� �������
���
 "�����

 ����	����������

����������
���� �����
� v(t + 1), u(t + 1) 
 ������
������ �����
��
���
 *��	���� 	��+
������ v(x) � "��
�
	���
 �� 
��
��������� "�����

 ����
���� P (u(t), v(t), x)�  � ������
��������

 �������	 v(0) = 0 
 u(0) = 0! � 	�������� ν(x) �����	! ���� ���� �� ��������
	
�
���
� *��	������

0�" 	� 9�����
�	 
��
������ ����
���� P (0, 0, x)?
�1 ���
 ����
��� P (0, 0, x) 
��
���! �� �������	 �
��� 0 � 	�������� ν(x)� 3������
�	

"�����

 ����	���������� �����
� v(1) = 0, u(1) = u(0) + 1 = 1 
 �������
	 � ��������
�
���������� ;��� ��������

@

'1 ���
 "�����
� ����
���� P (0, 0, x) �����! �� � 	�������� ν(x) �� ������
�	 �
������
������ *��	����� 3������
�	 "�����

 ����	���������� �����
� v(1) = v(0) + 1 = 1, u(1) =
= u(0) = 0� 9������
	 � ��������
� ���������� ;��� ��������

�

 �����
	 ����� ;��� t ���������� "�����

 ����	���������� �����
� u(t+ 1) 
 v(t+ 1)

 ��� �����
����� ����
+�� ����� 	�������� ν(x)�

0�" 23
� 9�����
�	 
��
������ "�����
� ����
���� P (u(t+ 1), v(t+ 1), x)?
�1 � ������ 
��
�����
 ����
���� P (u(t+1), v(t+1), x) �������	 *��	��� u(t+1) � 	����+

���� ν(x)� 9������	 u(t+2) = u(t+1)+1, v(t+2) = 0 
 �������
	 � ��������
� ����������
;���@

'1 ���
 �� "�����
� ����
���� P (u(t + 1), v(t + 1), x) �����! �� �������	 u(t + 2) = u(t +
+ 1), v(t+ 2) = v(t+ 1) + 1 
 �������
	 � ��������
� ���������� ;����

9�������
� "���������

����� �� ,��%����� ν(x) ����� ���%����� ����������* ����� ��"$� � ����!�

��"$�/ !�"$� x ∈M �

 �����
������! ���
 x ∈ M ! �� ������
���
 ���	��� ∀u ∃v P (u, v, x)� $ ����� ��� ����+
������� "�����

 u ����� �������� � 	�������� ν(x) ����������������

:��
 �� x /∈ M ! �� ����� ������
���
 ���	��� ¬(∀u ∃v P (u, v, x)! ������
 *��
��������
���	��� ∃u ∀v (¬P (u, v, x))� 9���� u0 ����� ��
	���;
	 
" ���
� u! ��� ��
 ���� v ����
+
��� P (u, v, x) ��
�
	��� ������ "�����

� <���� ������
� ����� ;�� t0! ��� u(t0 + 1) = u0�
A���� ���
��! ��� ��
 ���� t > t0 "�����
� u(t) = u(t0 + 1) = u0 ����
�
"
�����
! � "����+
�

 �����

 v(t) ����� ���������� ����
� � *��	 ������ �� ��������
� �����
	 	��������
ν(x) = {0, 1, . . . , u0 − 1} ��� ��������� ���	��� ������������ �
���

� �
�� *��� ��		� 
 
	��	 ��������� Iν
N = M �

<����	� ����"����

9�������� ������ Σ−1
1 
 Σ0

1 ���������! 
" �����	� ���������
 ����� 
"������
 ������
��������
 
��������� 	�������� ��
 ������� (Σ0

1−) ���
��
	���
�

� 
 � � � � � � � � 4��� ν − (Σ0
1−) ���������� ������ �� ��������� S ��!������� #����

�������* #�$���%���� ����������"� ��$�/ �� $�� #���(������"� s∈S ��$�!���� ���%�����

Iν
s ��%�� � !����� Π0

2 ���)�������!�� �����*�� ���%����� ��� -���/ $�� !�%$�"� M �(

!����� Π0
2 ��.�����&� ���������� ��������� S ��!������� #����������* ���%����/ �"�

���������� ������ �� ν � -������ s ∈ S ��!��/ ��� ��$�!���� ���%����� Iν
s ���#�$��� �

���%������ M �
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�� � � �� � �� ����� ν �������� Π−1
n+1����������� ������ ��� ��!�����"� ���������

S #�$���%���� ���������� ��$�� 
�"$� $�� �&'�"� ���%����� s �( ��������� S ��$�!��

��� ���%����� Iν
s ��%�� � !����� Π0

2 �����*�� +�����,������!�"�� ��� -��� $�� �&'�"�

���%����� M �( !����� Π0
2 ��.�����&� ��������� S/ �"� Π−1

n+1����������� ������ �� ν �

���%����� s �( ��������� S ��!��/ ��� ��$�!���� ���%����� Iν
s ����� ���%����� M �

	�
 � � � � � 
 � � � � � � �����

 ������ ��������
 
��������� 	�������� Iν
s ��
 ���
"+

�������� s 
" ��	������ S � Π−1
n+1+���
��
	�� ��	����
�� ν ������
��
 �����;���� ������
�+

�� �������
� ������� �����
 ��������
 � ����"��������� �����	� (� <������� ����� �����

�������������
 ��������
�	 �������������
� ��	������ S 
 ��� Π−1

n+1+���
��
	�� ��	����


ν �� ���
"������	� 	�������� M 
" ������ Π0

2 ���
�! ��� ��
 s = ∅ 
�������� 	��������
Iν
s ����� ����� 	�������� M � 9�
 *��	 � ��	������ S ���������
 ��������� ���	��������
������������ �
��! ������� ���������
 
" 	�������� N ������
�	 ���������� ��������� ��+
�������� ���	����! � ����� ������ 	���������

#�	� ��������
� ����� � ��������
�	 
" �����	� (! ������ 
������	 � ��������

 ������

	�������� N 1�	���� ∅2 
 ������
� 5�!�&����� -������� � ���%����� ν(x)5 "�	��
���
 ��
������
� B��!�&����� -������� �( ���%����� ν(x)5� 3�
���
� �������
	��� ��������

 �
��������	 ������
�� ��������
�! ��
������ � �����	� (�

<����	� ����"����
����	���
	 ������ 
�������� 	�������� � ���������� ���
��
	�� ��	����

� �����
+

������ ������� ��
�	��
������ 
�����

 	��������

�� � � �� � �� ����� ν(x) �������� Σ0
n+1����������� ������ ��� ��!�����"� ���������

S #�$���%���� ���%����� ����������* ������ 
�"$� $�� �&'�"� -������� s ��������� S
��$�!���� ���%����� Iν

s ��%�� � !����� Π0
n+2� ��� -��� $�� !�%$�"� ���%����� M �(

!����� Π0
n+2 ��.�����&� ��������� S #�$���%���� ���%����� ����������* �����/ �"�

Σ0
n+1����������� ������ �� ν(x) � -������ s �( ��������� S ��!��/ ��� ��$�!���� ���%��

���� Iν
s ����� ���%����� M �

	�
 � � � � � 
 � � � � � � 9������	 ������� ������ ��
�	��
������ ��������
 
�����+
���� 	�������� Iν

s � <�� ��� 	�������� {< x, y > | y∈ ν(x)} ���
� � ������ Σ0
n+1! �� ��������+

�� 0(n)+������
���� ����
��� A(m,u, x)! "�����
� *�� 	��������� 9���� s > ���
"�������
*��	��� ��	������ S� C���! ��� ���������� ����� "�����
� x0! ��
 �������� s = ν(x0)� 9�
���������
� 
��������� 	�������� "�������	! ���

m ∈ Iν
s ⇔ ∀y (y ∈ ν(m) ⇔ y ∈ ν(x0)).

9�������� ���������
� *��
�������� ��������� ���	���

∀y ((∃u A(m,u, y) ∨ ∀u1 (¬A(x0, u1, y))) ∧ (∀u2 (¬A(m,u2, y)) ∨ (∃u3 A(x0, u3, y)))).

������	 � *��� ���	��� ��������! 
�����"�
 �����
�	 <�������+-�����������! �����
	
���	���

∀y ∀u1 ∀u2 ∃u ∃u3 ((A(m,u, y) ∨ (¬A(x0, u1, y))) ∧ (¬A(m,u2, y) ∨A(x0, u3, y))).

9���� ���������� ��
�����
 "��
��� 0(n)+������
���� ����
���! 
��
��
��
 ������� ��	+
�
���
�� 0(n)+������
���� ����
������ -��������
 ��
������ ���	���! �������
���� ��
+
����������� �
��� 
�������	� 	��������! 
	��� �
� ∀ ∃! � ����	� ��������������� 
��������
	�������� Iν

s ��
������
� ������ Π0
n+2 ��
�	��
������ 
�����

 	��������

 �
 ����"��������� �������
 ���������� �����
 ����	���
	 ���
"������� 	�������� M

" ������ Π0

n+2�  �
 ���� ������	 0(n)+������
���� ����
��� P (u, ν, x)! �������
��
� 	��+
������ M

x ∈M ⇔ ∀u ∃ν P (u, ν, x).



4. �� 9�  ���
��

 ���� �������� ������
���
 ��������
� 
" ����"��������� �����	� (! ��� 
�����"����


	���� *��� 0(n)+������
���� ����
��� P (u, ν, x)�

<����	� ����"����
A���� ���
��! ��� 
 � *��	 ������ ���������� ��"������ 	���� ������
 � Π0

n+1+���
��
+
	�	 ��	������	 	��������

�� � � �� � �� ����� ν �������� Π0
n+1����������� ������ ��� ��!�����"� ��������� S

#�$���%���� ����������"� ��$�� 
�"$� $�� �&'�"� -������� s ��������� S ��$�!���� ����

%����� Iν
s ��%�� � !����� Π0

n+2� ��� -��� $�� !�%$�"� ���%����� M �( !����� Π0
n+2 ���

.�����&� ��������� S #�$���%���� ���%����� ����������* �����/ �"� Π0
n+1�����������

������ �� ν � -������ s �( ��������� S ��!��/ ��� ��$�!���� ���%����� Iν
s ���#�$��� �

���%������ M �

������������ ��� ���!��

�� ������� �	
	 �� ������ �	�� �	��� ����� �� ��� �  � !�  " �
�

�� ��
���� �	 ���#�
 #���#��$��� %���&�' � (%%����$�	
 $�)��������*� +�� ��,��

 � ������ ��	 �	 -./012 03 4567/189:;� <#��#��� � ��� =>> +>??� =��� =�$�����#��� �����

�� ������� �	�	 �� @���#���' �	�� A�#�	�� ����� �� �,� � B� @� �� " ,��

B�  �!�� "	#	 �� @���#���' �	�� A�#�	�� ��,
� �� ��� � �� !�  �� "  ���

�� $%& �	 �� C� D267� E0:� �����  �� !�  � " ���

�����#��� � ��$�! �& �	�

��		
"�
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���� ���
��
�� 	��� An ��� ���
����

��� ������	�� ���
� ������	
����� �����	
���	����

�� �������	
���
�� ���
� 	 ������	����� ��
��
��� ������
�
�� ���	� g  
������

���� ���
��� �� 	��� An ��� ���
����

��� ������	�� ���
� �����	
���	��� p > 0.
���	� gC  �����
����� ������

���� ���
��� �� 	��� An, R  

 ���	
�� ����
�� !
�
�
eα, α ∈ R ������
�"	�� ����
��
 �
�	��� �� ������ #
����
$ hα = [eα, e−α], gZ  ���	�
	�
�	��"%�� &���� #
����
� '�����

���� ���
��� �� g ��� ���
� K �����	
���	��� p > 0
���
�
��
	�� ��� gZ⊗ZK. � �����
�(
� �� ���
� ��������	��� ������

��
� X ��� )�
�
�	�
X ⊗ 1 ���
��� �� g.
����	����	�� H2(g,g) ������������� �����
���
����� ������ ���
��� �� g ��	
���
	��

��
	�� ��� ����	����	�� ��������� �
&����*�� ���
��� �� g� ������������� �����
���
����
������ ������

���� ���
�� �� ��� ���
� �����	
���	��� p > 2 ����(� ���
�	�� � ���

��
� ����	�� +,-./� 0
��" ���	��%
� ����	� ����
	�� ��
���
��
 ����	����	�� H2(g,g∗), ��

g∗  �������
���
���� g������� 1	
��
�� ,2� 3
��	��
 ���
��� �� g �� �������
���
����
������ g∗ ���
�
��
	�� �� ������� X(Y ∗(Z)) = −Y ∗([X,Z]), ��
 X,Z ∈ g � Y ∗ ∈ g∗.
���	� K  ���
����

��� ������	�
 ���
 �����	
���	��� p > 0, g  ������

���� ���
���

�� 	��� An ��� K, G  ���
����

���� ������ ���
��� �� g, G1  ���� �	�����
��� 4���
�
����� �� G$ T  ������������ 	�� � G$ X(T )  ������ �����	
��� T, R⊂X(T )  ���	
��
����
�� ��
�
� ����
�	�� ������	
����� R+ � �	��*�	
����� R− ����
� � R. 5��
��*��
����	�� ����
� α1, α2, . . . , αn ���	�
	�	��
	 	����*
 6������ +7/�
���	� 	
�
�� λ1, λ2, . . . , λn  &�����
�	�����
 �
��$ X(T )+  ����
�	�� �������	���

�
���$ X1(T )  ����
�	�� �������	��� ������

���� �
���$ 	�
� X1(T ) = { λ =
∑n

i=1 riλi ∈
∈ X(T ) : ri ∈ Z, 0 ≤ ri < p, ��� ��
� i}. 5� X(T ) ��
�
� ���
��
 �	��(
��
 ������� λ ≤ μ
	���� � 	����� 	����$ ����� ��%
�	��"	 *
��
 ri ≥ 0 	���
$ 
	� μ− λ =

∑n
i=1 riαi. 3�� �"����

T ������� V � �"���� μ∈X(T ) ������
�� 

�
� Vμ �
����
 ����	����	�� � V, ���	�
	�	��"%


�
�� μ�
���	� B  ��������� 6��
�� ������ G, ���	�
	�	��"%�� �	��*�	
����� ������$ U  

�����	
�	��� ������� B. 3�� ������� λ ∈ X(T ) ����� ���
�
��	� �����
���� ������ Kλ

��� B � ����%�� ������&���� B/U ∼= T.8���*��������� G�������H0(λ) = IndG
BKλ ����
	��

�
���
��� 	���� � 	����� 	����$ ����� λ ∈X(T )+.

��������	 ��� �������	 
���
����� �� ��� �������	 
�������� 
�����


��� �
����
���� ������� ��
�����
����	 ������ ���� 
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 �����



.. #� #� 8���
�$ 9� :� ;��
	�
��

'������*�� ��
��	���
��� ������ G �� �
�	����� ����	����	�
 V � �	�����
��
� 4���
�
����� F ���
�
��
	 ����
 ��
��	���
��
$ �� ��	���� G1 1��
����	
����$ � ���
��� �� g2
�
��	��
	 	���������� <�����
�� ����

���� ������ 

�
� V (1). '������ �
�� μ∈X(T ) ����
�	����	�� V ���	�
	�	��
	 �
� pμ ����	����	�� V (1).

= ������ �	�����$ 
��� V1 ����
	�� G������
�$ �� ��	���� G1 1��� g2 �
��	��
	 	��������
��$ 	� ��%
�	��
	 
����	�
���� G������� V 	����$ 
	� V1 = V (1). <�����
�� )	�	 G������� V


�
� V (−1). 5�����
�$ 
��� L ����
	�� G������
�$ 	� ������ ������ ����������� H i(G1, L)

�	� G�������$ �� ��	���� G1 1��� g2 �
��	��
	 	���������� ;���� ������ H i(G1, L)(−1) ���
��
	�� G������
�$ ������"%�� ��(
��������� �����	����

>�����	��� ���
��� �� g ��� ������

���" ���
��� �� � p��	�����
��
� X �→ X [p], X∈g.
���	� U(g)  ����
�������� ��
�	���"%�� ���
��� ���
��� �� g � U(g)+  ����	�������
��
�� � U(g) 	����$ 
	� U(g) ����
	�� ������ ������ K � U(g)+$ ��� �
�	����
 ����	����	��
��� K. <�����
�� 

�
� P (g) ��
��$ ������
���� )�
�
�	��� Xp − X [p], X ∈ g. 4��	���
���
��� U0(g) = U(g)/P (g) ������
	�� ������

���� ����
�������� ��
�	���"%
� ���
����
���
��� �� g.
8��
�	��$ 
	� ����������� H i(G1, V ) ��� ������

����� G1������� V � ������

���� ���

��������� ���	�
	�	��"%
�� g������� )������
�	�� 1+?/$ I.9$ =�,.@2� <�����

���� ������
����������� ������

���� ���
��� �� ��
���
 ���� ��
�
�� A��(������ � +B/� i��� ������
������

���� ����������� ������

���� ���
��� �� g � ��)&&�*�
�	��� � ������

����
g������
 V ������
�
	�� 

�
� H i∗(g, V ). �� ���
�
�
��" H i∗(g, V ) = Exti

U0(g)(K,V ).
=���� �
��� ���
��� �	���� � ������

���� �	���� �������� ����������� � ��)&&��

*�
�	��� � ������

���� �����
 V ���
�
��
	�� �� ��
��"%
� 	�
��� ����
����	
�����	�"
G������
�C

H0(g, V ) ⊗ g∗ −→ H2(G1, V ) −→ H2(g, V ) −→ H1(g, V ) ⊗ g∗ −→ H3(G1, V ). 1,2

<������� �
����	�	�� ������ ����	� ����
	�� ��
��"%��

�� � � � � � � ����� g � ������������ ������� �� �� � An !�" ������������� #���!�$

���  ���� K %������������� p > 0. 
��"� H2(g,g∗) = 0, ����� ���"�&'�% ������()

1D2 H2(g,g∗) ∼= H0(λ1)(1) +H0(λ2)(1), ���� p = 3 � n = 2;
1E2 H2(g,g∗) ∼= H0(λ1)(1) +H0(λ2)(1) +H0(λ2)(1) +H0(λ2)(1) +H0(λ3)(1), ���� p = 2 � n = 3;
1F2 H2(g,g∗) ∼= H0(λ3)(1), ���� p = 2 � n = 5.

�� ������
����
�� 
������� 3�� ������	
���	�� 	
��
�� �� ��������
� ��
��"%�

���
�	��
 &��	��

����� �� ����� g � ������������ ������� �� �� � An !�" ������������� #���!����

 ���� %������������� p > 0. 
��"� H1(G1,g∗) = 0 ����� ���"�&'�% ������()

1D2 H1(G1,g∗)(−1) ∼= H0(λ1) ⊕H0(λ2), ���� p = 3 � n = 2*
1E2 H1(G1,g∗)(−1) ∼= H0(λ2), ���� p = 2 � n = 3.

��� � � � 
 � � � � 
 � � � =����
������	� �
��� ��
��
	 �� �
����	�	� ����	� +@/ 1��
��
���
��
 .�,2�

����� �� ����� g � ������������ ������� �� �� � An !�" ������������� #���!����

 ���� %������������� p > 0. 
��"� H2(G1,g∗) = 0 ����� ���"�&'�% ������()

1D2 H2(G1,g∗)(−1) ∼= H0(λ1) ⊕H0(λ3)+ ���� p = 2 � n = 3*
1E2 H2(G1,g∗)(−1) ∼= H0(λ3)+ ���� p = 2 � n = 5.

��� � � � 
 � � � � 
 � � � =����
������	� �
��� ��
��
	 �� �
����	�	�� ����	� +G/ 1	
��
�
�� 1����(�� ���
��2$ 	
��
�� �,2�



������������� �������
���
����� ������ ���
�� �� 	��� An .@

H��� V = g∗, 	� 	�
��" ����
����	
�����	� 1,2 ����� �
�
����	� � ��
��"%
� ���
C

H0(g,g∗) ⊗ g∗ −→ H2(G1,g∗) −→ H2(g,g∗) −→ H1(g,g∗) ⊗ g∗ −→ H3(G1,g∗). 1�2

3����
� ��
��"%�
 �F������	
����
 ��
����
����

��� �� ��� 
	 � �� ����� g � ������������ ������� �� �� � An !�" �������������

#���!����  ���� %������������� p > 0+ g∗ � �� �����"�!�!!�- g$��"��� � f : H1(g,g∗)⊗
g∗ −→ H3(G1,g∗) � ������.�!�� �# ���!�-  ����"�(�����!���� /
0� 
��"� ����� �����

���"�&'�- �#����1�#� G$��"���-)

H2(g,g∗) ∼= H2(G1,g∗) + Ker f. 1I2

��� � � � 
 � � � � 
 � � � >�����	��� 	�
��" ����
����	
�����	� 1�2� A���(� ���
�	��$

	� H1(g,g∗) ∼= H1(G1,g∗) � H0(g,g∗) = 0 1���$ ������
�$ +@/$ +B/2� ;���� 	�
��" ����
�����
	
�����	� 1�2 ����� �
�
����	� � ���


0 −→ H2(G1,g∗) −→ H2(g,g∗) −→ H1(g,g∗) ⊗ g∗ −→ H3(G1,g∗).

����
���� 	�
��� ����
����	
�����	� ��
	 	�
��
��� ������&��� 1I2� ��
����
��
 , �����
�����

=������� ��
����
��" , H2(g,g∗) ∼= H2(G1,g∗) + Ker f � '���������� H1(g,g∗) �
H2(G1,g∗) ��
���
�� � �
���� � � I� ;
�
�� ��	�
	�� ��
����	� Ker f.

��� �� ��� 
	 � �� ����� g � ������������ ������� �� �� � An !�" �������������

#���!����  ���� %������������� p > 0. 
��"� Ker f = 0 ����� ���"�&'�% ������()

1D2 Ker f ∼= H0(λ1) +H0(λ2), ���� p = 3 � n = 2;
1E2 Ker f ∼= H0(λ2) +H0(λ2) +H0(λ2)+ ���� p = 2 � n = 3.

��� � � � 
 � � � � 
 � � � H��� H1(G1,g∗) = 0, 	� �

�����$ 
	� Ker f = 0. ;�� ���
H1(g,g∗) ∼= H1(G1,g∗), 	� �� �
��
 , H1(g,g∗) �= 0 	����� � ��
��"%�� ���
���C

(a) p = 3 � n = 2J
(b) p = 2 � n = 3.
>�����	��� ������ �� )	�� ���
�
� �� �	�
�����	��

2����- (a). ���	� p = 3 � n = 2. ;�� ��� H1(g,g∗)(−1) ∼= H0(λ1) ⊕ H0(λ2) 1�
��� ,2 �
G������� H0(λ1), H0(λ2) �
���������$ 	� ���	�	�
�� ������	� ����
�
 �
	���������� ���
*�����$ ��
"%�� �
�� 3λ1 � 3λ2.

���	� ψ3λ1 , ψ3λ2  ����*���� �� H
2(g,g∗), ��
"%�
 �
�� 3λ1 � 3λ2$ ���	�
	�	�
���� ;����

ψ3λ1 , ψ3λ2 $ ���	�
	�	�
���$ ����	 ��
	� 	����� ��
��"%�
 �
���
��
 ������
�	�C

ψ3λ1(h1, e−α1) = a1e
∗
−α1−α2

, ψ3λ1(h1, e−α1−α2) = a2e
∗
−α1

, ψ3λ1(h2, e−α1) = a3e
∗
−α1−α2

,

ψ3λ1(h2, e−α1−α2) = a4e
∗
−α1

, ψ3λ1(eα2 , e−α1−α2) = a5e
∗
−α1−α2

,

ψ3λ1(e−α1 , e−α2) = a6e
∗
−α1

, ψ3λ1(e−α1 , e−α1−α2) = a7h
∗
1 + a8h

∗
2;

ψ3λ2(h1, e−α2) = b1e
∗
−α1−α2

, ψ3λ2(h1, e−α1−α2) = b2e
∗
−α2

, ψ3λ2(h2, e−α2) = b3e
∗
−α1−α2

,

ψ3λ2(h2, e−α1−α2) = b4e
∗
−α2

, ψ3λ2(eα1 , e−α1−α2) = b5e
∗
−α1−α2

,

ψ3λ2(e−α1 , e−α2) = b6e
∗
−α2

, ψ3λ2(e−α2 , e−α1−α2) = b7h
∗
1 + b8h

∗
2,

��
 ai, bi ∈K.
5�������$ 
	� �
��	��
 ���
��� �� g �� �������
���
���� ������ g∗ ���
�
��
	�� ��

������� X(Y ∗(Z)) = −Y ∗([X,Z]), X, Z ∈ g, Y ∗ ∈ g∗.



.7 #� #� 8���
�$ 9� :� ;��
	�
��

8� ������� ��*����
���	� ��
��
	$ 
	� ������ �� ��*����� ψ3λ1 , ψ3λ2 $ ���	�
	�	�
���$
����
	�� ���
���� �������*�
� ��
��"%�� ���� ��*����� 1������� �
���
��
 ������
�	�2C

ψ1
3λ1

(h1, e−α1) = 2e∗−α1−α2
, ψ1

3λ1
(h1, e−α1−α2) = e∗−α1

, ψ1
3λ1

(eα2 , e−α1−α2) = 2e∗−α1−α2
,

ψ1
3λ1

(e−α1 , e−α2) = e∗−α1
, ψ1

3λ1
(e−α1 , e−α1−α2) = h∗2;

ψ2
3λ1

(h1, e−α1) = e∗−α1−α2
, ψ2

3λ1
(h1, e−α1−α2) = 2e∗−α1

, ψ2
3λ1

(e−α1 , e−α1−α2) = h∗1
�

ψ1
3λ2

(h2, e−α2) = 2e∗−α1−α2
, ψ1

3λ2
(h2, e−α1−α2) = e∗−α2

, ψ1
3λ2

(eα1 , e−α1−α2) = e∗−α1−α2
,

ψ1
3λ2

(e−α1 , e−α2) = e∗−α2
, ψ2

3λ1
(e−α2 , e−α1−α2) = h∗1;

ψ2
3λ2

(h2, e−α2) = e∗−α1−α2
, ψ2

3λ2
(h2, e−α1−α2) = 2e∗−α2

, ψ2
3λ2

(e−α2 , e−α1−α2) = h∗2.

�
��� ���
	�	�$ 
	� ������ �� )	�� ��*����� ����
	�� �
	���������� ��*������ <�����$
��� ������� ���
��� ��������� 3
��	��	
����$ 
��� ψ3λ1 = c1ψ

1
3λ1

+ c2ψ
2
3λ1
, ci ∈ K � ψ3λ2 =

= d1ψ
1
3λ2

+d2ψ
2
3λ2
, di∈K, 	� �� ������� ψ3λ1 = dω3λ1 , ψ3λ2 = dω3λ2 , ω3λ1 , ω3λ2∈C1(g,g∗) ��
��
	$


	� c1 − c2 = 0 � d1 = d2.
;���� �������$ �� ����
��� ��� ���
��� �
��������� �
	���������� ��*���� ψ2

3λ1
, ψ2

3λ2
,

��
"%��$ ���	�
	�	�
���$ �
�� 3λ1, 3λ2 � �������"%�
 Ker f ��� G−�������
2����- (b). ���	� g = A3 � p = 2. ;�� ��� H1(g,g∗)−1 ∼= H0(λ2) 1�
��� �2 � G−������

H0(λ2) �
��������$ 	� ���	�	�
�� ������	�$ 
	� 
���� ���
��� �
��������� �
	����������
��*����� �
�� 2λ2 ����� 	�
��
���	� ψ2λ2  ����*��� �� H

2(g,g∗) �
�� 2λ2. ;���� ψ2λ2 ���
	 ��
	� 	����� ��
��"%�

�
���
��
 ������
�	�C

ψ2λ2(h1, e−α2) = a1e
∗
−α1−α2−α3

, ψ2λ2(h1, e−α1−α2) = a2e
∗
−α2−α3

,

ψ2λ2(h1, e−α2−α3) = a3e
∗
−α1−α2

, ψ2λ2(h1, e−α1−α2−α3) = a4e
∗
−α2

,

ψ2λ2(h2, e−α2) = a5e
∗
−α1−α2−α3

, ψ2λ2(h2, e−α1−α2) = a6e
∗
−α2−α3

,

ψ2λ2(h2, e−α2−α3) = a7e
∗
−α1−α2

, ψ2λ2(h2, e−α1−α2−α3) = a8e
∗
−α2

,

ψ2λ2(h3, e−α2) = a9e
∗
−α1−α2−α3

, ψ2λ2(h3, e−α1−α2) = a10e
∗
−α2−α3

,

ψ2λ2(h3, e−α2−α3) = a11e
∗
−α1−α2

, ψ2λ2(h3, e−α1−α2−α3) = a12e
∗
−α2

,

ψ2λ2(eα1 , e−α1−α2) = a13e
∗
−α1−α2−α3

, ψ2λ2(eα1 , e−α1−α2−α3) = a14e
∗
−α1−α2

,

ψ2λ2(eα3 , e−α2−α3) = a15e
∗
−α1−α2−α3

, ψ2λ2(eα3 , e−α2−α3) = a16e
∗
−α2−α3

,

ψ2λ2(e−α1 , e−α2) = a17e
∗
−α2−α3

, ψ2λ2(e−α1 , e−α2−α3) = a18e
∗
−α2

,

ψ2λ2(e−α2 , e−α3) = a19e
∗
−α1−α2

, ψ2λ2(e−α2 , e−α1−α2) = a20e
∗
−α3

,

ψ2λ2(e−α2 , e−α2−α3) = a21e
∗
−α1

, ψ2λ2(e−α2 , e−α1−α2−α3) = a22h
∗
1 + a23h

∗
2 + a24h

∗
3,

ψ2λ2(e−α3 , e−α1−α2) = a25e
∗
−α2

, ψ2λ2(e−α1−α2 , e−α2−α3) = a26h
∗
1 + a27h

∗
2 + a28h

∗
3,

ψ2λ2(e−α1−α2 , e−α1−α2−α3) = a29e
∗
α1
, ψ2λ2(e−α2−α3 , e−α1−α2−α3) = a30e

∗
α3
,

��
 ai ∈K.
8� ������� ��*����
���	� ��
��
	$ 
	� ψ2λ2 ����
	�� ���
���� �������*�
� ��
��"%��

(
�	� ��*����� 1������� �
���
��
 ������
�	�2C

ψ1
2λ2

(h1, e−α2) = e∗−α1−α2−α3
, ψ1

2λ2
(h1, e−α1−α2) = e∗−α2−α3

, ψ1
2λ2

(h1, e−α2−α3) = e∗−α1−α2
,

ψ1
2λ2

(h1, e−α1−α2−α3) = e∗−α2
, ψ1

2λ2
(eα3 , e−α2−α3) = e∗−α1−α2−α3

,

ψ1
2λ2

(eα3 , e−α2−α3) = e∗−α2−α3
, ψ1

2λ2
(e−α1 , e−α2) = e∗−α2−α3

, ψ1
2λ2

(e−α1 , e−α2−α3) = e∗−α2
,



������������� �������
���
����� ������ ���
�� �� 	��� An .B

ψ1
2λ2

(e−α2 , e−α3) = e∗−α1−α2
, ψ1

2λ2
(e−α2 , e−α1−α2) = e∗−α3

, ψ1
2λ2

(e−α2 , e−α2−α3) = e∗−α1
,

ψ1
2λ2

(e−α2 , e−α1−α2−α3) = h∗1, ψ
1
2λ2

(e−α3 , e−α1−α2) = e∗−α2
,

ψ1
2λ2

(e−α1−α2 , e−α2−α3) = h∗1, ψ2λ2(e−α2−α3 , e−α1−α2−α3) = e∗α3
;

ψ2
2λ2

(h1, e−α2) = e∗−α1−α2−α3
, ψ2

2λ2
(h1, e−α1−α2) = e∗−α2−α3

, ψ2
2λ2

(h1, e−α2−α3) = e∗−α1−α2
,

ψ2
2λ2

(h1, e−α1−α2−α3) = e∗−α2
, ψ2

2λ2
(eα1 , e−α1−α2) = e∗−α1−α2−α3

,

ψ2
2λ2

(eα1 , e−α1−α2−α3) = e∗−α1−α2
, ψ2

2λ2
(e−α2 , e−α1−α2−α3) = h∗1,

ψ2
2λ2

(e−α1−α2 , e−α2−α3) = h∗1, ψ2λ2(e−α1−α2 , e−α1−α2−α3) = e∗α1
;

ψ3
2λ2

(h1, e−α2) = e∗−α1−α2−α3
, ψ3

2λ2
(h1, e−α1−α2) = e∗−α2−α3

, ψ3
2λ2

(h1, e−α2−α3) = e∗−α1−α2
,

ψ3
2λ2

(h1, e−α1−α2−α3) = e∗−α2
, ψ3

2λ2
(h3, e−α2) = e∗−α1−α2−α3

, ψ3
2λ2

(h3, e−α1−α2) = e∗−α2−α3
,

ψ3
2λ2

(h3, e−α2−α3) = e∗−α1−α2
, ψ3

2λ2
(h3, e−α1−α2−α3) = e∗−α2

,

ψ3
2λ2

(eα1 , e−α1−α2) = e∗−α1−α2−α3
, ψ3

2λ2
(eα3 , e−α2−α3) = e∗−α1−α2−α3

,

ψ3
2λ2

(e−α1 , e−α2−α3) = e∗−α2
, ψ3

2λ2
(e−α3 , e−α1−α2) = e∗−α2

,

ψ3
2λ2

(e−α1−α2 , e−α2−α3) = h∗1 + h∗3;

ψ4
2λ2

(h3, e−α2) = e∗−α1−α2−α3
, ψ4

2λ2
(h3, e−α1−α2) = e∗−α2−α3

, ψ4
2λ2

(h3, e−α2−α3) = e∗−α1−α2
,

ψ4
2λ2

(h3, e−α1−α2−α3) = e∗−α2
, ψ4

2λ2
(eα1 , e−α1−α2) = e∗−α1−α2−α3

,

ψ4
2λ2

(eα1 , e−α1−α2−α3) = e∗−α1−α2
, ψ4

2λ2
(eα3 , e−α2−α3) = e∗−α1−α2−α3

,

ψ4
2λ2

(eα3 , e−α2−α3) = e∗−α2−α3
, ψ4

2λ2
(e−α1 , e−α2) = e∗−α2−α3

,

ψ4
2λ2

(e−α1 , e−α2−α3) = e∗−α2
, ψ4

2λ2
(e−α2 , e−α1−α2) = e∗−α3

,

ψ4
2λ2

(e−α2 , e−α1−α2−α3) = h∗1, ψ
4
2λ2

(e−α1−α2 , e−α2−α3) = h∗1 + h∗2;

ψ5
2λ2

(eα1 , e−α1−α2) = e∗−α1−α2−α3
, ψ5

2λ2
(eα3 , e−α2−α3) = e∗−α1−α2−α3

,

ψ5
2λ2

(e−α1 , e−α2) = a17e
∗
−α2−α3

, ψ5
2λ2

(e−α2 , e−α3) = e∗−α1−α2
,

ψ5
2λ2

(e−α2 , e−α1−α2) = e∗−α3
, ψ5

2λ2
(e−α2 , e−α2−α3) = e∗−α1

,

ψ5
2λ2

(e−α2 , e−α1−α2−α3) = h∗1 + h∗3;

ψ6
2λ2

(h1, e−α2) = e∗−α1−α2−α3
, ψ6

2λ2
(h1, e−α1−α2) = e∗−α2−α3

, ψ6
2λ2

(h1, e−α2−α3) = e∗−α1−α2
,

ψ6
2λ2

(h1, e−α1−α2−α3) = e∗−α2
, ψ6

2λ2
(h2, e−α2) = e∗−α1−α2−α3

, ψ6
2λ2

(h2, e−α1−α2) = e∗−α2−α3
,

ψ6
2λ2

(h2, e−α2−α3) = e∗−α1−α2
, ψ6

2λ2
(h2, e−α1−α2−α3) = e∗−α2

, ψ6
2λ2

(h3, e−α2) = e∗−α1−α2−α3
,

ψ6
2λ2

(h3, e−α1−α2) = e∗−α2−α3
, ψ6

2λ2
(h3, e−α2−α3) = e∗−α1−α2

, ψ6
2λ2

(h3, e−α1−α2−α3) = e∗−α2
,

ψ6
2λ2

(eα1 , e−α1−α2) = e∗−α1−α2−α3
, ψ6

2λ2
(eα1 , e−α1−α2−α3) = e∗−α1−α2

,

ψ6
2λ2

(eα3 , e−α2−α3) = e∗−α1−α2−α3
, ψ6

2λ2
(eα3 , e−α2−α3) = e∗−α2−α3

,

ψ6
2λ2

(e−α2 , e−α1−α2) = e∗−α3
, ψ6

2λ2
(e−α2 , e−α2−α3) = e∗−α1

,

ψ6
2λ2

(e−α2 , e−α1−α2−α3) = h∗2.

;���� ������� ψ2λ2 =
∑6

i=1 biψ
i
2λ2
, bi ∈ K. 3��

$ �� ������� dω2λ2 = ψ2λ2 , ��
 ω2λ2 ∈

∈C1(g,g∗), ��
��
	$ 
	� b1 = b2 + b3, b4 = b3, b5 = a, b6 = 0, ��
 a∈K� K	� ����
�
	$ 
	� 
����
���
��� �
��������� ��*����� �
�� 2λ2 ����� 	�
�� � ��

�	�
 ���
��� �
��������� �
	���
�������� ��*����� ����� �����	� ��
��"%�
 	�� ��*���� ψ1

2λ2
, ψ4

2λ2
, ψ6

2λ2
. '�� G�������

Ker f �������
	�� ��*������ ψ1
2λ2
, ψ4

2λ2
, ψ6

2λ2
. ��
����
��
 ���������

=����
������	� 	
��
�� ��
��
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�����������	�
 ��
���� ������� �		�� 
�� �� � 
� �� �� � ��

��� ������

�������� ���	
������� �
���� ��
��

������
����� �	��
����� ���������������

��	


�� �� ������	

��������	�� 
����
���
�� �
��������� �� ��
���������

������� ����
��  �
���!����� ���� "� #$%&'#()*&+,�-.

��� �����	� 
���
�������
�	� ����	� m ��
��������� 
����
������� ������ 
���
����
����
�� ��
����� ��	�� ��
� �
��	
���
�� ���
���
�� ������

�����	� ���� �
�
������� �
��� ������ ! � ��
 �
�� ��
� ������ 
��"���� �� � �������#
�� ������� �� �� ����
�����

�� ��������� $ 
�"��� %&' ��� ��"�	� 
���
�������
�	� ����	� m ��
�����
� ������ Pm!
Qm 
���
�������
�� ��
���� K(x, s)! 0 < s≤ x <∞ � ����
����
� ���
��

‖Kf‖q,μ ≤ c‖f‖p, f ∈ Lp(I) (&)

��� �
��	
���
�� ���
���
�� ����

Kf(x) =

x∫
0

K(x, s)f(s)ds, x > 0 , (*)

Kg(s) =

∞∫
s

K(x, s)g(x)dx, s > 0 , (+)

�
� K(·, ·) ∈ Pm! K(·, ·) ∈ Qm! m ≥ 0! �����������

�! 	�� I = (0,∞)! 1 < p ≤ q < ∞! μ ,
"�
��������  �
�� -��� � (&) μ,  �
� .�"�	�! �� �/ ����#�

�� 
�/�������� �������� �
���
��
�	
�
�#�

���� ���
���
�� (*) � (+) �/ Lp(I) � Lq(I)!1 < p ≤ q < ∞! �
� K(·, ·) ∈ Pm

⋃
Qm!

m≥ 0�
��

�� 
�"��� �������� �
������
�� 
�"��� %&' � � 
�� ����
���������� �
���
�� �� �

����
���� ���
���
�� (*)! (+) �/ Lp(I) � Lq(I)! 1 < p≤ q < ∞! �
� K(·, ·) ∈ Pm
⋃
Qm! m≥ 0�

$ %&' �����
� ����#�
� A+(z, μ)! A−(z, μ)! A+(μ) = sup
z>0

A+(z, μ)! A−(μ) = sup
z>0

A−(z, μ)� -��� �

(&) μ ,  �
� .�"�	�! ��
���
�� ��� A+(z, μ)! A−(z, μ)! �����������

�! � ��� ���

A+(z) ≡A+
p,q(z) =

⎛
⎜⎝

∞∫
z

⎛
⎝ z∫

0

Kp′(x, s)ds

⎞
⎠

q
p′

dx

⎞
⎟⎠

1
q

,

��������	 �������� ��	� 
������� �	������
 ���	�������
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���� ������� ��
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01 2� 3� 3�
�
��

A−(z) ≡A−
p,q(z) =

⎛
⎜⎜⎝

z∫
0

⎛
⎝ ∞∫

z

Kq(x, s)dx

⎞
⎠

p′
q

ds

⎞
⎟⎟⎠

1
p′

,
1
p

+
1
p′

= 1.

4/ ���
� � & � ��������� &! � ����� �/ ���
� � * � ��������� * 
�"��� %&'! �����������

�!
��������

	� 
 � �� 
 �� ����� 1 < p≤q <∞ � ���� ��������� ��� �������� �� !����� Pm
⋃
Qm"

m≥ 0� 
�#�� ��$�� �����

� �������� ��� �#����%�� �& Lp(I) $ Lq(I)"
2) A+

p,q = sup
z>0

A+
p,q(z) <∞ ,

3) A−
p,q = sup

z>0
A−

p,q(z) <∞
'!$�$�������" ���%�� ����� ��������� ��� ‖K‖p→q ≈A+

p,q ≈A−
p,q�

	� 
 � �� 
 A∗� ����� 1 < p≤q <∞ � ���� ��������� �(� �������� �� !����� Pm
⋃
Qm"

m≥ 0� 
�#�� ��$�� ����� )

� �������� �(� �#����%�� �& Lp(I) $ Lq(I)"
2) A+

q′,p′ = sup
z>0

A+
q′,p′(z) <∞ ,

3) A−
q′,p′ = sup

z>0
A−

q′,p′(z) <∞
'!$�$�������" ���%�� ����� ��������� �(� ‖K‖p→q ≈A+

q′,p′ ≈A−
q′,p′�

5��� 
� �
���� ��
 �� � ����
���
�� �
�������� 
� �
���� ��
 �� � ����
���
��

�"��� %&' � �
� ������ 
� 
�� ���/������� ������ 
� �
� ���� ��
 �� � ����
���
��� 6����!
��� � � 
�"��� %&'! ����	����� 0

0 = ∞! ∞ · 0 = 0� 7���
���
�� A	 B �/
�#��� A ≤ cB! 	��
��
���
�� c > 0  ���� /������� �� 
���������

�� ��
� ��
��� 8� ���� A ≈ B � ����
A	B	A� 9�
���� χ(a,b)(·) : ��
����
����#����� ��
���� �
��
���� (a, b)�

�� ���
���� �������
���

	 � 
 � �� 
 �� ����� 1 < p≤ q <∞ � ���� ��������� ��� �������� �� !����� Pm
⋃
Qm"

m≥ 0� 
�#�� ��$�� �����

� �������� ��� !����!��� �& Lp(I) $ Lq(I)"
2) A+

p,q <∞, lim
z→0

A+
p,q(z) = lim

z→∞A+
p,q(z) = 0 ,

3) A−
p,q <∞, lim

z→0
A−

p,q(z) = lim
z→∞A−

p,q(z) = 0
'!$�$��������

3��
���
� (*)� (+) �������� �/�� 
� ���
���

� � ����� � ���
���
 (*) �� �����
 �/
Lp(I) � Lq(I) ��	�� � ������ ��	��! ��	�� ���
���
 (+) �� �����
 �/ L′

q(I) � L
′
p(I)� 7�������

����
�! �/ ���
� � & ��������

	� 
 � �� 
 �� ����� 1 < p≤ q <∞ � ���� ��������� ��� �������� �� !����� Pm
⋃
Qm"

m≥ 0� 
�#�� ��$�� �����

� �������� �(� !����!��� �& Lp(I) $ Lq(I)"
2) A+

q′,p′ <∞, lim
z→0

A+
q′,p′(z) = lim

z→∞A+
q′,p′(z) = 0 ,

3) A−
q′,p′ <∞, lim

z→0
A−

q′,p′(z) = lim
z→∞A−

q′,p′(z) = 0
'!$�$��������

����/��������� ���
� � 0 ���
����� 
� ��������� ����
���
��! ����
�� �������� #����

� � ���#�� � ���
� 0 � ;�

	� 
 � �� 
 �′� ����� 1 < p≤q <∞ � ���� ��������� ��� �������� �� !����� Pm" m≥0�

�#�� ��$�� ����� 
�"�� � (� ������� � '!$�$��������



�
���
�� �� ����
���� ��
�	� ������ �
��	
���
�� ���
���
�� ������

�����	� ���� 0&

	� 
 � �� 
 �′� ����� 1 < p≤q <∞ � ���� ��������� �(� �������� �� !����� Pm" m≥0�

�#�� ��$�� ����� 
�"�� � (� ������� * '!$�$��������

5� ��
���
�� ���
� 5′� 6′ ����
��� �
�#��� ��
����������� ����
���
�� ���
� � 0�
-��� ��
� ���
���
� (*) �
�
������� ������ Pm! m ≥ 0! �� ����
���
�� ���
� � ��������
�/ ���
� � 5′� <���� ��
� ���
���
� (*) K(·, ·) ≡Km(·, ·) ∈ Qm! m ≥ 0� 2��� ��
� ���
���

(+) � ��
� Km(·, ·) �/ Lq′(I) � Lp′(I)� <� ������� ���
� � 0= 1 < p ≤ q < ∞! �����������
�!
1 < q′ ≤ p′ < ∞� >�	�� 
� ��
���
�� ���
� � 6′ �� ����
���� ���
���
� (+) �/ Lq′(I) � Lp′(I)
��������
�
� ����� � ����
���
�� *)! +) ���
� � 0� 5� �� ����
���� ���
���
� (+) �/ Lq′(I)
� Lp′(I) 
��
�����
� �� ����
���� ���
���
� (*) �/ Lp(I) � Lq(I) � ���� �/�� � ���
���

����
���
���
�� (*) � (+)� <���� � ����
���
�� ���
� � 0 ��
�������� � � ���#��! ��	�� ��
�
���
���
� (*) �
�
������� ������ Qm! m≤ 0� >��
� � 0 ����/�
��

>���
� ��
���� � ����/��������� ���
� 5′ � 6′� >��
� � 6′ ����/������� ���� ��  ����
�� ! #�� ���
� � 5′� <���� �  � ������ ������ ���
� � 5′�

�
� 
 � 
 � � � � � � � 
 � � 
 � � � � � ′ � <���� ��
� ���
���
� (*) Km(·, ·)∈Pm! m≥0�
4/ ����
���
�� ��  � & � �/ ����
���
�� (+*) � (++) � �� A+

p,q(z) ≈ A−
p,q(z)! 	�� ��
���
��

��������
�
���� 
� /������ �� z > 0! ������ �������� ��������
�
���� ����
���
�� *) � +)�
>���
� ������ ��������
�
���� ����
���
�� &) � *)� <���� ���
���
 (*) �� �����
 �/

Lp(I) � Lq(I)! ��	�� �
 �	
�
�#�
� 7����������
�! � ���� ���
� � ? �����
�
� ������� A+
p,q <

<∞! � �/ (*@) ��������! #�� ���
���
 Km �	
�
�#�
 �/ Lp(I) � Lq,μu(I)! 	�� μ ,  �
� .�"�	��
>�	�� �/ ���
� � 1′ �������! #�� ��� z > 0 Ki(z, ·) ∈ Lp′(0, z)! u(·)Km,i(·, z) ∈ Lq(z,+∞)! i =
= 0, 1, . . . ,m! 	�� ��
���� u(·), Km,i(·, ·)! Ki(·, ·)! i = 0, 1, . . . ,m− 1 �/ (@)! (&1)�

<���� {zk} , �������������
���� ��#�� �/ I �����! #�� zk → 0 �
� k → ∞� <����

�� gk(·) = χ(0,zk)(·)Kp′−1
i (zk, ·)! 0 ≤ i≤m � 
��� ��
� ��
���� fk(·) = gk(·)/‖gk‖p� >�� ���

‖fk‖p = 1! �� ∣∣∣∣∣∣
∞∫
0

ϕ(x)fk(x)dx

∣∣∣∣∣∣≤
⎛
⎝ zk∫

0

|ϕ|p′dx
⎞
⎠

1
p′

∀ϕ ∈ Lp′(I).

<���� � �������������
���� {fk} �/ Lp(I) ���"� �������� � 
���� >�	�� � ���� �� ����
����
(*) �/ Lp(I) � Lq(I) �������������
���� {Kmfk}⊂Lq(I) ����
� �������� � 
���� 5� ��
���
��
(*@)

lim
k→∞

‖Kmfk‖q,μu = 0. (+0)

<��������

‖Kmfk‖q,μu ≥
⎛
⎝ ∞∫

zk

⎛
⎝ zk∫

0

Km(x, s)fk(s)ds

⎞
⎠

q

uq(x)d(x)

⎞
⎠

1
q

≥ ((7))≥

≥
⎛
⎝ ∞∫

zk

|u(x)Km,i(x, zk)|qdx
⎞
⎠

1
q
⎛
⎝ zk∫

0

K
p′
i (zk, s)ds

⎞
⎠

1
p′

= Am,i(zk, μu), 0 ≤ i≤m,

�� 
� ��
���
�� ��  � & � �/ (+*)! (+0) � �� lim
k→∞

A+
p,q(zk) = 0� 3����� � ���� �
��/����
����

�������������
���� {zk} �������! #��

lim
z→0

A+
p,q(z) = 0. (+;)

4/ �� ����
���� ���
���
� Km �/ Lp(I) � Lq(I) ������� �� ����
���� �/ Lq′(I) � Lp′(I)
���
���

�	� ���
���
� K∗

m� <���� ����
� {zk} , �
��/����
�� �������������
���� �/ I ���

���! #�� lim
k→∞

zk = ∞� <����� g̃k(·) = χ(zk,∞)(·)uq−1(·)Kq−1
m,i (·, zk) � 
��� ��
� ��
����



0* 2� 3� 3�
�
��

f̃k(·) = g̃k(·)
‖g̃k‖ q′

� >�� ��� ‖f̃k‖q′ = 1! ��

∣∣∣∣∣∣
∞∫
0

ψ(s)f̃k(s)ds

∣∣∣∣∣∣≤
⎛
⎝ ∞∫

zk

|ψ(s)|qds
⎞
⎠

1
q

, ∀ψ ∈ Lq(I),

#�� ����/����� ���"�� ����� ���� � 
��� �������������
���� {f̃k} ∈ Lq′(I)� >�	�� � ����
�� ����
���� K∗

m

lim
k→∞

‖K∗
mf̃k‖p′ = 0. (+A)

$ ���� 
�
���
��� (&1) � (A) � �� 

‖K∗
mf̃k‖p′ ≥

⎛
⎜⎝

zk∫
0

⎛
⎝ ∞∫

zk

Km(x, s)f̃k(x)dx

⎞
⎠

p′

ds

⎞
⎟⎠

1
p′


Am,i(zk, μu), 0 ≤ i≤m.

3����� � �/ (+A)! ��� � ���#�� (+;)! ����#�� ! #�� lim
z→∞A+

p,q(z) = 0� >��� �"
�/� ! ��
��

������� � �������� 1) → 2)� >���
� ������ �"
��
�� � �������� 2) → 1)� <���� ��
�
���
���
� (*) Km(·, ·)∈Pm! m≥0 � �����
�
� ����
���
�� *) ���
� � 5� 4/ ������� A+

p,q <∞!

� ��
���
�� ���
� � ? ���
���
 (*) 
��
�
��
� ��������� �/ Lp(I) � Lq(I)� $ ���� ���
� �
9
������� �	�
��� %*! ��+AB' ��� �� ����
���� ���
���
� (*) �������#
� �����
�
�� ������
���� �������

lim
y→∞

⎛
⎝ ∞∫

y

⎛
⎝ x∫

0

Km(x, s)f(s)ds

⎞
⎠

q

dx

⎞
⎠

1
q

= 0, (+B)

lim
h→0

‖Kmf(· + h) −Kmf(·)‖q = 0 (+@)


��
� �

� ��
�������
� f ∈ S = {f : f ∈ Lp(I), ‖f‖p = 1}�
<���� y > 0� 2��� ��
�  �
� dμ∞(x) = χ(y,∞)(x)dx� <� ���
� � & ��
�������� ���
��

‖Kmf‖q,μ∞ =

⎛
⎝ ∞∫

y

⎛
⎝ x∫

0

Km(x, s)f(s)ds

⎞
⎠

q

dx

⎞
⎠

1
q

	A+(μ∞), ∀f ∈ S. (C1)

>�� ��� A+(y, μ∞) ≥ A+(z, μ∞) �
� y ≥ z � A+
p,q(z) → 0 �
� z → ∞! �� ���������� ��#��

zy : y ≤ zy <∞ �����! #�� A+(μ∞) = A+
p,q(zy)� 7����������
�! �/ (C1) �
� y → ∞ � �� (+B)�

>���
�! �����  �
� dμ0 = χ(0,y)(x)dx! 
� ��
���
�� ���
� � & ����#�� ���
��

‖Kmf‖q,μ0 =

⎛
⎝ y∫

0

(∫ x

0
Km(x, s)f(s)ds

)q

dx

⎞
⎠

1
q

	A+(μ0), ∀f ∈ S. (C&)

<�������� A+(μ0) = sup
z>0

A+(z, μ0) �

A+(z, μ0) =

⎧⎪⎨
⎪⎩

0 �
� z ≥ y( y∫
z

(∫ z
0 K

p′
m(x, s)ds

) q
p′
dx

) 1
q

�
� 0 < z ≤ y
,



�
���
�� �� ����
���� ��
�	� ������ �
��	
���
�� ���
���
�� ������

�����	� ���� 0+

�� A+(z, μ0)≤A+
p,q(z) � A

+(μ0)≤ sup
0<z<y

A+
p,q(z)� <�������� lim

z→0
A+

p,q(z) = 0! �� ���������� ��#��

zy! 0 < zy ≤ y �����! #�� A+(μ0) ≤A+
p,q(zy)� 7����������
�! �/ (C&) � �� 

lim
y→0

⎛
⎝ y∫

0

⎛
⎝ x∫

0

Km(x, s)f(s)ds

⎞
⎠

q

dx

⎞
⎠

1
q

= 0 (C*)


��
� �

� ��
�������
� f ∈ S�
<���� ε > 0! 0 < δ0 < 1! 0 < α < β <∞ � |h| < δ0� >�	��

‖Kmf(· + h) −Kmf(·)‖q ≤
⎛
⎝ β∫

α

|Kmf(x+ h) −Kmf(x)|qdx
⎞
⎠

1
q

+

+

⎛
⎝ α∫

0

|Kmf(x+ h)|qdx
⎞
⎠

1
q

+

⎛
⎝ α∫

0

|Kmf(x)|qdx
⎞
⎠

1
q

+

⎛
⎜⎝

∞∫
β

|Kmf(x+ h)|qdx

⎞
⎟⎠

1
q

+

+

⎛
⎜⎝

∞∫
β

|Kmf(x)|qdx

⎞
⎟⎠

1
q

= I1 + I2 + I3 + I4 + I5. (C+)

5� ��
���
�� (+B) � (C*) ��"�
� #���� α! β ���! #��"� �
� ���� |h| < δ0 � �
� ���� f ∈ S

Ii ≤ ε

6
, i = 2, 3, 4, 5. (CC)

3��
� I1� 4 �� 

I1 ≤
⎛
⎝ β∫

α

∣∣∣∣∣∣
x+h∫
x

Km(x+ h, s)f(s)ds

∣∣∣∣∣∣
q

dx

⎞
⎠

1
q

+

⎛
⎝ β∫

α

∣∣∣∣∣∣
x∫

α

|Km(x+ h, s) −Km(x, s)|f(s)ds

∣∣∣∣∣∣
q

dx

⎞
⎠

1
q

+

+

⎛
⎝ β∫

α

∣∣∣∣∣∣
α∫

0

Km(x+ h, s)f(s)ds

∣∣∣∣∣∣
q

dx

⎞
⎠

1
q

+

⎛
⎝ β∫

α

∣∣∣∣∣∣
α∫

0

Km(x, s)f(s)ds

∣∣∣∣∣∣
q

dx

⎞
⎠

1
q

= I11+I12+I13+I14. (C0)

<
� �
�� 
�
���
���� D�����
�! ����#� =

I13 ≤

⎛
⎜⎝

β∫
α

⎛
⎝ α∫

0

Kp′
m(x+ h, s)ds

⎞
⎠

q
p′

dx

⎞
⎟⎠

1
q

≤A+
p,q(α+ h),

I14 ≤

⎛
⎜⎝

β∫
α

⎛
⎝ α∫

0

Kp′
m(x, s)ds

⎞
⎠

q
p′

dx

⎞
⎟⎠

1
q

≤A+
p,q(α).

$ ���� 
���
���� lim
z→0

A+
p,q(z) = 0 �#���� ! #�� #���� α ��"
�
� ���! #�� 
� 
��� � ���
�� �

(CC) �����
����� ���
��

I13 ≤ ε

9
, I14 ≤ ε

9
(C;)

��� ���� |h| ≤ δ0 � ��� ���� f ∈ S�



0C 2� 3� 3�
�
��

<
����! #� ��
���� � ���
�� ����#�
 I11 � I12! ������ ! #��

β∫
α

⎛
⎝ ∞∫

s

Kq
m(x, s)dx

⎞
⎠

p′
q

ds <∞. (CA)

4/ ����
���
�� *) ���
� � 0 � �/ ��  � &! � ����� �/ (+*)! 	�� μ ,  �
� .�"�	�! ��������!
#��

∞∫
t

uq(x)Kq
m,i(x, t)dx <∞,

t∫
0

K
p′
i (t, s)ds <∞, i = 0, 1, . . . ,m (CB)

��#�� ��� ���� t > 0! 	�� ��
���� u(·)! Km,i(·, ·)! Ki(·, ·)! i = 0, 1, . . . ,m �/ (@)� E��� �#�����!
#�� �
� t = α � t = β � ���  ���� (CB)�

4/ 
�
���
��� (@)! (&1) ����#� 

Km(x, s) 	
m∑

i=0

u(x)Km,i(x, s)Ki(s, s).

3����� � ���� 
���/
����
�� �� ���
� � �
	� �
�� ��
���� Km,i(·, ·)! i = 0, 1, . . . ,m− 1

∞∫
s

Kq
m(x, s)dx	

m∑
i=0

∞∫
s

uq(x)Kq
m,i(x, s)dxK

q
i (s, s) ≤

m∑
i=0

K
q
i (s, s)

∞∫
α

uq(x)Kq
m,i(x, α)dx. (C@)

>�� ��� Ki(t, s) ≥Ki(s, s)! i = 0, 1, . . . ,m, �
� t≥ s! �� �/ (CB) � �� 

β∫
0

K
p′
i (s, s)ds <∞, i = 0, 1, . . . ,m. (01)

4/ (C@) � (01) ������� (CA)�

5� �	
�
�#���� �"�
����! �#���� ! #�� 0 < h < δ� 5� ��
���
�� 
�
���
��� 8�
������	�
� D�����
� ����#� ���
��

I11 =

⎛
⎝ β+h∫

α+h

∣∣∣∣∣∣
x∫

x−h

Km(x, s)f(s)ds

∣∣∣∣∣∣
q

dx

⎞
⎠

1
q

≤
β+h∫
α

|f(s)|
⎛
⎝ s+h∫

s

Kq
m(x, s)dx

⎞
⎠

1
q

ds≤

≤

⎛
⎜⎜⎝

β+h∫
α

⎛
⎝ s+h∫

s

Kq
m(x, s)dx

⎞
⎠

p′
q

ds

⎞
⎟⎟⎠

1
p′

, (0&)

I12 ≤
β∫

α

|f(s)|
⎛
⎝ β∫

s

|Km(x+ h, s) −Km(x, s)|qdx
⎞
⎠

1
q

ds≤

≤

⎛
⎜⎜⎝

β∫
α

⎛
⎝ β∫

s

|Km(x+ h, s) −Km(x, s)|qdx
⎞
⎠

p′
q

ds

⎞
⎟⎟⎠

1
p′

. (0*)



�
���
�� �� ����
���� ��
�	� ������ �
��	
���
�� ���
���
�� ������

�����	� ���� 00

>�� ��� lim
h→0

s+h∫
s
Kq(x, s)dx = 0 ��� ��#�� ���� s > 0 �

s+h∫
s

Kq(x, s)dx≤
∞∫
s

Kq(x, s)dx, α≤ s≤ β + h,

�� 
� ��
���
�� (CA) � ���
� � .�"�	� %+! ��+1*' � �
�����
� ��
����� ��� /
��� �
��	
���
�/ (0&) � �� lim

h→0
I11 = 0�

<���� � ���������� δ1 = δ1(ε)= 0 < δ1 ≤ δ0 ����� #��

I11 ≤ ε

9
(0+)

�
� ���� |h| ≤ δ1 � �
� ���� f ∈ S�
$ ���� 
��
�
��
���� ��
���� f ∈ Lq(I) �� 
�
 � ‖ · ‖q ��� ��#�� ���� s > 0 � �� 

lim
h→0

β∫
s

|Km(x+ h, s) −Km(x, s)|qdx = 0. (0C)

>�� ���
β∫

s

|Km(x+ h, s) −Km(x, s)|qdx	 2

∞∫
s

Km(x, s)dx, α≤ s≤ β,

�� �/ (CA)! (0C) 
� ��
���
�� ���
� � .�"�	� %+! ��+1*' ����#� lim
h→0

I12 = 0� 7����������
�!

���������� δ2 = δ2(ε)= 0 < δ2 ≤ δ0 ����� #��

I12 ≤ ε

9
(00)

�
� ���� |h| ≤ δ2 � �
� ���� f ∈ S�
4/ (C+)! (CC)! (C0)! (C;)! (0+) � (00) � �� 

‖Kmf(· + h) −Kmf(·)‖q ≤ ε �
� |h| ≤ δ = δ(ε) = min{δ1, δ2}


��
� �

� ��
�������
� f∈S! �� �� �����
�
� (+@)� >��� �"
�/� ! �/ ����
���
�� *) ���
� �
0 �������� ����
���
�� &) ���
� � 0� >��
� � 5′ ����/�
��

������������ ����������

�� ������� �	 //  �������0��	�� 1��
��� ������� ����� 2 �� 3�� 4� "� 5 6��

�� 
���
� �	 7�
	���
���
�� �
�����  �� �86�� 6�� ��

�� ���������� �	�	� ����� �	�	 9����
�� ������ :�
	��� � :�
	���
���
�;� �
������

 �� �8<�� "�� ��

��������� $ ����!+�, �-�	
��		�#�
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����
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	�� �����	��� ����������

���	�����	��� ������

�� �� �����	
���

� �� �� ����	��

�������� ���	����
� ��
 ��

������� ������� ���
��� ���� ���� ���� !�� "�#$

����������	
 ���
 �� �����
��� ���	���
	���

� ��
����
�� ��	����
�� ������ ����
��

�
 �������
� � ���� �
����������� 	�	���� ����
���

�� �������
�����
�� ����
�
���

�� ��		���������	
 	�	����

ṅi =
N∑

j,k,l=1

σij
kl(nknl − ninj), i = 1, . . . , N, � !

��� σij
kl " ��	��


�� ����#�
�$ ����������
%&�� �	����
�

σij
kl ≥ 0, σij

kl = σkl
ij , σ

ij
kl = σji

kl, σ
ii
kl = 0

'�
 ������	�� ����
�#�� 	�	���� � ! ��� ṅ = f(n)$ ��� n ∈RN �
������

�� n1(t), . . . , nN (t) " ����
�	�� #�	��� � ����
� �����
� t$ ������%&�� 	����	�
�

�� v1, . . . , vN $ 	������	���

�� (�	���� 
����
�	
 � ���	���
	��� R3 � �� 	����
���
�� ����
�	����� �� ����
� ��	��%�
� �������� ���������	���
� ������������	
$ #�� 	����	�� #�	���
�����#
� � �
�)�	��� �	�� 	����	��� ����
��� ��
�	�����
� 	����
���
��$ �� �	�� �%���
���� 	�������%&��	
 #�	��� 	� 	����	�
�� vi, vj ������%� ��
���
�� #�	��� 	� 	����	�
�
�� vk, vl �� ���� )� �
�)�	��� 	����	���� *�	���� � ! 
��
��	
 ���	���
	���

� ��
����
��
��	����
�� ������% ����
�
�
 �������
�$ ������)�

�� � + ,�

- 	��� ��������)�
�
 �� ��	��%�
� ������� ���������	���� #�	���$ 
� ��		����������%
������ 
��� 
���)��� 
�������� ����
�#�
�
� '�
 �%���� 	����
���
�
 #�	���$ ��������
	������	����� ����)�����
�� �
�#�
�� ��.������
�� σij

kl$ 	����	�� vk, vl 	�
��
� 	� 	����	�
�
�� vi, vj 	���
�/�
��� vi + vj = vk + vl� 0�	%�� 	������$ #�� �	� ��
����

�� �����
�
��
	����	��� ���)
� ����������
�� ��
��
�� 	�	���� ��������#�	��� ����
�
��

xi + xj − xk − xl = 0, �1!

��� �
���	� i, j, k, l ���
���%� �	� �
�#�
�
$ ��
 ������� σij
kl > 0�

��������	 ����������	 �
������
 �����	�� �����
 ��������� ���


��� �
����
���� ������� ��
�����
����	 ������ ���� 

�© �� �� ����	
��
���� �� �� ����
��� �����
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��	�� A" ������� .��� 	�	����$ r" �� ��
�� *�	���� �1! ����� �#����
�� 
�
������ ��/��

�� 	 ���
��� ��)�� 	���� �����
�
����� *����������
�$ �	�� #�	�� ����
�
�� 	�	���� �1!
����/� N $ �� �	� ��
��� N4�� ���
��� ���
� 
��% �$ �	�� #�	�� ����
�
�� 	�������� 	 N $
�� ������������ ������� A ����
 
��%� ��.���� r < N � '����$ ��� r = N − 1 ���	���
	���
��/�
�� 	�	���� �1! ��
����
�$ �
�#��$ 
������ 
���������
�� ��/�
�� 	�	����$ ����� ���
��/�
�� 	 ���
��� ������
�����$ 
� 	�&�	������ 5� ����� 	 �#���� ��	��%�
� �������� ����
������	���
 #�	���$ �����
�
�� �� 	����	��� ���)
� ����������
�� 	�	���� �1!$ �� �	�� �	�
	����	�� ���
�� 6 .��$ � 	��% �#�����$ �������� � ����)��

��� 	��#�% �σij

kl = 0!$ �� �	��
��	��	���% 	����
���
��� 7
�#�� r < N − 1�

-������ � 	�	���� �1! r ��
��
� 
�����	���� 	���� � �����	�� �	� ������� ����#��
	�	���� ����
�
�� 	 
�������� �������� A1$ ���
�	���
�% �	���
���

8� 	�	���� �1! 	������ ���)�$ #�� �%��� #������� �
���	�� i, j, k, l 	������	����� ������
��
� 	����
���
��� '��	�������
�$ �	�� ����� 	����
���
�
$ �������� 	������	����� ����
��

�� xi + xj − xk − xl = 0$ 	�&�	����� � ������ 	����
���
��$ �� ��� 	������	����� ���)� �
������ ����
�
��$ 
�������$ xi + xk − xj − xl = 0� *�������
 ��$ ����#��� ����
�
�� 2xi −
− 2xl = 0� 0�	%�� xi = xl� 5� ����� � xk = xl� ��.���� vi = vl � vk = vl$ � .�� ���������#��
��������)�
�%$ #�� ���
�� �
���	�� ����#�%� ���
�� 	����	��� 8���$ �%��� ��� #�������
�
���	�� i1, j1, k1, l1 � i2, j2, k2, l2$ 	������	���%&�� ���
�� 	����
���
�
�$ ����� ����� 
�
����� ���� ��&�� �
���	���

*�	���� �1! �������
�� ���)� � ��
��
�� ������ �
������� 	�	���� � !� '��	�������
�$
��	�� x = (x1, . . . , xN ) " ���������
�� ������ �� RN � 9���� ��
 �%���� n ∈ RN ����� ��	��
	����%&�� ����
	���

(f(n), x) =
1
4

N∑
i,j,k,l=1

σij
kl(xk + xl − xi − xj)(nknl − ninj), �:!

������� ����#���	
 �� ����
	��� (f(n), x) = 1
4

N∑
i,j,k,l=1

σij
klxi(nknl − ninj) ��	����������
�� ���

��
�� �
���	� 	��������
�
 i 
� j, k, l � 	��)�
��� ����#�

�� ����� ������� #������
	���
�/�
�� ��
 (f(n), x)� 8� �:! 	������$ #�� �	�� x " ��/�
�� 	�	���� �1!$ �� (f(n), x) = 0
��
 �	�� n∈RN � ��.���� ��
 �%���� x∈L$ ��� L " ���	���
	��� ��/�
�� 	�	���� �1!$ ����
�
	��� (n, x) = C �������
�� ������ �
������ 	�	���� � !� 7������$ #�� ���	���
	��� L �����

�
�����% ������
�	���

*�	���� �1! �������
�� ���)� � �
�)�	��� �	���� ��#�� 	�	���� � ! 	 ����)�����
���
������
������ *�&�	����� �#����
�� ������� �������
���
 �	���
 ��#�� 	�	���� " 
�#���
������
��� '���	���$ #�� 	�	���� � ! ����� � ��
�	� K = n1 ≥ 0, . . . , nN ≥ 0 �	���% ��#�� n0$

� �	� ������
��� ������� ���
� 
��%� 9����$ �	�� �	� �
� ����)�����
�$ �� ����
	��� �:!$
����
�#�
 xi = lnn0

i , i = 1, . . . , N $ ����#���

(f(n0), x) =
1
4

N∑
i,j,k,l=1

σij
kl ln

n0
kn

0
l

n0
in

0
j

(n0
kn

0
l − n0

in
0
j ) = 0. �;!

8� �;! 	������$ #�� ��)��� 	�������� ����&���	
 � 
���$ � 	��� 
�����������
�	��� *�������
����
�$ ������
��� �	���� ��#�� n0 ����������
%� 	�	���� ����
�
��

n0
kn

0
l − n0

in
0
j = 0, �2!

��� �
���	� i, j, k, l ���
���%� �	� �
�#�
�
$ ��
 ������� σij
kl > 0� 9���� �� ��������$ �� �	��

xi = lnni
0, i = 1, . . . , N $ �#����
�$ ����������
�� 	�	���� �1!�

<	�� 	���� ������
�� �	���� ��#�� n0 �	�� 
������$ �� � .��� 	��#�� �	���
 ��#�� �����
���
��	
 ��� ��/�
�� ����
�
�
 �2!� '��	�������
�$ ��� 
���/�
�
 ��&
�	�� ��)
� �������
��)���$ #�� n0

1 = · · · = n0
m = 0$ � n0

m+1 > 0, . . . , n0
N > 0$ ��� 1 < m < N � 9���� � ������



2= >� 8� ������������$ 6� 6� ?������

m ����
�
�
� 	�	���� � ! �	� 	�������� � ������ #�	�� 
� ����� 	����)��� #��
�� 	 �����

������
�� �
����$ ��.����
N∑

j,k,l=1

σij
kln

0
kn

0
l = 0$ i = 1, . . . ,m� ��	���
�� ���#�� ����&�
�� �


��� �	�� 	�������� .��� 	����$ � .�� ��
�#���$ #�� �	� ���
�	�� (n0
kn

0
l − n0

in
0
j )$ ����
&��

� ������ m ����
�
�� 	�	���� � !$ ����&�%�	
 � 
���� 9����� ��		������ �	� ������ ����

�	��$ 	����)�&��	
 � 	�	���� � !� 7������$ #�� �
� 
� 	����)�� ������
�� n0

s ��#�� n0 	

������� s≤m� ��.����$ �	�� ��		������� 	�	����$ 	�	��
&�% �� ��	���
�� m−s ����
�
��
� ����)��� n0

kn
0
l − n0

in
0
j = 0$ ��� �
���	� i, j, k, l ���
���%� �
�#�
�
 1, . . . ,m$ �� ����#��

���	�	���� 	�	���� � !$ � ������� �	���� ��#��� 
��
��	
 ��#�� 	 ����)�����
��� �����
��
����� n0

m+1, . . . , n
0
N � �����
�� � .��� ���	�	���� ��		�)��
�
$ �
�����#
�� 	�	���� � !$

�	
���

�� 
� ����
	��� �;!$ �������� � ������ $ #�� �	� ������
��� ��#�� n0 ����������
%�
	�	���� �:!$ � �� �������� " 	�	���� �1!$ 	������	���%&�� ���	�	���� 	�	���� � !� 0#����
�$
#�� 	���������� � �����
�� �����)��
��$ �� �	�� �%��
 ��#�� n$ ������
��� ������� �������
����
%� 	�	���� �2!$ 
��
��	
 �	���� ��#��� 	�	���� � !$ � .�	��
�
�� ������
�� ��/�
��
	�	���� �1! �������
%� �	���� ��#�� 	 
�
������� ������
������

9�� ��� ������	���
	��� L ���	���
	��� RN �	���� ����� 
�
�����% ������
�	�� � ����
��� f(n) ������
���
 L ��� �%��� n$ �� �����)�
�� RN = L ⊕M $ ��� M " ������
���
��
�����
�
�� � L$ ������$ #�� 	���� ������	���
	��� M 
� ������ x$ �� �	�� ���	��	�� x + M

��
��	
 �
�����
�
�� �
�)�	���� 	�	���� � !� 7������$ #�� ��
�	 K 
��
��	
 �
�����
��

�� �
�)�	���� ��� �����	��
�� �����
� �	��+1,!� ��.���� � (x + M) ∩ K " �
�����
�
��
�
�)�	��� 	�	���� � ! ��
 �%���� x ∈ L ��� t ≥ 0� <	�� ���	��	�� x + M 	����)�� ��#�� 	
����)�����
��� ������
�����$ �� 	���� 
�� �	�� �	���
 ��#�� 	�	���� � ! ���/�
�� 	�	����
�2!!$ ���#�� ����
 ��#�� ���
	���

� �	��+1,!� * ������ 	����
�$ ��
 �	
��� �	���� ��#�� 	
����)�����
��� ������
����� 
�����	
 x ∈ L$ #�� .�� �	���
 ��#�� ���
����)�� ���	��	��
(x+M)�

��	�� n∗ " ���������
�
 
��	���
 ��#�� �� ��
�	�K� 9���� n∗∈x+M ��
 
��������� x∈L$
� ���������
 	�	���� � ! n(t) 	 �	������ n(0) = n∗ ���
����)�� �
�)�	��� x+M∩K ��� �	��
t≥ 0� @�� �
�)�	��� 	����)�� ���
	���

�% �	���% ��#�� n0 	�	���� � ! 	 ����)�����
���
������
����� � ������
 
��
��	
 �� ���
	���

�� ω4�������
�� ��#��� �	��+1,!�

-����� ������

�% z(t) = n(t) − n0� 9���� z(t) ∈M 
��
��	
 ��/�
��� 	�	����

ż = f ′n(n0)z + f(z). �A!

'��	�������
�$ ��
 �%���� 	��������� � ������ #�	�� i4�� ����
�
�
 	�	���� � ! h(n) =
= σij

kl(nknl − ninj) �����

��	
 	���
�/�
��

h(n) = σij
kl((nk − n0

k + n0
k)(nl − n0

l + n0
l ) − (ni − n0

i + n0
i )(nj − n0

j + n0
j )) =

= σij
kl(zkn

0
l + zln

0
k − zin

0
j − zjn

0
i ) + σij

kl(zkzl − zizj) =

= (zk
∂h(n)
∂nk

|n=n0 + zl
∂h(n)
∂nl

|n=n0 + zi
∂h(n)
∂ni

|n=n0 + zj
∂h(n)
∂nj

|n=n0) + h(z) =
N∑

s=1

∂h(n0)
∂ns

zs + h(z).

*������
 ����#�

�� 	���
�/�
�
$ ��
 �	�� 	�������� ����#��� ����
	��� f(n) = f ′n(n0)z+
+ f(z)� * �#���� ����
	��� z′(t) = n′(t) �������� � ������$ #�� z(t) �	�� ��/�
�� 	�	���� �A!�
7������ ���)�$ #�� � 	��� ����� �� +:, ������	���
	��� M 
��
��	
 	��	���

�� �������
	���
	���� ������� f ′n(n0)�

�� 7��	� �� ������ 
�������� #�	�
�� 	��#�� 	�	���� � !� ��		������ 	�	���� ����������
	���%&�� #�	��� � ��������)�
��$ #�� �%��� ��� ���
�� #������� �
���	�� ������
�� ��
	����	���$ 	������	���%&�� ���� 	����
���
�
� �����)�����
�� ��.������
��� 	�	����
� !! ���%� ��� ��&�� �
���	�$ ���� 
� ���%� 
� ��
��� ��&��� �
���	��
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� ��
����
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 ��	����
�
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�
�
 �������
� 2B

��������)��$ #�� �
�)�	��� #�	���$ ��
����� ����
�	��� ������� ���	����� 	�	����
� !$ ��)
� ����	������ � ���� ���� ����
�)�	��� ��	�� ������ ����
�)�	��� 	����)�� #�	���
�� 	� 	����	�
�� vi1 , . . . , vip $ ������ " 	� 	����	�
�� vj1 , . . . , vjp � (�	���� �� �%���� ����
�)��
	���$ 	�������
	�$ �������
� � ������ ����
�)�	���� *#����� ���)�$ #�� �%��� 	����
���
��
�������� � ��
���
�% ������ ��
�� ���� 	����	����

*�	���� � ! ��� ����� �����
�� ���������	���
 #�	��� ��)�� ���� ����
� � 	����%&��
����

ṅ2k−1 =
s∑

k=1

σ2k 2k+2
2k−1 2k+1 (n2kn2k+2 − n2k−1n2k+1),

ṅ2k =
s∑

k=1

σ2k 2k+2
2k−1 2k+1 (n2k−1n2k+1 − n2kn2k+2).

�3!

7��	� N = 2s+ 2� 0���
�#�� .�� 	�	���� ṅ = F (n)�
>������ 	�	���� � !$ 	������	���%&�
 ��

�� 	�	����$ ����� ��� ��	����
�%! ��
� s$

��.���� s = r$ �� �	�� ������� A 	�������� 	 �������� A1�

� � � � � � ���� ��� ���������� x∈L ��������� (x+M)∩ intK ������� �� ��� �!"���

n∈ (x+M)∩ intK ����� ����� ��������� F (n−n0) = 0 ��� n0 � ���"�� ��#�� ������� �3! 
����������$�� ��������� (x+M) ∩ intK�

�	
 � � � � � 
 � � � � 	 � ��	�� ��
 
��������� x ∈ L �
�)�	��� (x +M) ∩ intK 
���	���
9���� � .��� �
�)�	��� 	�&�	����� ���
	���

�
 �	���
 ��#�� n0 	�	���� �3! 	 ����)������

��� ������
������ <	�� n " ���������
�
 ��#�� �� .���� �
�)�	���$ �� z = n − n0 ∈M �
*�	���� �������� e1, . . . , es 
��
��	
 ����	�� ���	���
	��� M $ ��	������C  ! ��� ��	����
��
��

�� 	�	���� ��)��� ��	����%&�� ������ 	����)�� ��� ����#
�� �� 
��
 ������
���$
������� ���
� 
��% � �	�� �������&�� ��������$ 	����������
�$ �
� ��
��
� 
�����	���D 1!
� 	��� 	�	���� �1! 	���������� ����
	��� (ei, x) = 0 ��
 �%��� i∈ 1, . . . , s$ x∈L$ #�� ��
�#���
�� ���
����)
�	�� � ������
���
��� �����
�
�% ������	���
	��� L$ �� �	�� � M �

��.���� ������ z �� M ����	����� � ���� z = ϕ1e1 + · · ·+ϕses� 9�� ��� ������� e1, . . . , es$
��
��
�#
� �������
���� ��.������
���� 	�	���� �3!$ ���%� ��� ep = (0, . . . , 0, 1−1, 1,−1, 0,
. . . , 0)$ ��� 
�
������ ������
��� 
�#�
�%�	
 	 
����� 2p− 1$ �� 	���������� 	���
�/�
�


z1 = ϕ1, z3 = ϕ1 + ϕ2, z2p+1 = ϕp + ϕp+1, p = 1, . . . , s− 1, z2s+1 = ϕs,

z2 = −ϕ1, z4 = −ϕ1 − ϕ2, z2p = −ϕp−1 − ϕp, p = 2, . . . , 2s− 2, z2s = −ϕs.
�=!

<	�� ���	������ �
�#�
�
 zi �� 	���
�/�
�� �=! �� �	� 	��������$ ������� 	����)��	
 �
F $ �� ����#��� z1z3−z2z4 = ϕ1(ϕ1 +ϕ2)− (−ϕ1)(−ϕ1−ϕ2) = 0$ z2k−1z2k+1−z2kz2k+2 = (ϕk−1 +
+ ϕk)(ϕk − ϕk+1) − (−ϕk−1 − ϕk)(−ϕk − ϕk+1) = 0, k = 2, . . . , 2s − 2D z2s−1z2s+1 − z2sz2s+2 =
= (ϕs−1 + ϕs)ϕs − (−ϕs−1 − ϕs)(−ϕs) = 0� ��.���� � F (z) = 0 ��
 �%���� z ∈ M � E����
������
��

�� 	 � � � � � %!"�� �����"�� ��&���� ������� �3! n(t) � �������� n(0) ∈K ����� ���

n(t) = n0 + exp(F ′
n(n0)t)(n(0) − n0),

��� n0 � ���"�� ��#�� ������� � ���������'���� ������������ ����������$�� ����

�� ��������� x+M ∩K #�� � n(0)�

�	
 � � � � � 
 � � � � 	 � ��	�� n∗ " ���������
�
 ��#�� ��
�	� K � 
��	���
 ��
 	�	����
�3!� 9���� n∗ ∈ x+M ��
 
��������� x∈L� 9�� ��� ���	��	�� x+M 
��
��	
 �
�����
�
��
�
�)�	����$ �� ���������
 	�	���� �3! n(t) 	 
�#���
�� �	������ n(0) = n∗ ���
����)��
.��� ���	��	�� ��� �	�� t ≥ 0� '�

�
 ���	��	�� 	����)�� ���
	���

�% �	���% ��#�� n0

	�	���� � ! 	 ����)�����
��� ������
������ -����� ������

�% z = n − n0� 9���� ��




AF >� 8� ������������$ 6� 6� ?������

�%���� n ∈ x+M ����� ��	�� ���%#�
�� z ∈ x+M � ?�� ������
� ��/�$ z(t) = n(t)− n0 �	��
��/�
�� 	�	���� ż(t) = F ′

n(n0)z + F (z)� 8� ����� 	������$ #�� F (z) = 0$ ��.���� z(t) �	��
��/�
�� ��
��
�� 	�	���� 	 ��	��


��� ��.������
���� ż = F ′

n(n0)z$ �� �	�� ��� z(0) ∈
∈M �� ��/�
�� ����)���	
 � ���� z(t) = exp(F ′

n(n0)t)z(0)� 0�	%�� � 	������ �����)��
��
�������� 9������ ������
��

� � � � � � � � � � () ����� � +:, ������� #�� �����*� F ′
n(n0) ����� ������� �����

+�����������#������ ��������� � M ���' ��"�������� ��������������� ����#�!$�� ��,

��*����'��� ��"�������� )��#������ -�.���� ������ �����"�� ��&���� n(t) ������� �3!

� �������� n(0) ∈ K ����� � ���� ������� ��� n(t) = n0 +
s∑

k=1

Ck exp(λk(n0)t)� -�� .���

�������������� #�� n(0)−n0 =
s∑

k=1

Ckek ���' ��)������� ������� n(0)−n0 �� ��"��������

�������� e1, . . . , es �����*� F ′
n(n0) � ������������ M  � λ1(n0), . . . , λs(n0) � �����������,

!$�� �� ����*����'��� ��"�������� )��#�����

����������� !��"���#��

�� ������� ��	�
 ����
��
��� ���� %% &�'	(� ���	�� ���
� �)*�� +� ,-� .,/��)0� 1� � 2 ���

�� 	
���
��
 ����
 �
���������� ���� %% �34	���5 �
6�
 ��� �	7� 8�3�6���� �))*� .��

1� �� 2 ,,�

,� 	
���
� ���� %% �34	���5 �
6�
 ��� �	7� 8�3�6���� �)))� .�� 1� �� 2 ���

-�������� � �����*�! 
��	/��		���



�����������	�
 ��
���� ������� �		�� 
�� �� � 
� �� �
 � ��

��� ������

���������	�� 
����� ���
�	� � ��������
������������	� 	� ������	�� ���	���

�� �� �����	��
�

��� ��� ���	


���
�� ������� ���� �� ���� ��

�� �������	
� ����
�� ����� Ω � ��	
��
���
� ���
��� � Rn, n≥ 2 � �	
����� S� �����
γ(t) � �
�����
� ����	������ � ���
��� Ω, ����	
� ����� �� �
 ��� ������
��� Ω1(t) � Ω2(t)
�
�� 
�� ∂Ω1(t) = S

⋃
γ(t), ∂Ω2(t) = γ(t); γ(0) := Γ, Ωm(0) := Ωm.

�����

�� Ω(m)
T = {(x, t)| x ∈ Ωm(t), 0 < t < T}, m = 1, 2� ST = S × (0, T ), ΓT = Γ ×

× (0, T ), ΩT = Ω × (0, T ), π = {x| |x − y| < d1 x ∈ Ω, y ∈ Γ}, d1 = const > 0, πT = π ×
× (0,T), Π(m) = Ωm

⋃
π, Π(m)

T = Π(m) × (0,T).
����� Lm � �
	
����
����� ���	
��	 ���	��� ��	���


Lm

(
x, t,

∂

∂x
,
∂

∂t

)
=

∂

∂t
−Am

(
x, t,

∂

∂x

)
,

Am

(
x, t,

∂

∂x

)
=

n∑
i,j=1

a
(m)
ij (x, t)

∂2

∂xi∂xj
+

n∑
i=1

a
(m)
i (x, t)

∂

∂xi
+ a(m)(x, t),

����������� ����	��� ���
���!��� ��������

a
(m)
ij = a

(m)
ji ,

n∑
i,j=1

a
(m)
ij (x, t)ξiξj ≥ a0ξ

2 ∀ξ ∈Rn, (x, t) ∈ Ω̄(m)
T ; m = 1, 2; a0 = const > 0.

"	������� �
��� ������� u1(x, t), u2(x, t) � ��������! �	
���� γ(t) �� ��������#

Lm

(
x, t,

∂

∂x
,
∂

∂t

)
um = 0 � Q

(m)
T , m = 1, 2, $%&

um|t=0 = u0m(x) � Ωm, m = 1, 2, $'&

γ(t)|t=0 = Γ, $(&

u1|ST
= p(x, t), $)&

u1 = u2 = αk − βVν x ∈ γ(t), 0 < t < T, $*&

��������	 ������ ����� �	�	
���� �
�	����� ���� 
����	��� ��	� ����	����� �������� �ö���� ��	��


��� �
����
���� ������� ��
�����
����	 �����

�© �� �� ����	
		��� 
��
�



+' ,� -� .
	������


κVν = −λ1(x, t)
∂u1

∂ν
+ λ2(x, t)

∂u2

∂ν
x ∈ γ(t), 0 < t < T, $+&

��� α, β,κ � ����/������ � �������� �� k � �	����� �	�����
 ����	������ γ(t), −→ν � ��	�
��
� γ(t), �
�	
�����
� ����	� Ω2(t), Vν � ���	���� ��	���0���� γ(t) � �
�	
������ −→ν �

1
��
� �
�


 �
�� �
�� ������ ��	����
/����� /����� �
� � �	� ���� ��
������ ��2
0����
 �	�������� �	� �����	
��	� ��/�� 
�� �����	
��	
 ��
�������

3
�
��� 3�4�� 1����	�� .��� ��������
�� �	����	��! �
�

� .���
�
 � �������� 5����
2
"�����
 ��� �	
������ ������	��������� 6%7� 8�� � �� ���
�������� 
��� ���� u0m ∈C4+l, S�

Γ ∈ C5+l, �� um ∈ C2+α,1+α
2 , ρ ∈ C3+α, 3+α

2 �
9
�����
 :�4� 	
�����	�� �
��! �
�

� ��� ����	�������� �
	
����
������ �	
������ �

����	�
����� �	��������� � ������� $+& ��� 	
���	����� �	���	
����
 n = 2, 3 6'7� 8� � ��
���
�
��� 
�� um ∈ C2+l,1+ l

2 , ρ ∈ C4+l,2+ l
2 �	� ��������# u0m ∈ C3+l, S,Γ ∈ C l0 , l0 > l + 4.

"
��� ��	
���� � ��
�
�� � 	
���
� 	
�����	�� �
�

� � ���
���� 	
���	����� ' � (
�	� �
� ;����� ��
������ �
�
�� � ����	������� S � Γ � �


��� � �
�� � u0m � ����
�� 
	
�� � 	������
� �

4 �
����0�� 	
���� ����
�� ��
� � 	������
� � ���� �������	��
� <�
��	= ��/�� ��
�2
�����! �
�
�� � � ��������� � ������� � ���
���� 	
���	����� n ≥ 2. >	��� ����� �
�



��������
�
 � ����� ;�	���� ��
��� ������� � � ����� � �	���	
����
� 5�����	
� � ��� 	�2
;���� ���
������ ���	������ � ������� 8� ����
��� � 	������
���� � 

�������� � ���
��
	
�	�;������ �
�

� � ������ 	�;���� � �� 
� � �	���	
����
� 5�����	
�

����� l � ������� ����/�������� 
����� s ≤ l� ��	������ C l
s(QT ) 6(7?6)7 �
� �
�
����

�	���	
����� ������� u(x, t), ���!0�� ��	��

|u|(l)s,QT
= sup

t≤T
t

l−s
2 [u](l)

Q′
t
+

∑
s<2j0+|j|<l

sup
t≤T

t
2j0+|j|−s

2 |Dj0
t D

j
xu|Ω +

{
|u|(s)QT

, s≥ 0
0, s < 0

, $@&

��� Q′
t = Ω ×

(
t

2
, t

)
,

[u](l)
Q′

t
=

∑
2j0+|j|=[l]

[Dj0
t D

j
xu]

(l−[l])
x,Q′

t
+

∑
0<l−2j0−|j|<2

[Dj0
t D

j
xu]
(

l−2j0−|j|
2

)
t,Q′

t
,

6�7
(α)
x,QT

= sup
(x,t),(z,t)∈Q̄T

|v(x, t) − v(z, t)||x− z|−α,

6�7
(α)
t,QT

= sup
(x,t),(x,τ)∈Q̄T

|v(x, t) − v(x, τ)||t− τ |−α, α ∈ (0, 1),

|v|Q′
t

= sup
(x,t)∈Q′

t

|v(x, t)|,

|u|(s)QT
���	�
 �	���	
����
 5�����	
 C

s, s
2

x t (Q̄T ).

�	� s = l �	���	
����� C l
s(QT ) ���� �	���	
����� 5�����	
 C l,l/2

x t (Q̄T )�

�����
◦
C l

s(QT ) �	� s � 0 ���� ����	���	
����� ������� C l
s(QT ) �
���� 
�� Dk

t u|t=0 = 0,

2k � sA �	� s < 0 ����/��
◦
C l

s(QT ) ≡ C l
s(QT )�

4 �	���	
�����
◦
C l

s(QT ) ��	�
 $@& �����
�����
 ��	�� 6)7

||u||(l)s,QT
= sup

t≤T
t

l−s
2 [u](l)

Q′
t
+ sup

t≤T
t−

s
2 |u|Ω. $B&

.����� 	
���
� 6*7?6@7� ������ �
�

� $%&?$+& � ��������� � ���
���� � �
�

� � �
�
�� �
������	�
����� ���
����� 1�� ����� ������������� �
	
���	��
���� ��������� �	
��� �
���� 6@7

x = ξ + ρ(ξ, t)N(ξ), ξ ∈ Γ, $C&



8�������
��� �
�

� .���
�
 � �������� 5����
2"�����
 �
 ��������� �	
���� +(

��� N(ξ) � �����
��� �����	��� ����� �	��
���/
0�� C∞(Γ)� �	� ���� N ·ν0 ≥ d2 = const > 0
∀ξ ∈ Γ� ν0 � �����
�
� ��	�
�� � Γ� �
�	
�����
� � Ω2�

8��������
��� N(ξ) � �	����
������ ��������� �	
��� $C& ��������� ����/
�� ����	!
��
������ �


����� ��������� �	
��� Γ� ����	
� ����� ����� �	� �
	
���	��
��� D
��
2
� :� � ν0(ξ) ������ N(ξ) � $C& 6*7�

��	������ ������� ����
���
��� ��� �
�

� $%&?$+&� �����

�� Dj
tum(x, t)|t=0 = u

(j)
m (x),

m = 1, 2, Dj
tρ(x, t)|t=0 = ρ(j)(x).

����� um(x, t), ρ(x, t)� 	�;���� �
�

� $%&?$+&� E������ u(j)
m (x) ��	������ �� ������;����

u(0)
m (x) = u0m(x),

u(j+1)
m (x) =

j∑
i=0

Ci
jA(i)

m

(
x, 0,

∂

∂x

)
u(j−i)

m (x), m = 1, 2, $%F&

��� A(i)
m (x, t, ∂

∂x) = Di
tAm(x, t, ∂

∂x), Ci
j = j!

i!j−i! � ������
��� � ����������� �

G������ ����
���
��� ��	���

[

s
2

]
�
 �	
���� S � γ(t) ���
�
����
!��� �� 	
������

u
(j)
1 (x)|S = p(j)(x), j = 0, 1, . . . ,

[
s

2

]
,

Dj
t

(
u1 − u2|x=ξ+ρ(ξ,t)ν0

)∣∣
t=0

= 0, j = 0, 1, . . . ,
[
s

2

]
,

Dk
t

(
u1|x=ξ+ρ(ξ,t)ν0

)∣∣
t=0

= Dk
t

(− α∇ν(x, t)∣∣
x=ξ+ρ(ξ,t)ν0

− β∂tρ
)∣∣

t=0
,

Dk
t

(
λ1(x, t)

∂u1

∂ν
− λ2(x, t)

∂u2

∂ν

∣∣∣∣
x=ξ+ρ(ξ,t)ν0

+ κ∂tρ

)∣∣∣∣
t=0

= 0, k = 0, 1, . . . ,
[
s− 1

2

]

����� �
��/����� ������� ρ(j)(x), j = 1, . . . ,
[

s
2

]
� �����
����� ������ u

(j)
m (x), m = 1, 2

� 	
/���� $%F&�
�	������ ������� ����
���
��� �������� � ��	���� ��	���
 �
 �	
���� S

u01(x)|S = p(0)(x),

A(0)
1

(
x, 0,

∂

∂x

)
u01(x)|S = p(1)(x);

�
 �	
���� γ(t)
u01(x) − u02(x)

∣∣
Γ

= 0,

u01(x)
∣∣
Γ

= −α∇ν0 +
β

κ

(
λ

(0)
1 (x)

∂u01

∂ν
− λ

(0)
2 (x)

∂u02

∂ν

)∣∣∣∣
Γ

,

A(0)
1

(
x, 0,

∂

∂x

)
u01(x)−A(0)

2

(
x, 0,

∂

∂x

)
u02(x)

∣∣∣∣
Γ

=
1
κ

(
λ

(0)
1 (x)

∂u01

∂ν
−λ(0)

2 (x)
∂u02

∂ν

)(
∂u01

∂ν
−∂u02

∂ν

)∣∣∣∣
Γ

.

H
������ 
�� �� ������� $*& ��/�� ��	������� D

[
s
2

]
+1

t ρ
∣∣
t=0
� 4 

�������� �	�

[
s

2

]
= 1

ρ(2)(x) = − 1
β

(
A(0)

1

(
x, 0,

∂

∂x

)
u01(x) − 1

κ

∂u01

∂ν

(
λ

(0)
1 (x)

∂u01

∂ν
− λ

(0)
2 (x)

∂u02

∂ν

))
.



+) ,� -� .
	������


�� ����	��� ����������

� � � � �� � �� ����� � � ������� ������������� ������ 1 < s < 2 + l, S ∈C2+l,Γ∈C4+l,

 �!""������� #�""�$���������% ���$���$�& Lm �$���#����� �$���$����&� C l
s−2(Π

(m)
T ),

λm(x, t) ∈ C1+l
s−1(πT ),m = 1, 2.


�'#� #�( �)*�% "�� ��+ u0m∈Cs(Ωm), m = 1, 2, p∈C2+l
s (ST ), �#�&���&�$(),�% ����&�(�

��'����&���( �� S � Γ ��$(# �
[

s
2

]
� ��+#���( T0� 0 < T0 ≤ T �� ��� ��� -�#��� .
/0.�/ �����

�#����&����� $�1���� um ∈ C2+l
s (Q(m)

T0
), m = 1, 2, ρ ∈ C4+l

s+2(ΓT0), ��#���(),���( ���� �

2∑
m=1

|um|(2+l)

s,Q
(m)
t

+ |ρ|(4+l)
s+2,Γt

≤ C1

( 2∑
m=1

|u0m|(s)Ωm
+ |p|(2+l)

s,St

)
, t≤ T0. $%%&

8� ���	�� % �	� s = 2 + l �������

�� � � �� � �� ����� � � ������� ������������� ������ S ∈ C2+l, Γ ∈ C4+l,  �!""���2

���� #�""�$���������% ���$���$�& Lm �$���#����� �$���$����&� C
l, l

2
x t (Π̄

(m)
T ), λm(x, t) ∈

∈ C1+l, 1+l
2

x t (π̄T ),m = 1, 2.


�'#� #�( �)*�% "�� ��+ u0m ∈ C2+l(Ω̄m), m = 1, 2, p ∈ C2+l,1+ l
2

x t (ST ), �#�&���&�$(),�%

����&�(� ��'����&���( �� S � Γ ��$(# � 1 +
[

l
2

]
� ��+#���( T0� 0 < T0 ≤ T �� ��� ��� -�2

#��� .
/0.�/ ����� �#����&����� $�1���� um ∈ C2+l,1+ l
2

x t (Q̄(m)
T0

), m = 1, 2, ρ ∈ C4+l,2+ l
2

x t (ΓT0),
��#���(),���( ���� �

2∑
m=1

|um|(2+l)

Q
(m)
t

+ |ρ|(4+l)
Γt

≤ C2

( 2∑
m=1

|u0m|(2+l)
Ωm

+ |p|(2+l)
St

)
, t≤ T0. $%'&

�� �	������ ����
� ������� 
 ����
� 	 ��
����	��� ! �"����#!�

1�� ����� ��	����� � ��	����� � y ∈ Ω �� ��	���� 6@7

x = eρ(y, t) ≡ y +N(y)ρ∗(y, t), y ∈ Ω, $%(&

��� ρ∗ = Pρ � �	����/���� ������� ρ ∈ C4+l
s+2(ΓT ) � Ω �
���� 
��

ρ∗ ∈ C4+l
s+2(ΩT ), ρ∗|Γ = ρ, ρ∗|S = 0,

∂ρ∗

∂ν0

∣∣∣∣
Γ

= 0, |ρ∗|(4+l)
s+2,ΩT

≤ C3|ρ|(4+l)
s+2,ΓT

.

I�� �	���	
���
��� ���	���
� �	� �
� � t ����	
/
�� ����	������ Γ � ��������! �	
����
γ(t)� 
 ���
��� Ωm � � ��������� � ���
��� Ωm(t), m = 1, 2.

�����

�� vm(y, t) = um(eρ(y, t), t), m = 1, 2, xT = colon(x1, . . . , xn) � �����	?��������
"���


∂vm

∂t
=
∂um

∂xi

∂xi

∂t
+
∂um

∂t
=
∂x

∂t
∇Tum +

∂um

∂t
= NJ−T∇T vmρ

∗
t +

∂um

∂t
, $%)&

��� J � �
�	��
 J���� �	���	
���
��� $%(&� Jkl = δl
k + Nk

∂ρ∗
∂yl

+ ∂Nk
∂yl

ρ∗ � ������� J � JT �

�	
������	��
��
� �
�	��
� J−T = (JT )−1.
�
������� 
�� J |t=0 = E, E � �����
�
� �
�	��
� "���
 �	� �
� � t ≤ t1 ��0�������

��	
��
� �
�	��
 J−1� Jkl � ������� J−1. 8����

∇T
x

∣∣∣∣
x=eρ(y,t)

= J−T∇T
y , νT = J−T νT

0

|J−T νT
0 | , ν(x, t) � ��	�
�� � γ(t), ν0(y) � � Γ,

Vν =
∂x

∂t
νT

∣∣∣∣
ΓT

=
(NJ−T νT

0 )ρt

|J−T νT
0 |

, k = −div νT = −∇xν
T = −J−T∇y

(|J−T νT
0 |−1J−T νT

0

)
. $%*&



8�������
��� �
�

� .���
�
 � �������� 5����
2"�����
 �
 ��������� �	
���� +*

4 	������
�� �
��� ��	����� � $%(& � �
��
 ��	��� $%)&?$%*&� �
�


 $%&?$+& �	���� ���

L(m)
ρ vm :=

∂vm

∂t
−NJ−T∇T vmρ

∗
t −

n∑
l,p=1

a
(m)
lp (y, t)

[
J lkJpk ∂2vm

∂yl∂yp
+ J lk ∂J

pk

∂yl

∂vm

∂yp

]
−

−
n∑

k=1

a
(m)
k (y, t)J lk ∂vm

∂yl
− a(m)(y, t)vm = 0 � Ω(m)

T , m = 1, 2,

vm|t=0 = u0m(y), m = 1, 2, ρ|t=0 = 0, v1|ST
= p(y, t), v1 − v2|ΓT

= 0, $%+&

v1 +
1

|J−T νT
0 |
(
α

n∑
s,k,l=1

Jsk ∂J
lsν0l

∂yk
− α

|J−T νT
0 |2

n∑
l,s,i,k,m,p=1

J lsν0lJ
ik ∂J

msν0m

∂yk
Jpiν0p+

+β(NJ−T νT
0 )ρt

)∣∣∣∣
ΓT

= 0,

κ(NJ−T νT
0 )ρt + λ1(y, t)ν0J

−1J−T∇T v1 − λ2(y, t)ν0J
−1J−T∇T v2

∣∣∣∣
ΓT

= 0,

��� Ω(m)
T = Ωm × (0, T ), ν0l(l = 1, . . . , n) � ��������� �����	
 ν0.

����	��� �������
����� � ������� ρ0(y, t) ∈ C4+l
s+2(ΓT ), Vm(y, t) ∈ C2+l

s (Ω(m)
T ), m = 1, 2,

�� ��������

ρ0|t=0 = 0, Dtρ0|t=0 = − 1
β

(NνT
0 )−1

(
α∇yν

T
0 + u01

)
= − 1

κ
(NνT

0 )−1

(
λ

(0)
1 (x)

∂u01

∂ν
− λ

(0)
2 (x)

∂u02

∂ν

)
,

D2
t ρ0|t=0 = − 1

β
(NνT

0 )−1

(
A

(0)
1 (x, 0,

∂

∂x
)u01(x) − 1

κ

∂u01

∂ν

(
λ

(0)
1 (x)

∂u01

∂ν
− λ

(0)
2 (x)

∂u02

∂ν

))
;

Vm(y, t), m = 1, 2 � 	�;���� �
�



L(m)
ρ0

Vm :=
∂Vm

∂t
−NJ−T

0 ∇TVmρ
∗
0t −

n∑
l,p=1

a
(m)
lp (y, t)

[
J lk

0 J
pk
0

∂2Vm

∂yl∂yp
+ J lk

0

∂Jpk
0

∂yl

∂Vm

∂yp

]
−

−
n∑

k=1

a
(m)
k (y, t)J lk

0

∂Vm

∂yl
− a(m)(y, t)Vm = 0 � Ω(m)

T , m = 1, 2,

Vm|t=0 = u0m(y), m = 1, 2, V1|ST
= p(y, t), V1 − V2|ΓT

= 0, $%@&

λ1(y, t)Bρ0∇TV1 − λ2(y, t)Bρ0∇TV2

∣∣∣∣
ΓT

= −κρ0t,

��� J0 = J |ρ=ρ0 , Bρ0 = ν0J−1
0 J−T

0

NJ−T
0 νT

0

.

H
�


 $%@& ������

�� 	
�	�;��
 6+7� �� 	�;���� ���������	��� ������

2∑
m=1

|Vm|(2+l)

s,Ω
(m)
T

≤ C4

( 2∑
m=1

|u0m|(s)Ωm
+ |p|(2+l)

s,ST

)
.

4 �
�

� $%+& �	�������� �
���� vm = Vm + θm, m = 1, 2, ρ = ρ0 + r, ��� θm, r � ��� �
��������� � �������� 4 ����� ������ � � �������� � ������������ ��������� � �������
θm, r 

���� �
��� �
��;�� ������ � 
��� � ��� � 

���� �	
������ � �������� 
 �������� �
� � �	
� ��
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1�� ����� �
���� �	������� � �� E	�;� �������� �
����0�� �� ρ

lim
λ→0

Fρ0+λr − Fρ0

λ
= F ′

ρ(ρ0)r, ρ = ρ0 + λr.

����� ������	 � �	���	
���
��� �
�

� $%+& ��/�� �	����
���� � ����

L(m)
ρ0

θm − (NJ−T
0 ∇TVm)L(m)

ρ0
r∗ +K(m)(r∗, θm) = Fm(r∗, θm) + fm(y, t) � Ω(m)

T , m = 1, 2,

θm|t=0 = 0, m = 1, 2, r|t=0 = 0, θ1|ST
= 0, θ1 − θ2|ΓT

= 0,

κrt + Bρ0

(
λ1∇T θ1 − λ2∇T θ2

)
+ d∇r + d0r

∣∣∣∣
ΓT

= Φ1(r, θ1, θ2), $%B&

βrt − α
n∑

q,k=1

(
Jsk

0 Jqs
0 − 1

|J−T νT
0 |2

J ls
0 ν0lJ

ik
0 J

qs
0 J

pi
0 ν0p

)
∂2r

∂yq∂yk
+

+
|J−T

0 νT
0 |

NJ−T
0 νT

0

θ1 + g∇r + g0r

∣∣∣∣
ΓT

= Φ2(r, θ1) + ϕ(y, t),

��� L
(m)
ρ0 = ∂

∂t −
n∑

l,p=1

a
(m)
lp (y, ρ0, t)J lk

0 J
pk
0

∂2

∂yl∂yp
,

K(m) � ������ � �����	����
��� � ���	
��	 ��	���� ��	���
�

�����	 d = (d1, d2, . . . , dn), g = (g1, g2, . . . , gn), ������� d0, g0 �
����� �� V1, V2, ρ0,

Fm,Φm � �������� � 
��� #

Fm = −(L(m)
ρ − L(m)

ρ0
− rL′(m)

ρ (ρ0)
)
Vm − (L(m)

ρ − L(m)
ρ0

)
θm,

Φ1 = −λ1

(Bρ − Bρ0

)∇T θ1 + λ2

(Bρ − Bρ0

)∇T θ2−

−λ1

(Bρ − Bρ0 − rB′
ρ(ρ0)

)∇TV1 + λ2

(Bρ − Bρ0 − rB′
ρ(ρ0)

)∇TV2,

Φ2 = −α(Kρ −Kρ0 − rK′
ρ(ρ0)

)− ( |J−T νT
0 |

NJ−T νT
0

− |J−T
0 νT

0 |
NJ−T

0 νT
0

)
θ1−

−
( |J−T νT

0 |
NJ−T νT

0

− |J−T
0 νT

0 |
NJ−T

0 νT
0

− r

( |J−T
0 νT

0 |
NJ−T

0 νT
0

)′

ρ

∣∣∣∣
λ=0

)
V1

∣∣∣∣
ΓT

,

fm, ϕ � ������� � ��������

���
�
� � �
�

� $%B& Fm = 0, Φm = 0, m = 1, 2� ����
�� �����!0�! �
�

��

"	������� �
��� ������� θ1(y, t), θ2(y, t) � r(y, t), y ∈ Γ �� ��������

Lm

(
y, t,

∂

∂y
,
∂

∂t

)
θm − μm(y, t)Lm

(
y, t,

∂

∂y
,
∂

∂t

)
r∗ +Km(r∗, θm) = fm(y, t) � Ω(m)

T , m = 1, 2,

θm|t=0 = 0, m = 1, 2, r|t=0 = 0, θ1|ST
= 0, θ1 − θ2|ΓT

= 0,

κrt + b(1)(y, t)∇θ1 − b(2(y, t)∇θ2 + d(y, t)∇r + d0(y, t)r|ΓT
= ϕ1(y, t), $%C&

βrt − α
n∑

q,k=1

cqk(y, t)
∂2r

∂yq∂yk
+ h0(y, t)θ1 + g(y, t)∇r + g0(y, t)r|ΓT

= ϕ2(y, t).

I�
 �
�
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 ���
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 � 	
���� 6B7 � ��� ��� ��	
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 ���	��




8�������
��� �
�

� .���
�
 � �������� 5����
2"�����
 �
 ��������� �	
���� +@

�� � � �� � �� ����� � 0 ������� ������������� ������ 1 < s ≤ 2 + l, S ∈ C2+l,Γ ∈ C4+l,

 �!""������� ���$���$�& Lm, Km(r∗, θm) � μm �$���#����� �$���$����&� C l
s−2(Ω

(m)
T ),

m = 1, 2; b
(m)
j , dj , j = 1, . . . , n, d0 ∈ C1+l

s−1(ΓT ); cqk, gj , j = 1, . . . , n, h0, g0 ∈ C2+l
s (ΓT );

���$���
{
cqk

}n

q,k=1
� ������������ ��$�#������( � ������$���� �(�


�'#� #�( �)*�% "�� ��+ fm ∈ ◦
C l

s−2(Ω
(m)
T ), m = 1, 2, ϕ1 ∈

◦
C

1+l
s−1(ΓT ), ϕ2 ∈

◦
C 2+l

s (ΓT ) -�#���

.
�/ ����� �#����&����� $�1���� θm ∈ ◦
C 2+l

s (Ω(m)
T ), m = 1, 2, r ∈ ◦

C
4+l
s+2(ΓT ), ��#���(),���(

���� �

2∑
m=1

|θm|(2+l)

s,Ω
(m)
T

+ |r|(4+l)
s+2,ΓT

≤ C5

( 2∑
m=1

|fm|(l)
s−2,Ω

(m)
T

+ |ϕ1|(1+l)
s−1,ΓT

+ |ϕ2|(2+l)
s,ΓT

)
:= C5||h|| ◦H(ΩT )

. $'F&

$� %�
���������	� ������ ��

1��
�
�������� ���	�� % �������� � ���
�
�������� 	
�	�;������ ���������� �
�

�
$%B&�

H
��;�� �
�

� $%B& � ���	
��	��� ��	��

Aw = Nw + h := Hw, $'%&

��� A � ������ � ���	
��	

Aw =
{
L(1)

ρ0
θ1 − (NJ−T

0 ∇TV1)L(1)
ρ0
r∗ +K(1)(r∗, θ1), L(2)

ρ0
θ2 − (NJ−T

0 ∇TV2)L(2)
ρ0
r∗ +K(2)(r∗, θ2),

θ1
∣∣
ST
, θ1 − θ2

∣∣
ΓT
, κrt + Bρ0(λ1∇T θ1 − λ2∇T θ2) + d∇r + d0r

∣∣
ΓT
, βrt − α

n−1∑
q,k=1

(
Jsk

0 Jqs
0 −

− 1
|J−T νT

0 |2
J ls

0 ν0lJ
ik
0 J

qs
0 J

pi
0 ν0p

)
∂2r

∂yq∂yk
+

|J−T
0 νT

0 |
NJ−T

0 νT
0

θ1 + g∇r + g0r
∣∣
ΓT

}
,

N � �������� � ���	
��	

Nw =
{
F1(r∗, θ1), F2(r∗, θ2), 0, 0, Φ1(r, θ1, θ2)

∣∣
ΓT
, Φ2(r, θ1)

∣∣
ΓT

}
,

h =
{
f1(y, t), f2(y, t), 0, 0, 0, ϕ(y, t)

}
.

�
������� 
�� A :
◦
B (DT ) → ◦

H (DT )� H :
◦
B (DT ) → ◦

H (DT )�
K
 �����
��� ���	�� ( �
�

� $'%& ��/�� �	����
���� � ����

w = A−1(Nw + h) := A−1Hw,

�	�
�� � ���� ������ $'F& ��	
������� ��	
�������

|w|◦
B(Dt)

≤ C5(|Nw| ◦H(Dt)
+ |h| ◦

H(Dt)
), t≤ T. $''&

����� BM = {w∈ ◦
B (DT1) : |w|◦

B(DT1
)
≤M} � �
����� � ;
	 � �	���	
�����

◦
B (DT )�

�����	�� 	
���� M ;
	
 BM �
���� 
��� � ��������� ��	
�������

C5|h| ◦H(Dt)
(1 − q)−1 ≤M, t≤ T. $'(&



+B ,� -� .
	������


���
/��� 
�� ��� �
� � t≤T1 �������� � ���	
��	 A
−1H ��	������ �
����� � ;
	 BM

� ���� � �������� � ��� �/��
!0��� ���� � �����!��� ��	
������


|A−1Hw|◦
B(Dt)

:= |A−1Nw +A−1h|◦
B(Dt)

≤M �	� ∀w ∈BM ,

|A−1(Hw −Hw̃)|◦
B(Dt)

:= |A−1(Nw −Nw̃)|◦
B(Dt)

≤ q|w − w̃|◦
B(Dt)

, ��� q ∈ (0, 1).

������ A−1Hw �	� ����0� ��	
������
 $'F&

|A−1Hw|◦
B(Dt)

≤ C5(|Nw| ◦H(Dt)
+ |h| ◦

H(Dt)
)≤

≤C5

(( 2∑
m=1

|Fm|(l)
s−2,D

(m)
t

+ |Φ1|(1+l)
s−1,Rt

+ |Φ2|(2+l)
s,Rt

)
+ |h| ◦

H(Dt)

)
; $')&

|A−1(Hw −Hw̃)|◦
B(Dt)

≤ C5|Hw −Hw̃| ◦
H(Dt)

≤ C5

( 2∑
m=1

|Fm(r, θm) −Fm(r̃, θ̃m)|(l)
s−2,D

(m)
t

+

+|Φ1(r, θ1, θ2) − Φ1(r̃, θ̃1, θ̃2)|(1+l)
s−1,Rt

+ |Φ2(r, θ1) − Φ2(r̃, θ̃1)|(2+l)
s,Rt

)
:= C5I. $'*&

1�� ������ ������� Fm, Φm, m = 1, 2 �	����
��� � 	
/����� �����0�� � ���� � ���� 6@7

(
F (m)

ρ − F (m)
ρ0

)
θm =

1∫
0

d

dλ
F

(m)
ρ0+λrθmdλ,

(
F (m)

ρ − F (m)
ρ0

− rF
′(m)
ρ (ρ0)

)
Vm =

1∫
0

(1 − μ)
d2

dμ2
F

(m)
ρ0+μrVmdμ. $'+&

������ ��	� ������� � �	
� � 
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������ $')&?$'*&� ��������� $'+& � ������ �	�2
��������� � ���������� ������� �� �������� �	���	
����
 5�����	
 C l

s(QT ) 6C7� 4 	������
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����
�� ��	
������


|Fm|(l)
s−2,D

(m)
t

≤ C6t
s+1
2 |r|(4+l)

s+2,Rt

(
|r|(4+l)

s+2,Rt
+ |θm|(2+l)

s,D
(m)
t

)
,

|Φ1|(1+l)
s−1,Rt

≤ C7t
s+1
2 |r|(4+l)

s+2,Rt

(
|r|(4+l)

s+2,Rt
+ |∇θ1|(1+l)

s−1,Rt
+ |∇θ2|(1+l)

s−1,Rt

)
, $'@&

|Φ2|(2+l)
s,Rt

≤ C8t
s+1
2 |r|(4+l)

s+2,Rt

(
|r|(4+l)

s+2,Rt
+ |θ1|(2+l)

s,Rt

)
;

|I|≤C9t
s+1
2

(
|r|(4+l)

s+2,Rt
+|r̃|(4+l)

s+2,Rt
+

2∑
m=1

(|θm|(2+l)

s,D
(m)
t

+|θ̃m|(2+l)

s,D
(m)
t

))(|r−r̃|(4+l)
s+2,Rt

+
2∑

m=1

|θm−θ̃m|(2+l)

s,D
(m)
t

)
.
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�	������ � ��	
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� $')&?$'*& ������ $'@&?$'B&� ����� �����

|A−1Hw|◦
B(Dt)

≤ C5

(
C10t

s+1
2 |r|(4+l)

s+2,Rt
|w|◦

B(Dt)
+ |h| ◦

H(Dt)

)≤ C11t
s+1
2 |w|◦

B(Dt)
|w|◦

B(Dt)
+ C5|h| ◦H(Dt)

;

|A−1(Hw −Hw̃)|◦
B(Dt)

≤ C12t
s+1
2
(|w|◦

B(Dt)
+ |w̃|◦

B(Dt)

)|w − w̃|◦
B(Dt)

,
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 �
� �
� w, w̃∈BM � ��� ����/�� C11t
s+1
2 M, 2C12t

s+1
2 M ≤ q, 0 < q < 1, �
���� T1 �
���� 
��

����� � ��������� ��	
������


|A−1Hw|◦
B(Dt)

≤ q|w|◦
B(Dt)

+ C5|h| ◦H(Dt)
≤M ;

|A−1(Hw −Hw̃)|◦
B(Dt)

≤ q|w − w̃|◦
B(Dt)

$'C&

∀w, w̃ ∈BM � t≤ T1�
8� ��	
������
 $'C& � ���
��� 
�� ���	
��	 A−1H �������� �/��
!0�� � �
������� ;
	�

BM � �� �	������ �/��
!0�� ����	
/���� �
�


 $'%& ��� $%B& ������
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�	�;��
 �

�	���	
�����
◦
B (DT1) � ��� �� 	�;���� ��	
������
 �����
 $%%&

|w|◦
B(Dt)

≤ C1|h| ◦H(Dt)
,

��� C1 = C5(1 − q)−1.
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� ���	�	� ��	� ���� �� !���
����

"����	 ��� �	
������ ��
��� �	��
����
� �	 	��
 �	������ ��� ������������ ��
��
�	 ��	�	
���� ���������� # ��� �	� �� ��� �����
	�����  ��$%���	& ��
��� �	 ��	�	
����
���������  ��� ' �%��� � (�	���� )*� +, �	����� �
 ����	���	 �	
�����$ ��
��-  �� ��
���
.	��� 
�� ��������� ��
��� � 
�� ��
��� �	��
����
� /���	����& �� ���� ���
� ���
� 
�	�	& � 	��
 �	
�����
 ��
��� �	��
����
�

0�� � R 1 �������	��	� � xn = 0 � R
n� RT = R × (0, T )� D = R

n� DT = D × (0, T )� D1 �

D2 1 �	����	� ���� �� xn < 0 � xn > 0 � R
n� �		 �� � ����	� D

(m)
T = Dm × (0, T )� m = 1, 2�

2�	������ ����� L
(0)
k 1 �����	�������& 	���� 	� ��
� L

(0)
k = ∂

∂t −
n∑

i,j=1
a

(k)
ij

∂2

∂xi∂xj
, � ����� L̃

(0)
k

1 �		 �� � �����& ��� 	���� 	� L̃
(0)
k = ∂

∂t −
n−1∑
i,j=1

a
(k)
ij

∂2

∂xi∂xj
, k = 1, 2, 3 .

���������� 	�
���
 3����� �
 ��& � %������ ω(x, t)� Θ1(x, t)� Θ2(x, t)� ρ(x′, t)� x′ ∈ R
n−1�

�
	��� �	�
���� ������� ��������� 
������ �	 ���	��
�-

L
(0)
1 ω − αL̃

(0)
1 ρ = f1(x, t) � D

(1)
T , 4*5

L
(0)
2 Θ1 − β1L̃

(0)
2 ρ = f2(x, t) � D

(1)
T , 4+5

L
(0)
3 Θ2 − β2L̃

(0)
3 ρ = f3(x, t) � D

(2)
T , 465

Θm − σ1ω − σ2ρ|RT
= Φm(x′, t) , m = 1, 2, 475

b∇ω + c(1)∇′ρ|RT
= Φ3(x′, t) , 485

b(1)∇Θ1 − b(2)∇Θ2 + c(2)∇′ρ+
∂ρ

∂t

∣∣∣∣∣
RT

= Φ4(x′, t) , 495
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�
� b� b(m)� c(m)� m = 1, 2 1 ��� 	�; � �	��	��� ��� bi� b
(m)
i � c

(m)
j1

� i = 1, n� j1 = 1, n− 1<

�	=%%����� � a
(k)
ij , k = 1, 2, 3, α, βm, σm, m = 1, 2 1 �	� 	
����� ������ a

(m)
ij �= a

(1+m)
ij , m =

= 1, 2, a(k)
ij = a

(k)
ji , k = 1, 2, 3, i, j = 1, . . . , n< ∇ = ( ∂

∂x1
, . . . , ∂

∂xn
)� ∇′ = ( ∂

∂x1
, . . . , ∂

∂xn−1
) �

σ2 + σ1α− βm > 0, m = 1, 2, bn > 0, b(m)
n > 0, m = 1, 2 ,

|b(1) − b(2)| << 1, |β1 − β2| << 1, |c(2)| << 1 .
4:5

>�
��� 4*5?495 ��
�� ������ ���� � � ���	�	� ��	� ���� �� !���
��� C l
s(QT )� ���
���	�

������� #�'�@��	�	�	��� )6,�
� � � � 
 � � � � � � 
 ����� l � ������� ������������� ������ s ≤ l. ��� C l

s(QT ) �����
�������� ���� �!� �"���"����!� #��$��% u(x, t)� ��"�������� ! ������� QT = Ω× (0, T ) �
���&'� ��"��

|u|(l)s,QT
= sup

t≤T
t

l−s
2 [u](l)

Q′
t
+

∑
s<2j0+j<l

sup
t≤T

t
2j0+|j|−s

2 |Dj0
t D

j
xu|Ω +

{
|u|(s)QT

, s ≥ 0
0, s < 0

,

(�� Q′
t = Ω × ( t

2 , t) ,

[u](l)QT
=

∑
2j0+|j|=[l]

[Dj0
t D

j
xu]

(l−[l])
x,QT

+
∑

0<l−2j0−|j|<2

[Dj0
t D

j
xu]
(

l−2j0−|j|
2

)
t,QT

,

[v](α)
x,QT

= sup
(x,t),(z,t)∈QT

|v(x, t) − v(z, t)||x− z|−α, [v](α)
t,QT

= sup
(x,t),(x,τ)∈QT

|v(x, t) − v(x, τ)||t− τ |−α,

α ∈ (0, 1), |u|(s)QT
1 ��"�� �"���"����!� )*����"� C

s, s
2

x t (QT )-

|u|(s)QT
= [u](s)QT

+
∑

2j0+|j|<s

|Dj0
t D

j
xu|QT

.

0�� s = l = 	 ��	� ���� �	 �	���
�� � ��	� ���� �	� !���
��� C
l, l

2
x t(Q̄T )� 0�� s ≥ 0

	���
���� ��	� ���� �	
◦
C l

s(QT ) ��� �	
��	� ���� �	 %�����& �� C l
s(QT )� �
	��� �	�
���$

���	��
� ∂ku/∂t|t=0 = 0� k ≤ [s/2]� 0�� s < 0 �	�	���
◦
C l

s(QT ) = C l
s(QT )�

�� � � � � � 
 ����� l � ������� ������������� ������ l < s ≤ 2 + l� fm(x, t) ∈
∈ ◦
C l

s−2(D
(m)
T ), f3(x, t) ∈ ◦

C l
s−2(D

(2)
T ), Φm(x′, t) ∈ ◦

C 2+l
s (RT ), Φ2+m(x′, t) ∈ ◦

C
1+l
s−1(RT ), m = 1, 2

� !�������� ����!�+ ,�-� 
�(�� .����� ���"+����+ ,
-/,0- ����� ������!����� "�1����

ω(x, t) ∈ ◦
C 2+l

s (D(1)
T ), Θm(x, t) ∈ ◦

C 2+l
s (D(m)

T ), m = 1, 2, ρ(x′, t) ∈ ◦
C 2+l

s (RT ), (��
∂ρ

∂t
∈ ◦
C

1+l
s−1(RT )�

�"� !�� t ≤ T ��+ "�1���+ ��"�!����!� ����$�

|ω|(2+l)

s,D
(1)
t

+
2∑

m=1

|Θm|(2+l)

s,D
(m)
t

+ |ρ|(2+l)
s,Rt

+
∣∣∣∣∂ρ∂t

∣∣∣∣
(1+l)

s−1,Rt

≤

≤ c

[ 2∑
m=1

(
|fm|(l)

s−2,D
(m)
t

+ |Φm|(2+l)
s,Rt

+ |Φ2+m|(1+l)
s−1,Rt

)
+ |f3|(l)

s−2,D
(2)
t

]
. 4A5

��� � 	 � � � � � � � � � 
 0	� �	�� ���	�	�� ������ %������ P (x, t) ∈ ◦
C 2+l

s (D(1)
T )�

Vm(x, t) ∈ ◦
C 2+l

s (D(m)
T ), m = 1, 2, ��� ������
 �	����	� ���� �����$ ��
��-

L
(0)
1 P = f1(x, t) � D

(1)
T , 4B5
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b∇P |RT
= Φ3(x′, t) , 4*E5

L
(0)
1+mVm = f1+m(x, t) � D

(m)
T , m = 1, 2, 4**5

Vm − σ1P |RT
= Φm(x′, t) , m = 1, 2. 4*+5

"���
 ��
��� 4B5� 4*E5� ��$	
�� P (x, t)� 0	
� ���

 ��	 � ���	��� 4*+5� ��&
�� Vm(x, t) �� 4**5�
4*+5� "�����
 ��
�� �	
���
� �
 	������ )6?9,

|P |(2+l)

s,D
(1)
T

+
2∑

m=1

|Vm|(2+l)

s,D
(m)
T

≤ c1

(
|Φ3|(1+l)

s−1,RT
+

2∑
m=1

|Φm|(2+l)
s,RT

)
. 4*65

0	� �	�� %������ P (x, t), Vm(x, t), m = 1, 2, ��	����
�� � ��
��� 4*5?495 ������

ω(x, t) = p(x, t) + αρ(x′, t) + P (x, t) ,

Θm(x, t) = um(x, t) + βmρ(x′, t) + Vm(x, t) ,
4*75

�
� p(x, t), um(x, t), m = 1, 2, 1 �	��� ������� ��� %������� >����� 4*75 
���� �
 
�
  	�
�	� � 	��� �	������$� ������� � %������ ρ(x′, t) � ��������
$ 4*5?465� � �	�� 	��$� ���� �
��$	
��� ��
��� � 	
�	�	
�	& ��
��� � �������� ���	��
�� 475� 485�

0	��� ������ 4*75 �	����� ��
��� ��$	�
���
 %�����& p(x, t)� um(x, t), m = 1, 2, ρ(x′, t),
�
	��� �	�
���$ ������� ��������� 
������ �	 ���	��
�

∂p

∂t
−

n∑
i,j=1

a
(1)
ij

∂2p

∂xi∂xj
= 0 � D

(1)
T , 4*85

∂u1

∂t
−

n∑
i,j=1

a
(2)
ij

∂2u1

∂xi∂xj
= 0 � D

(1)
T , 4*95

∂u2

∂t
−

n∑
i,j=1

a
(3)
ij

∂2u2

∂xi∂xj
= 0 � D

(2)
T , 4*:5

um − σ1p+ (βm − σ1α− σ2)ρ|RT
= 0 , m = 1, 2, 4*A5

b∇p+ (αb+ c(1))∇′ρ|RT
= 0 , 4*B5

b(1)∇u1 − b(2)∇u2 + (β1b
(1) − β2b

(2) + c(2))∇′ρ+
∂ρ

∂t

∣∣∣∣
RT

= Φ̄4(x′, t) , 4+E5

�
� Φ̄4(x′, t) = Φ4(x′, t) − (b(1)∇V1 − b(2)∇V2)
∣∣
RT

,

|Φ̄4|(1+l)
s−1,RT

≤ c2

(
|Φ4|(1+l)

s−1,RT
+

2∑
m=1

|Vm|(2+l)

s,D
(m)
T

)
. 4+*5

0������� � ��
��� 4*85?4+E5 ���	����	����
 (���� �	 ��������	& x′ � F������ �	 t-

¯̃
f (ξ, xn, p) =

∞∫
0

e−ptdt

∫
Rn−1

e−ix′ξf(x′, t)dx′ .

0�� = 	� �����	�������� ��������
 ����$	

 � 	����	������ 
�%%������������ ��������

�	 xn� ����
 �	 	���� ��$	
��-

¯̃um(ξ, xn, p) = Fm(ξ, p)e(−1)1+mrmxn � D
(m)
T , m = 1, 2,

¯̃p(ξ, xn, p) = F3(ξ, p)er3xn � D
(1)
T ,

4++5
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�

rm = rm(ξ, p) = (−1)m 1

a
(1+m)
nn

n−1∑
μ=1

a(1+m)
μn iξμ +

√
p

a
(1+m)
nn

− Sm(ξ) , m = 1, 2,

r3 = r3(ξ, p) = − 1

a
(1)
nn

n−1∑
μ=1

a(1)
μniξμ +

√
p

a
(1)
nn

− S3(ξ) ,

Sm(ξ) =
1

a
(1+m)
nn

n∑
μ,ν=1

a(1+m)
μν ξμξν −

(
1

a
(1+m)
nn

n−1∑
μ=1

a(1+m)
μn ξμ

)2

, m = 1, 2,

S3(ξ) =
1

a
(1)
nn

n∑
μ,ν=1

a(1)
μν ξμξν −

(
1

a
(1)
nn

n−1∑
μ=1

a(1)
μnξμ

)2

.
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¯̃um − σ1
¯̃p+ (βm − σ2 − ασ1) ¯̃ρ|RT

= 0 , m = 1, 2,

bn
∂ ¯̃p
∂xn

+ i
n−1∑
k=1

bkξk ¯̃p+ i
n−1∑
k=1

(αbk + c
(1)
k )ξk ¯̃ρ

∣∣∣∣
RT

= 0 ,

b(1)n

∂ ¯̃u1

∂xn
− b(2)n

∂ ¯̃u2

∂xn
+ i

n−1∑
k=1

(b(1)k ξk ¯̃u1 − b
(2)
k ξk ¯̃u2) + i

n−1∑
k=1

(β1b
(1)
k − β2b

(2)
k + c

(2)
k )ξk ¯̃ρ+ p ¯̃ρ

∣∣∣∣
RT

=
¯̄̃
Φ4 .

0	
� ���

 � = � ���	��
 4++5� ��&
�� Fk(ξ, p), k = 1, 2, 3 � ¯̃ρ

Fm(ξ, p) =

(
− σ1

i(αb′ + c(1)
′
)ξ′

bnr3 + ib′ξ′
+ σ1α+ σ2 − βm

)
¯̃ρ , m = 1, 2,

F3(ξ, p) = − i(αb
′ + c(1)

′
)ξ′

bnr3 + ib′ξ′
¯̃ρ, ¯̃ρ =

1
D

¯̄̃
Φ4 ,

�
�

D = p+
2∑

m=1

b(m)
n rm

(
σ1α+ σ2 − βm − σ1

i(αb′ + c(1)
′
)ξ′

bnr3 + ib′ξ′

)
+

+
(
σ1α+ σ2 − σ1

i(αb′ + c(1)
′
)ξ′

bnr3 + ib′ξ′

)
i(b(1)

′
ξ′ − b(2)

′
ξ′) + ic(2)

′
ξ′ ,

�
� b′ξ′ =
n−1∑
k=1

bkξk, b(m)′ξ′ =
n−1∑
k=1

b
(m)
k ξk, c(m)′ξ′ =

n−1∑
k=1

c
(m)
k ξk, m = 1, 2.

"������ ��
��� 4*85?4+E5 ������� � ��
� �	 ������	�

um(x, t) =

t∫
0

dτ

∫
Rn−1

Φ̄4(y′, τ)Gm(x′ − y′, xn, t− τ)dy′ , m = 1, 2

p(x, t) =

t∫
0

dτ

∫
Rn−1

Φ̄4(y′, τ)G3(x′ − y′, xn, t− τ)dy′ ,

ρ(x′, t) =

t∫
0

dτ

∫
Rn−1

Φ̄4(y′, τ)G3(x′ − y′, 0, t− τ)dy′ ,

4+65
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�
�

Gk(x, t) =
1

(2π)ni

∫
Rn−1

eix
′ξdξ

∫
Rep=p1

ept ¯̃Gk(p, ξ, xn)dp , k = 1, 2, 3, 4+75

¯̃Gm(p, ξ, xn) =
Ψm(ξ, p)
p+ ϕ(ξ, p)

e(−1)1+mrm(ξ,p)xn , m = 1, 2, 4+85

xn < 0 ��� m = 1 � xn > 0 ��� m = 2.

¯̃G3(p, ξ, xn) =
Ψ3(ξ, p)
p+ ϕ(ξ, p)

er3(ξ,p)xn , xn < 0 , 4+95

Ψm(ξ, p) = σ1Ψ3(ξ, p) + σ1α+ σ2 − βm , m = 1, 2, Ψ3(ξ, p) = − i(αb
′ + c(1)

′
)ξ′

bnr3 + ib′ξ′
,

ϕ(ξ, p) =
2∑

m=1

b(m)
n rm

(
σ1α+ σ2 − βm + σ1Ψ3

)
+ (σ1α+ σ2 + σ1Ψ3)i(b(1)

′
ξ′ − b(2)

′
ξ′) + ic(2)

′
ξ′ .

G
�� � ���������� p + ϕ(ξ, t) � ������� ���� �
� ϕ = bnr1(ξ, p) + cnr2(ξ, p) + ib′ξ′, bn > 0,
cn > 0, �	������ � ��
���$ � ��	���	
�	& �	 ������� � �������	� ���	��� ):?*E,� # ���	 �
!���@����	�	& � #�D�'	�	����	�� )**, ���� ������� 

�� 4+85� 4+95 � 	���� ��
�� ��

	��� ��$ ���	����	����& (���� � F������ = �$ 

�� ��� ���	����� 	���
������$ ���	��&
�� �	=%%����� � ���� �	������ 	����� )**� %	����� 4*�*95� 46�B5� 46�*E5,� # ��� �	� �� ����
�� ��	����� ���	��
 �� �	=%%����� � 

��� ��� ���	������ �	 	��$ 
�
 ��$ ����� ��� 
	��� ��� ���	����	����
 (���� � F������� ��
 

�� 4+85� 4+95 = � ���	��
 ����� ��
 4:5

σ2 + σ1α− βm > 0, m = 1, 2, bn > 0, b(m)
n > 0, m = 1, 2,

|β1 − β2| << 1, |b(1)′ − b(2)
′ | << 1, |c(2)′ | << 1.

.�� ���	 �	�����	 � ���	 �$ )8?:,� )B,� = � %������ �	
���
� �
 	������

|Gm| ≤ c3(x2 + t2)−
n−1

2 e−δ1
x2

t , n ≥ 2 , |DtGm| ≤ c4

[
(x2 + t2)−

n
2 + t−

n+1
2

]
e−δ2

x2

t ,

|D2
tGm|, |DtDx′Gm| ≤ c5

[
(x2 + t2)−

n+1
2 + t−

n+2
2

]
e−δ3

x2

t ,

|Dν
x′Gm| ≤ c6(x2 + t2)−

n−1+ν
2 e−δ4

x2

t , m = 1, 2, 3,

�
� δ1, . . . , δ4 1 �	�	�� ������ �	�� �� ��
��
 �	 ������	�� �	�	�
����$ = ��� 

���� Gm(x, t)� ������
���� �������� ��

[(ψ ∗Dx′Gm)](α)
r−2,x,RT

≤ c7[ψ](α)
r−2,RT

, [(ψ ∗Dx′Gm)]
(α

2
)

r−2,t,RT
≤ c8[ψ](α)

r−2,RT
,

[(ψ ∗DtGm)](α)
r−2,x,RT

≤ c9|ψ|(1+α)
r−1,RT

, [(ψ ∗DtGm)]
(α

2
)

r−2,t,RT
≤ c10|ψ|(1+α)

r−1,RT
,

[(ψ ∗Gm)]
( 1+α

2
)

r−1,t,RT
≤ c11|ψ|(α)

r−2,RT
, |(ψ ∗Gm)| ≤ c12t

s
2 |ψ|(1+l)

s−1,RT
, m = 1, 2, 3,

�
� α < r ≤ 2 + α, α ∈ (0, 1),

[v](a)
b,x,QT

= sup
t<T

t
a−b
2 [v](a)

x,Q′
t
, [v](a)

b,t,QT
= sup

t<T
t

a−b
2 [v](a)

t,Q′
t
,

[v](a)
b,QT

= [v](a)
b,x,QT

+ [v]
(a
2
)

b,t,QT
, b ≤ a, a ∈ (0, 1), Q′

t = Ω × (t/2, t),
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	 ��
� ���
�� �������� �	

|p|(2+l)

s,D
(1)
T

+
2∑

m=1

|um|(2+l)

s,D
(m)
T

+ |ρ|(2+l)
s,RT

+
∣∣∣∣∂ρ∂t

∣∣∣∣
(1+l)

s−1,RT

≤ c13|Φ̄4|(1+l)
s−1,RT

. 4+:5

0�����

 ������ 4*75� 	����� %������ Φ̄4 1 4+*5� ���	�	�� �����$ %�����& P2� Vm� m =
= 1, 2 1 4*65� � 4+:5� �	�����  �������� 	����� 4A5� 3�	���� 
	�������

������������ ����������

�� �������� �	
	� ��
����� �	�	 �� ���	��� ��
 ��� �	!� "���#���	�� ����� $�� %�� & ���

�� ��
����� �	�	 �� '!� ��������� ���	����
� 
�
 (	��!��� )�	*+���!,+��
,�"� -.-/0#

����� ��&�� "	�!� ����� ����
1� ���� '� ��� 2� �34&����

3� ��������� �	�	� ������� �	
	 
	�,
��5��	 6!,7�	�� � �	,!�� 
�������	8��9 6�!�7,#

��:	�
�9 �!���	��8� 
,�,��7�!�
� �;<�� ��� =�

�� ���������� �	�	 �7 ,>	�
	 ��
�����,� �,+��	8 6!,���,+��9 !	�	�� ,+�,!,+�,8 6�!�#

7,��:	�
,8 ��:��5�,#
!�	�,8 ��+�:�� ?�� �;<<� �� �� )�!	6!��� �
 222�� ?	���@!� ,�+#��	 ���	��

��#� ��� A���2�	
�,��B �&�&<<1�

�� ��������� �	�	 �� ���	�� �7� �;<;� '� ���� $�� 2� �43 & ����

4� ���������� �	�	� �������� �	 �	 �� '!�+� ���
 222�� �;��� '� ��<� 2� ��< & ����

<� ������� �	�	 �� C,
�� �
 D22�� 2	!� �� �;�4� $��� 2� 3 & <�

�� ������� �	�	� �� ����� �	!	 �� ���	�� �7� �;�<� '� �3� )�<�1� $�� 2� 3 & �;�

;� �������� �	
	 �� ��@	7!� � ������� �;;�� '� 4� A�6� �� 2� 4� & ;��

��� �������� �	
	� ���������� �	�	 �� ��@	7!� � ������� �;;3� '� �� $�� 2� ��; & ����

��� �������� �	
	� ���������� �	�	 �� ��@	7!� � ������� �;;�� '� 4� A�6�4� 2� 3� & ���

��������� ! "���$��& 
2�	3��		�(�
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	�� �	��������� ���	� ��
�������

������� ������� ����	 � ��!� "#$�%� &'()*+,&-.&/0+12!(3

�����������	��
 ����
� ������������ ���������
 ��
 ������� ����������� ��������
�
�� ��������
������ ���� � ��������� ������������	� ����
�� ���������� 
���� ����
������
�� ����
���	 ������� ������������� ������������ ��������� ��
 ����������
 ���	 ���
�
 ���������� ��� �����
���
 ������
 ����������!�
 ��������
� " ������ 
���� ���������

��
���
 �����
����� � ����������� ������� ������������� ��
 ������������	 �� #������
������� ����
� ��� �����
���
 � ���� �	 ��$$����!�������
 $���!�� �����
��
 �������
�� ���������	� %����������
� 
�� ����� ����������!�� ������
����� ����&����� ������&���
���� ��'���
 �������� #������������ ����
�� "� ������ 
���� ��������������
 ������
����
���
��� ����� �����������	 �
 ������
 ����
� �� ����� ��������� �!���� ��'���
�

�� �������	
� ����
�� %���� Ω ���� �������
 ������
����
 ������� ������������ R
3

� �����!�� S, T > 0, Q = Ω × (0, T ), Σ = S × (0, T )� ��������������
 �������� ����������

����������

y′ −�y + g(y) = v + f, (x, t) ∈ Q ()*

� �������� ������
��

y(x, 0) = y0(x), x ∈ Ω; y = 0 (x, t) ∈ Σ, (+*

��� v , ����������� y , �����
��
 �������� y′ = ∂y/∂t, f � y0 , ��������� $���!��� g ,
�������
 $���!�
 �� y�

" ������������ � �������� -������� ���	� ����� ����������� ���&���


H1
0 (Ω) ⊂ L6(Ω); H−1(Ω) ⊂ L6/5(Ω),

.�������� $���!��������� ������������

V = L2(Q), X = L2(0, T ;H1
0 (Ω)), X ′ = L2(0, T ;H−1(Ω)),

Y =
{
y| y ∈ X ∩ L6(Q), y′ ∈ X ′ + L6/5(Q)

}
.

��������	 ����������� 	
�
����� ������
 �	���
� �������
 ���������� �������
����
 ������ 
		�����
����
 
		��
����

��������


��� �
����
���� ������� ��
�����
����	 ���
�� ������ ���
�

�© �� �� �����	
��

� �����



.���������� ���������� ��
 ��������� � ��������� ������������	� / 00

%������������
� 
�� ����������� ���	
���
 f ∈ X ′, y0 ∈ L2(Ω)� 1���!�
 g ��������&��
������ G1 ����������� $���!��� ����������
	 �� ������������

|g(y)| ≤ a+ b |y|5, g(y)y > |y|6, [g(y) − g(x)
]
(y − x) ≥ c |y − x|6 ∀x, y,

��� a > 0, b > 0, c > 0 � %�����
�� �������� 2�������������� (���� 3)4� �� 5)+*� ���������� 
��
�������� ����!���� g(·) : L6(Q) → L6/5(Q) 
��
���
 ������������ 6��������� v ���������

�� ��������� ���������� ������&����� U ������������ V � %�� ��������� ��������&���
� �
���� �	 ������ ���������� ���������� ��������� (���� ��������� ������� )�) 3+4� �� +57*� 
��
��
 �	���� ���������
 v ∈ V ����
� ()*� (+* ����� ������������ ��'���� y = y(v) �� ���������
���� Y � ���
�� ������&���� y(·) : V → Y ���������� � ����� ����������� ��������������

$���!�����

I(v) =
1
2

∥∥y(v) − z
∥∥2

X
+

γ

2

∥∥v∥∥2

2
,

��� ‖ · ‖p , ����� � ������������ Lp(Q), z , ��������
 $���!�
 ������ X, γ > 0� -������

�����	 �
 ��������!�����
 ����
�8

� � � � 
 � � � ����� ����� ���������� v� ������� ������������  ���!����� I �� ���"
#�$��� U �

�� � � �� � �� %�&�'� 1 �����(����

�������������� �������� ������������� ���������
�� ����� ����� ��������� ���� � �����
�������� �������������� .�� ��������� 
��
	��
 ������
������ ����� ��������� ������
������� $���!��������� 6
�����
 ���������� � ����������� ���&����� ���������� ������
����� � �����	 ������������� $���!�� �����
��
 �� ���������	� ��������� �����'������
����
� ) ����������� �������� (���� ��������� 354� �� 99� ������&���� )�+*�

:���
� ������������ ���������
 ��
 ������� ����������� �����
����� �����������
��������
�� ��������
������ ����� �������
�� ����'� ����������� (���� ��������� 39;)<4*�
.���
�������� �����������	 ��������������� ����
� �� �&� ��������� 
��
���
 ����$$��
���!��������� $���!�� g� ���������� 
��� 
���� ��$$����!�������� $���!������ I �� �����
�����
���
 �����&���� .������� 
�� � ��������� ������� ��������!�� ��������� $���!���
����� (���� ��������� 354� 3))4* ���������� ��������� ����	������ � ��������������� ����&��
��� �������
 �������������� � &������� ��������� ���������
 �� �
�� �������� �� ���������
��� ����������� $���!������ � �� ����� ������ �������� (�����$$����!���� ����������

2����� � ����*� " ������ ���
��� ��������� $���!����� 
��
���
 �������� � ����$$�����
!������� 
��� ������������ � ��������� �����
��
� ���������� 
��� ��������������
 �������
��������� $���!������� �� ���������
���
 �����&��� (����������� ����� ������������ � ��
$���!��������� �����*� :���� ���������� � �����
 ���'������� ��$$����!��������� ����
������� 3)+4� ��������� �����&��
 ����$$����!��������� $���!�� �����
��
 �� ���������	
����������� �� ��������
������ ���
������ � �����������	 ����������� 
���� ��������
�

�� �����
������� ����
�� ��
 ��'���
 ������������ ����
� ��� �����
���
 ������

����������!�
 ��������
 �����
��
� ���������� ������������������ $���!�� {gn} ������
G1� ����������
	 �� ������
�

gn ∈ C1(R), n = 1, 2, . . . ; gn(y) → g(y) � L6/5(Q) ���������� �� y,

|gny(y)| ≤ a1 + b1|y|4 ∀y ∈ R,

��� a1 > 0, b1 > 0, gny(y) , ����������
 �� {gn}� =���� �������� gn(·) : L6(Q) → L6/5(Q)
��$$����!����� �� 1��'�� ���
�� ����������� ��������� (��� 3)4� >�5)+*

g′n(y)h(x, t) = gny(y(x, t)) h(x, t) ∀y ∈ L6(Q).
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 ����������!�����
 ������
 ����
�

y′ −�yn + gn(yn) = v + f, (x, t) ∈ Q (5*

yn(x, 0) = y0(x), x ∈ Ω; yn = 0 (x, t) ∈ Σ. (9*

.
������� ��
 �	���� ���������
 v ∈ V ����
� (5*� (9* ����� ������������ ��'����
yn = yn(v) �� ������������ Y � ���
�� ������&���� yn(·) : V → Y ����� �����������

����� �� )�� n→ ∞ ����� ��$�� $*�&���$�+ yn(v) → y(v) � Y ���������� �� v ∈ U �

��
 � � � � � � � � � 	 � � A� ������'���� ()* � (5* ������� ���������

(y′n − y′) −�(yn − y) + gn(yn) − gn(y) + gn(y) − g(y) = 0.

6���&�
 ��� �� �������� yn − y� ���������
 ��������� �� ������� Q � �
���� $������ B����
� ������� ������� (+* � (9*� ����� �����∫

Ω

[
yn(x, T ) − y(x, T )

]2
dx + ‖yn − y‖2

X +

+
∫
Q

[
gn(yn) − gn(y)

]
(yn − y) dQ +

∫
Q

[
gn(y) − g(y)

]
(yn − y) dQ = 0.

6
�����
 ����������� ���&����� G1 � ����
���

‖yn − y‖2
X + ‖yn − y‖6

6 ≤
∣∣∣ ∫
Q

[
gn(y) − g(y)

]
(yn − y)dQ

∣∣∣ ≤ ‖gn(y) − g(y)‖6/5‖yn − y‖6.

.��	�� ������� �����������

‖yn − y‖5
6 ≤ ‖gn(y) − g(y)‖6/5.

" ���� ���������� ������������������ {gn} � ���������� 
�� yn(v) → y(v) � L6(Q) ������
����� �� v ∈ U � A� ������� �� �!���� �������� 
�� ��������
 ���������� ����������
 � �
������������ X� A� ������'���


(y′n − y′) −�(yn − y) + gn(yn) − g(yn) + g(yn) − g(y) = 0.

������� �����������

‖y′n − y′‖X
′
+L6/5(Q) ≤ ‖�(yn − y)‖X

′ + ‖gn(yn) − g(yn)‖6/5 + ‖g(yn) − g(y)‖6/5 ≤
≤ c‖yn − y‖X + sup

z
‖gn(z) − gn(z)‖6/5 + ‖g(yn) − g(y)‖6/5,

��� 
���� c ����� � ����� ������
�	��
 �����
��� ����&�������� ���������� " ���� �����
��
������� ������������������ {yn} � ������������ X ∩ L6(Q)� ����������� ���������� ���
���������������� {gn} � ������������� ������&���
 g(·) : L6(Q) → L6/5(Q) �������� 
��
y
′
n(v) → y

′
(v) � X

′
+ L6/5(Q) ���������� �� v ∈ U � =���� �������� �����&����
 �����

������������� ���	� ������
.�������� $���!�����

In(v) =
1
2

∥∥yn(v) − z
∥∥2

X
+

γ

2

∥∥v∥∥2

2
.

-������
 ����������!�����
 ����
� ������������ ���������
�
� � � � 
 � 1n � ����� ����� ���������� vn� ������� ������������  ���!����� In ��

���#�$��� U �
%� �������� � �������� ) ��������������
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�� � � �� � �� ,�- �./�0� n ��&�'� 1n �����(����

.�����
�� 
���� v � vn ��'���� ����
 ) � 1n� ��������������� -��������� ������ �������
����!�� ���� �����	 �� �����&������

�� � � �� � �� )�� n→ ∞ ����� ��$�� $*�&���$�+ I(vn) → I(v)�

��
 � � � � � � � � � 	 � � %�����
�� �������� In(vn) ≤ In(v)� ��������� ������'����

In(vn) − I(v) ≤ In(v) − I(v) ≤ sup
u∈U

∣∣In(u) − I(u)
∣∣.

C������
�� �� ����������� I(v) ≤ I(vn) �������

I(v) − In(vn) ≤ I(vn) − In(vn) ≤ sup
u∈U

∣∣In(u) − I(u)
∣∣.

" ���������� ����
��� �!����∣∣In(vn) − I(v)
∣∣ ≤ sup

u∈U

∣∣In(u) − I(u)
∣∣.

.��	�� � ���� ����� ) �������� 
�� In(vn) → I(v) � 6
�����
 ������������� �����������	 ��
����������� ��������� ���������� min In(U) → min I(U) � -���������� �!����∣∣I(vn) − I(v)

∣∣ ≤ ∣∣I(vn) − In(vn)
∣∣ +

∣∣In(vn) − I(v)
∣∣ ≤ sup

u∈U

∣∣In(u) − I(u)
∣∣ +

∣∣In(vn) − I(v)
∣∣.

=����� ��
 ����
���
 &�������� ���������� �������
�� ��������������
 ������ ) � ��������
������ ����� ����������	 ��������� $���!��������
���������� �����&����� ���� ������ ������
������ ��'���
 ����
� )� ��
 #���� ������

��
�� ����� ��'���� vn ����
� 1n� =���� ��� �������
�� ����'�� ���
���
� ��������� n
���
���� ��������������� $���!������ I �� ���������� ���������� vn ����������
 �����
������ ������� � ��� �������� �� ���&����� U � :���
� 1n ��������������
 ��$$����!��
������ ����������� ���������� 
��� �� ������������ ��&�� ��� �����
���
 ������������
���������

�� ����	�� �������������� ��
 ����
���
 ����������� ������� ������������� �����
����� ��$$����!��������� ��'���
 ������� ����
� (5*� (9* �� ���������	 � ������������
� ���������� ��������� � 3)+4� A� ������'���
 (5* v = u + σh � ��� σ > 0, h ∈ V �������
������'����

y′n(u+ σh) −�yn(u+ σh) + gn(yn(u+ σh)) = u+ σh+ f.

"�
���
 ���	�� �������
��� ����&���� ��� v = u � ��������� ���������

φ′ −�φ+ gn(yn(u+ σh)) − gn(yn(u)) = σh,

��� φ = y(u + σh) − y(u) � 6���&�
 #�� ������'���� �� �������
�� ������	 $���!�	 λ �
���������
 ��������� �� ������� Q � �
���� $������ D�����&�� ����� �����∫

Q

[
φ′ −�φ+ a(σ)2φ

]
λdQ =

∫
Q

σhλdQ, (E*

���
a(σ)2 = gny

[
yn(u) + δ[yn(u+ σh) − yn(u)]

]
, δ ∈ [0, 1].

.������� 
�� ������!���������� ����������� �� ��$$����!������� $���!�� gn ������� ��
�� �������������



?< -� @� -����������

���������� ������	 ����
�

p′µ(σ) + �pµ(σ) − a(σ)2pµ(σ) = μ, (x, t) ∈ Q, (F*

pµ(σ)
∣∣∣
t=T

= 0, x ∈ Ω; pµ(σ) = 0, (x, t) ∈ Σ. (0*

.������� 
�� $���!�
 pµ(σ) ������� ���&� �� h, u � n � ������ ��
 �������	 �� ������������
#�� ����������� ����!��������� ���� �� ������� .�������� $���!��������� ������������

P =
{
p | p ∈ X, p′ ∈ X ′ + L6/5(Q)

}
, P (σ) =

{
p ∈ P | a(σ)p ∈ L2(Q)

}

� ���&����� M =
{
μ ∈ X

′∣∣ ‖μ‖X
′ = 1

}
� A���� ����� �����	 �� �����&������

����� �� ,�- �./�0� ������ n � ���'���� σ > 0, h ∈ V, u ∈ V, μ ∈ X ′ ��&�'� (6), (7)
����� �&��$������� ��(���� pµ(σ) ∈ P (σ)� ���'�� ��� σ → 0 ����� ��$�� $*�&���$�+

pµ(σ) → pµ(0) $��/� � P ���������� �� μ ∈M �

��
 � � � � � � � � � 	 � � 6���&�
 ��������� (F* �� $���!�	 pµ(σ) � ���������
 ���������
$�������� �� ������� Q � ����� ����� �����������∫

Q

[
pµ(σ)

∣∣
t=0

]2
dΩ +

∥∥∥pµ(σ)
∥∥∥2

X
+
∫
Q

[
a(σ)pµ(σ)

]2
dQ ≤

∥∥∥pµ(σ)
∥∥∥

X

∥∥∥μ∥∥∥
X′
.

A� ������������ � ��$$����!��������� $���!�� gn ������� ������!���������� �� ���������
���� " ���������� ����
��� �!����∥∥∥pµ(σ)

∥∥∥
X

≤
∥∥∥μ∥∥∥

X′
,
∥∥∥a(σ)pµ(σ)

∥∥∥
2
≤
∥∥∥μ∥∥∥

X′
.

A� ����������
 $���!�� gn ������� ������
������� ����
��� a(σ) � ������������ L3(Q)� 6
��
����
 ������������� ��������� D������� ��� ������&���
 �� ������������ H1

0 (Ω) � H−1(Ω)�
� ���&� ����������� B�������� �� ������'���
 (F* ������� �!����∥∥∥p′µ(σ)

∥∥∥
X′+L6/5(Q)

≤
∥∥∥�pµ(σ)

∥∥∥
X′

+
∥∥∥a(σ)2pµ(σ)

∥∥∥
6/5

+
∥∥∥μ∥∥∥

X′
≤

c
∥∥∥pµ(σ)

∥∥∥
X

+
∥∥∥a(σ)

∥∥∥
3

∥∥∥a(σ)pµ(σ)
∥∥∥

2
+
∥∥∥μ∥∥∥

X′
,

��� ��������� c ������� ����	
������� �� ��������������� �������� .��	�� � ���� ����'��
����	 �� ���������� ������� �!���� ����������� �� ������� �� $���!�� pµ(σ) � ������������
X ′ + L6/5(Q)� =���� �������� ������
 ����
� (F*� (0* ��
 ��������� ��������
 ��������
�����
�� ���� ��������� ��������	 �!���� ��'���
 � ������������ P (σ)� %�����
�� ������������
�������� (��������� ������� 1�#�� ; B��������� ��� 3)54� �� ))<*� ��������� �������
��	 ����
��'������ #��� ����
� � ��������� ������������� %������� � ������� ��� σ → 0� .��	��
�������� 
�� (u + σh) → u � V � � ���
�� (� ���� ������������� ��'���
 ����
� ()�)*� ()�+*
�� ���������	*� y(u + σh) → y(u) � Y � � ���
��� � ���� �� Q� " ���������� ����
���� 
��
a(σ)2 → gky(y(u)) ���� �� Q� " ������������ � ����
������ ��'� �!������ ��������� {pµ(σ)}
������
��� � ������������ P ���������� �� μ ∈M � %���� ��������
 ���������������������
(� ����������� ���&���� ������
���
*� ��������� ���������� pµ(σ) → pµ ����� � P ���������
�� �� μ ∈M � " ������������ � �������� E�) (���� 3)94� �� 0<* ������������ P ���&��� ���������
� L6/5(Q)� %���� ��������
 ���������������������� ��������� ���������� pµ(σ) → pµ ������
���� �� Q ���������� �� μ ∈M � .��	�� �������� 
�� a(σ)2pµ(σ) → gky(y(u))pµ ���� �� Q ������
����� �� μ ∈M � %�����
�� ������ )�5 (���� 3)94� �� +E* � �
���� ����������� ������
�������
��������� {a(σ)2pµ(σ)} � ������������ L6/5(Q)� ����	
���� 
�� a(σ)2pµ(σ) → gky(y(u))pµ �����



.���������� ���������� ��
 ��������� � ��������� ������������	� / ?)

� L6/5(Q)� 6���&�
 ��������� (F* �� �����������	 �������
�� ������	 $���!�	� ���������

��������� �� ������� Q � �������
 � ������� � ����
����� ����&���� ��� σ → 0� ����	
����

�� pµ = pµ(0)� D���� ���������
=����� ���������
���
 �����&��� ���������� ��$$����!��������� ��'���
 ������� ���

��
� (F*� (0* �� ���������	�

����� �� )�� $&������* ���&����#���-* ���/��#���� yn(·) : V → X � �./�� ��'��

u ∈ U ����� �������&��. 1��� Dyn(u)� ����&��-���. �����$����

−
∫
Q

μDyn(u)h dQ =
∫
Q

pµ(0)h dQ ∀μ ∈ X ′, h ∈ V. (?*

��
 � � � � � � � � � 	 � � .
������� ������'���� (?* �������
�� �������� �����������
�������� Dyn(u)� �������	 �� �� ������������ V � X� %���&��� 
�� �� 
��
���
 �����������
B��� ��������� yn(·) : V → X � ��
�� u� "������
 � �����������	 ��������� (E*� .�� �����
����� ��
 �	��� $���!�� λ �� ������ P (σ)� .�������� � ��� λ = pµ(σ)� � ���������� ����
��

−
∫
Q

μ
[
yn(u+ σh) − yn(u)

]
dQ =

∫
Q

σpµ(σ)h dQ ∀μ ∈ X ′, h ∈ V.

.��	�� � �� ������
 (?* ����
���∥∥∥σ−1
[
yn(u+ σh) − yn(u)

]
−Dyn(u)h

∥∥∥
X

= (7*

= sup
µ∈M

∣∣∣ ∫
Q

μ
{
σ−1

[
yn(u+ σh) − yn(u)

]
−Dyn(u)h

}
dQ
∣∣∣ =

=
∣∣∣ sup

µ∈M

∫
Q

[
pµ(σ) − pµ(0)

]
hdQ

∣∣∣ ∀h ∈ V.

%������
 ����� � ������� ��� σ → 0 � �
���� ����� 5� ���������� 
�� �������� Dyk(u)
������������� 
��
���
 ����������� B��� ��������� yn(·) : V → X � ��
�� u� D���� ���������

=����� �����&�� ���������� ����������� ������
 ��������������

�� � � �� � �� )�� $&������* ���&����#���-* ��(���� ��&�'� 1n ����&��-��$- ��  ��"

����

vn = Π(pn/γ), ()<*

0&� Π �$�+ �������� �� ���#�$��� U � � pk 2 ��(���� ������� ��&�'�

p′n + �pn − gny(yn(vn))pn = �z −�yn(vn), (x, t) ∈ Q, ())*

pn(x, T ) = 0, x ∈ Ω; pn = 0, (x, t) ∈ Σ. ()+*

��
 � � � � � � � � � 	 � � =�
�� �������� vn ��$$����!�������� $���!������ I
n �� ���

������ ������&����� U ����������
�� �����!������� ����������� (��� 3)54� >� )?*

I ′n(vn)(u− vn) ≥ 0 ∀u ∈ U. ()5*

:���� ����������
 $���!������ � ���� $������ B���� ��������������
 ����������

I ′n(vn) =
∫
Q

[
�z −�y(vn)

]
Dy(vn)h dQ+ γ

∫
Q

vnh dQ.



?+ -� @� -����������

%�����
�� ������'����� (?*� ������

I
′
n(vn)h =

∫
Q

(γvn − pn)h dQ.

" ���������� ������� ()5* ��������� �����	 �� ���∫
Q

(γvn − pn)(u− vn) dQ ≥ 0 ∀u ∈ U.

.��	�� � ���� ����������
 ��������� �� �������� ������&����� ����������� ������������
������� ��������� ()<*� =������ ���������
-������� ������� 9 ��
 ����&����
 ��'���
 ����
� ��������
 ��������� ��'��� ��������

���	
�	 �	 � ���
 ��������
 �����
��
 (5*� (9* ��� v = vn� ����
&����	 ����
� ())*� ()+*
� $������ ()5*� ��
 �� ������
����� �������!�� ��&�� ��������������
� ��������� �������
���������������� ������&���� 3)E4� " ������������ � ���������� �������� 5 ��� �������
��
����'�� ������� n ���
���� $���!������ I �� #��� ���������� ����� ������ ������ � ���
�������� �� ���&����� U � =���� �������� ���������� ����������
 ������&����� ��'�����
����
� )�
"� ������ 
���� ������ ����� ���������� ������
���� ���
��� ����� ��������������� �����

����� �� ����� ��������� �!����� " #��� ������
� �����
 ������
 ����
� ��&�� �� ����� ����
�������� ��'���
 �� ������������ ����������� "��������� #���� �� �� ����� �����&�����
��������������
 � ������ ������� ��������� ��'� ���������� � 
��������� ���������� ��$�
$����!��������� $���!�� �����
��
 ������� �� ���������	 ��
 ������������	 �� ����
��
" #��� �����!�� �����������
 ������������ ������	 ����������!�	 ����
� ��������� � �����
$�!��������� ������� '���$�� G�� �������� ���������� � ��������� ������ ������&�����
��'���� �������� ����
��

� �� � 
 � �� � �� )���'����� �����+���� �$��.�$- � $��� &�- �./�0� '�$�� ���������

���$����$������� �/��$�� ��� ������������� ����������� � ���������� '���� � ��������

�������+��$�� � $������$���� $ ��������� ���#���-� 3$�� ���������+ ��$�� �������"

��$�� � ����&������ ���#�$��� G1 �� $�-��� $ ����������� ����0�������$��� ��&�������

�������� 4�/������ �� &�- ������$����������0� ��������- �#� �� �&�$�$- �$�������+ &� "

 ����!������$�+ ��(���- �� ���������. (����� 3)� 
�� �� ������ $�*���-��$- �����#"

��$�+ �/�$������- �0� ��$(������� &�  ����!������$�� [12]� '�� ���������$- &�$����'"
��� &�- ����'���- �$����� �������+��$�� ���� ������� 4�

� �� � 
 � �� � �� 5�������� �������+��$�� ��#�� /��+ ����0���+���  ���!�����

�/6�0� ��&� $� $���&������� �0����'���-�� �� ��&����0���+��� ����#���� 7 ���!�- 5�"

�����&��� $ �0����'���-�� �� $�����+ ��$�� ���������$���� �������$�+ � &�  ����!����"

��$�+8� 3$�� $��  ���!����� ���������$- �� 0��&���� �� ���$����. ��(� ����&��� ��#��

������-�+ $����$��� $ ����$����� ����&��� ��0��&��� ��������!�� ($�� [3], [11])� 
�0&�
�$����� �������+��$�� ����$�����$- �� � �������* �/�'��*  ���!�����+��* �������&��*�

� $ �$���+�������� �* �/�/6���� ($�/&�  ����!���� �������&��- 5����� � ��&�)�

� �� � 
 � �� � �� 
������ 4 &��� ��(+ ���/*�&���� �$����� 9�$������� &�- ������$�"

����.6�� ��&�'�� �$��&$���� '�0� ��� ��������$�� � ���� '�� ���������� ��(���� $�$��"

�� �$����� �������+��$�� &��$������+�� ������������ $������$���.6��  ���!������

4��+����� ���&��$�� ��������� � ��� ������'�$��� �������!�� �$����� �������+��$���

:&���� �� #� 9  ���� *��������� &�- �./�* ���������* 9�$������+��* ��&�'�

� �� � 
 � �� � �� ; ������ �/�/6����*  ���!�� ���-&� $� $���&������ ��&*�&�� ($���
��������� [16]) �$���+����$- ���#� $�����!���+��� ����& [17]� ��� ������� ��$���&������
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������$�������$- 0��&����  ���!�-��� :��$����- ��(� ����&��� � ����&������� $��$��

�$������ �� ��* #� �&�-*� ; 9��� $�-�� �$�+ �$������- ��&�-�+$- �� �����#��$�+ ��$"

���$�������- ���-��- $�����!���+��� �������&��� �� ���������� 3$�� /� 9�� �&���$+� ��

����'����� ��(� �����+���� ��#�� /��� /� �$�������+ $���&������ �����!������ ��"

��&�� $ ������� �/�'��* ����������* �������&��* �� $�����!���+����

� �� � 
 � �� �  � <�������� $�$��-��- �� �/-���� ����+ ����/���'�$��� ���� )���'��"

��� �����+���� ��#�� ��$���$������+ �� &�$����'�� (������ ���$$ ��&�' �������+��0�

���������-� $�-�����* $ ����������� ��������-�� $ ��0��&���� ������������

��������  �! "��#���$��

�! ��� ���� ����	
 �� �� ��	�
��	��
	�� �	����! �!� �#%�! 4�� �!

�! �
�
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+
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	�
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 1��� _���d�		�� 9�	�
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�%! ,	+���� ��� *��.��	���� -�� ��������� �� N����7 ����d�		�� 9�	�
��! L����	
��

��
	�� 6�8��8! �!� �#%:!

)�$������ � ��&��!�. 
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+� )���' 	
��	�
��������
 x ≥ 0 �������� �
 ��
�� ������� �
����� h� 0 < x ≤ h� �
���
�
�
� �
��� �� ������� x = 0 ��������� ���� / Pα(�s, t)� ��� �s∈ (y, z) / ����
� �

������#
�
� 	�
��
���� $��� ������� ������� ��"�� 	
��	�
��������
� � ��
�� ������� ���
��
��

	�������
� �������
� %������� �

������ �s

x = ξ(�s). 7+8
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���!����� 	
�
�� 	�
��
��� 
������ �
�� ���� ���������� ��
 �����#
���� �� ���
��
���� ������� ������� �� !
�'(�� �����
����� � �������� 
� ����� � �
�����
�
�!�"������

=� )
�
� 	�
��
��� 
������ q � �	���
� �
��� 
	������� �� ��������� ���������
���

dE(x,�s, t)
dt

= −>?@ q(x,�s, t), 7=8

��� 	�
��
��' 
!6���
� 
������ ��%
������ E 
	���������� �

��
(�����

E = ρc2t ε
2
ji +

ρ

2
(
c2l − 2c2t

)
ε2ji +

ρU̇2
i

2
. 708

<���' ρ / 	�
��
��' ������ Uij / ����
� ��%
������� Ui / ����
� ��������� cl� ct / ��
�
#
��� 	�
�
�'��� � 	
	������� �
�� 	
��	�
���������� �

����������
� 9�	
�'��� ���������
���"����

c2t ΔUj +
(
c2l − c2t

)
ABC> >?@Uj = Üj , 718

	
����� ��� 	
�
�� 	�
��
��� 
������ �	����� �
�� qj (x,�s, t) ��������� ����"����

qj(x,�s, t) = −
[
2ρc2t U̇iεij + ρ(c2l − 2c2t )U̇jεkk

]
. 7;8

0� )
�����
����� �
��� ���� ��
�����
���� ��������� ��������� ���
����.

C8 �� ��
!
��
� 	
�����
��� ��
�

σ̃αβñβ = 0, x = −h 7D8

7����  ���'�� 
��
����� �
 ���� ��������� ��
�8E

F8 �� ���������� ������� ������� x = ξ (�s)

σαβnβ − σ̃αβñβ = pα,

Uα (x,�s) − Ũα (x,�s) = fα, x = ξ (�s) ,
7G8

��� �n

⎛
⎝ 1, − ∂ξ

∂y
, − ∂ξ

∂z√
1+

(
∂ξ
∂y

)2
+( ∂ξ

∂z )
2

⎞
⎠ / ����
� �
����� � ������� ������� ����� � pα � fα / ���
�
���

�
�������� 
������� 
� ���� � ���
� 
!����� �� �������� σαβ / ����
� ��	��"����� $�����
ξ (�s) ���
� �������
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 ��������� � ���������
� ����
� λ� �� �����
���� �
�
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� ��������
Uα (x,�s) � ��	�������� x > 0� ��	������ �
��� ���� 
���!����� ����!' 	
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���������
�� �����
���� 	
����� ����� �
��� λ� 5���
"�� ��������� ���
��� 7G8 � ��� H���
�� 	

���	���� ξ(�s)/λ �� �

�������
� 	�
��
��� x = 0� 9�	
�'��� ���
� I��� / ����' ��"��
����
�
� ��	��"���� σαβ � ��������� / 	
����� � �
��
��'� �
 ����
� ��
�
�
 	
�����

ρ
(
Π(0) + Π(1) + Π(2)

)
αβ
Uβ (x,�s) − ρ̃

(
Π̃(0) + Π̃(1) + Π̃(2)

)
αβ
Ũβ (x,�s) = pα,

Uα (x,�s) + ξ (�s)
∂Uα (x,�s)

∂x
+
ξ2 (�s)

2!
∂2Uα (x,�s)

∂x2
− 7:8



:D J� 9� K�����
�

−
(
Ũα (x,�s) + ξ (�s)

∂Ũα (x,�s)
∂x

+
ξ2 (�s)

2!
∂2Ũα (x,�s)

∂x2

)
= fα,

��� Π(0)
αβ = c2t δαβ∂α + c2t δβx∂α +

(
c2l − 2

)
δαx∂β �

Π(1)
αβ = −c2t δαβ∂lξ∂l − c2t∂βξ∂α − (

c2l − 2
)
∂αξ∂β + c2t ξΠ

(0)
αβ∂x�

Π(2)
αβ = ξΠ(1)

αβ∂x − 1
2ξ

2Π(0)
αβ∂xx� <���' 
!
������
 ∂α ≡ ∂/ (∂rα)�

����"���� ��� Π̃(0), Π̃(1), Π̃(2) 	
�������� ����
����
 �����
� cl → c̃l, ct → c̃t�

5���
"�� ��������� ��������� 
� �

������� �s� � ��
��
� �������� L��'�

Uα(x,�s) =
1

(2π)2

∫
ei(

�k �s) Uα(x,�k)dkydkz,

ξ (�s) =
1

(2π)2

∫
ei(

�k �s) ξ(�k)dkydkz.
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Qαβ (k)Uβ (k, x) = 0, 7N8

��� Qαβ = δαβ

(
ω2 − c2tk

2 + c2t∂
2
xx

) − (
c2l − c2t

)
kαkβ � $
�
��	�
��' ��������� ���
��� 7D8 � 7G8

�
"�� !��' ������� � ��������'��� ���������� ��	�

Π̃(0)
αβ(�k, x)Ũβ(�k, x) = 0, x = −h.

ρ

(
Π(0)

αβ(�k, 0)Uβ(�k, 0) +
1

(2π)2

∫ [
Π(1)(�k, �q) + Π(2)(�k, �q)

]
αβ
d2�q

)
Uβ(�q, 0, ω)−

−ρ̃
(

Π̃(0)
αβ(�k, 0)Ũβ(�k, 0) +

1
(2π)2

∫ [
Π̃(1)(�k, �q) + Π̃(2)(�k, �q)

]
αβ
d2�q

)
Ũβ(�q, 0, ω) = Pα(�k, ω), 7+O8

Uα(�k, 0) +
1

(2π)2

∫
ξ(�k − �q)

∂Uα(�q, 0)
∂x

d2�q +
1

(2π)4

∫
ξ(�k − �q − �q′)ξ(�q′)

∂2Uα(�k, 0)
∂x2

d2�qd2�q′−

−
(
Ũα(�k, 0) +

1
(2π)2

∫
ξ(�k − �q)

∂Ũα(�q, 0)
∂x

d2�q+

+
1

(2π)4

∫
ξ(�k − �q − �q′)ξ(�q′)

∂2Ũα(�k, 0)
∂x2

d2�qd2�q′
)

= Fα(�k, ω).
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��	�
���������� ��
�����
������
 ��������� ���
���� 7+O8 � ���������
��
� ���� 	�� x → ∞� P�
 ��(���� ������� ��� 
� %
��� 	
�����
��� ξ (�s)� 
	����������
Π(1) � Π(2)� Π̃(1)� Π̃(2)� ��� � 
� ����
"���� ���
�
 �������� � 	
������� ��������� 7+O8� )


�
� 	������ �������
� ��(���� ������� ��������' 	
 ���
�
�
�� ���	��������� ���������
%������ ξ(�s)� Q��
�
 ���� ���	��������� �� 	
���!������ 	
��
�'�� �����'���� 	
��������
��"�� �	�������� ��(' �
 ��
�
� 	
����� 	
 ξ � ����"����� ����� !������� �
�������
����
%������ ���� 〈

ξ(�s)ξ(�s′)
〉

= ξ2(�s− �s′).



� 	
�
�� 	�
��
��� 
������ �
�� ���� �� ������������� (��
�
����� �������� ������� :G

P�� %������ �������� �������������
� 	
�����
��� � ������� 
� ����
��� �s − �s′� ��� ���
	
�����
��' 	���	
�������� 
��
�
��
� � �������� )�� 
������ �� !���� ������' ��������#
�� �������� ξ2(0) = a2 � ������ 
!����� d� ��� ξ2 ������
 
������ 
� ����� H�� ������

����������� ��(���� ��������� 7N8 ��� 	
��	�
��������� ����� ���

Uβγ(�k, x) = Uβγ(�k, 0) exp
(
ik(γ)

x x
)
, k(γ)

x =
√
ω2/c2γ − k2. 7++8

9����� γ� ���������� ��(����� �
"�� 	�������' �������� x� y� z ���� ��
 cy = cz = ctE cx =
= cl 7������ t / 
������� 	
	������� 	
����������� l / 	�
�
�'�
� 	
��������� 
!6�����

�
��8� � %
����� 7++8 ��� k
(γ)
x !������ ���� �
���� ��� �
�
�
�
 Imk(γ)

x > 0� !���
���� ����

U
(ω)
βγ (�k, x) → 0 	�� x→ ∞� R�
!� 
!��	����' �!������ � ������ ω2/c2l − k2 > 0� �������� ��
 �

����
�� ω ������� ����� �
!���� � 	
�
"����'�
� ����
� ����'�� ��	������ ������� Qαβ �

������ ��
 � �������� �������� U
(ω)
βγ (�k, 0) �
"�
 ����'

Uβγ(�k, 0) =

⎛
⎜⎝ k

(x)
x iky ikz

−iky −k(y)
x 0

−ikz 0 −k(z)
x

⎞
⎟⎠. 7+=8

<���' � � ���'���(�� 	
 	
��
��������� �������� ����������� ��(���� k
(γ)
x � ��� ���#

���
������ � � �
�	
���� ky, kz 
� �
�"�� !��' 
	�����
�!��� ��(���� ��������� 7N8 ��� 	
��	�
��������� �
"�
 ��	����' � ����

Uα (k, x, ω) =
∑

γ

Uαγ (k, x, ω)Cγ (k, ω) . 7+08

-�� ��
� ������� ��� ��(���� ��#�� 
��������� 
���������� �� ��!
� ����� �
��� k
(γ)
x � 7++8

Ũαγ(k, 0) =

⎛
⎜⎝ k̃

(x)
x iky ikz

−iky −k̃(y)
x 0

−ikz 0 −k̃(z)
x

⎞
⎟⎠ , Ṽαγ(k, 0) =

⎛
⎜⎝ −k̃(x)

x iky ikz

−iky k̃
(y)
x 0

−ikz 0 k̃
(z)
x

⎞
⎟⎠ .

�!��� ��(���� ��� ��
� ����� ���� ����
������ 7+08.

Ũα(x,�k, ω) =
∑

γ

Ũαγ(x,�k, ω)C̃γ(�k, ω) +
∑

γ

Ṽαγ(x,�k, ω)C̃
′
γ(�k, ω). 7+18

����
�� C(�k)� C̃(�k)� C̃
′
(�k) 
	���������� �� ��������� ���
��� 7+O8� �
�
��� 	
��� 	
����#

�
��� � ��� 7+08 � 7+18 	�������� ���

H
(0)
αβ (�k, h, ω)Lβ(�k, ω) +

∫
d2q

(2π)2
[
V

(1)
αβ (�k, �q, ω) + V

(2)
αβ (�k, �q, ω)

]
Lβ(�q, ω) = Pα(�k, ω). 7+;8

<���' Lβ(�k, ω) / N#�� �
�	
������� ����
�� �
���������� �� C(�k, ω)� C̃(�k, ω)� C̃
′
(�k, ω)� H��

	����� �
�	
����� L 
	���������� C
(
�k, ω

)
� � 
����'��� L / C̃

(
�k, ω

)
� C̃

′
(
�k, ω

)
� ����"�#

��� H
(0)
αβ � V

(1)
αβ � V

(2)
αβ �������� ��������� 9 × 9� 
������� �
�
��� ���
����� �� ���������

�

��
(����

H(0)
αγ = i

[
k̃(γ)

x Ũαγ

(
�k, h, ω

)
+ kαŨxγ

(
�k, h, ω

)
+ δαx

(
c̃2 − 2

)
kβŨβγ

(
�k, h, ω

)
−

−k̃(γ)
x Ṽαγ

(
�k, h, ω

)
+ kαṼxγ

(
�k, h, ω

)
+ δαx

(
c̃2 − 2

)
kβṼβγ

(
�k, h, ω

)]
,



:: J� 9� K�����
�

α = 1, 2, 3; γ = 1, 2, . . . , 9.

H(0)
αγ = i

[
ρc2t

(
k(γ)

x Uαγ

(
�k, 0, ω

)
+ kαUxγ

(
�k, 0, ω

)
+ δαx

(
c2 − 2

)
kβUβγ

(
�k, 0, ω

))
−

−ρ̃c̃2t
(
�k(γ)

x Ũαγ

(
�k, 0, ω

)
+ kαŨxγ

(
�k, 0, ω

)
+ δαx

(
c̃2 − 2

)
kβŨβγ

(
�k, 0, ω

))
−

−k̃(γ)
x Ṽαγ

(
�k, h, ω

)
+ kαṼxγ

(
�k, h, ω

)
+ δαx

(
c̃2 − 2

)
kβṼβγ

(
�k, h, ω

)]
α = 4, 5, 6; γ = 1, 2, . . . , 9.

H(0)
αγ = Uαγ

(
�k, 0, ω

)
−
(
Ũαγ

(
�k, 0, ω

)
+ Ṽαγ

(
�k, 0, ω

))
α = 7, 8, 9; γ = 1, 2, . . . , 9.

4���
������ ����"���� �
"�
 ��	����' � ��� ��������'��� ���� V (1)(�k, �q)� V (2)(�k, �q) ��
7+;8� ��
!���
��'� 
��� ���� �������� �
� ��
 ��� ��� V (1)� ��� � ��� V (2) 	�� α = 1, 2, 3 ���
��������� 
������� ��� ��!�� γ ����� ����E 	�� α = 4, 5, 6 � γ = 1, 2, . . . , 9 �����.

V (1)
αγ

(
�k, �q

)
= ξ

(
�k − �q

){
ρc2t [δαβ

(
�k − �q

)
�qUβγ (�q, 0, ω) +

(
�k − �q

)
β
qαUβγ (�q, 0, ω) +

+
(
c2 − 2

) (
�k − �q

)
α
qβUβγ (�q, 0, ω) − q(γ)2

x Uαγ (�q, 0, ω) +

+qαq(γ)
x Uxγ (�q, 0, ω) +

(
c2 − 2

)
δαxq

(γ)
x qβUβγ (�q, 0, ω)−

−ρ̃c̃2t [δαβ

(
�k − �q

)
�qŨβγ (�q, 0, ω) +

(
�k − �q

)
β
qαŨβγ (�q, 0, ω) +

(
c̃2 − 2

) (
�k − �q

)
α
qβŨβγ (�q, 0, ω)−

−q̃(γ)2

x Ũαγ (�q, 0, ω) + qαq̃
(γ)
x Ũxγ (�q, 0, ω) +

(
c̃2 − 2

)
δαxq̃

(γ)
x qβŨβγ (�q, 0, ω) +

+δαβ

(
�k − �q

)
�qṼβγ (�q, 0, ω) +

(
�k − �q

)
β
qαṼβγ (�q, 0, ω) +

(
c̃2 − 2

) (
�k − �q

)
α
qβṼβγ (�q, 0, ω)−

−q̃(γ)
x Ṽαγ (�q, 0, ω) − qαq̃

(γ)
x Ṽxγ (�q, 0, ω) − (

c2 − 2
)
δαxq̃

(γ)
x qβṼβγ (�q, 0, ω)

]}
.

-�� V
(2)
αγ

(
�k, �q

)
� ������ α = 4, 5, 6 � γ = 1, 2, . . . , 9 �����

V (2)
αγ

(
�k, �q

)
= i

∫
d2�q′

(2π)2
ξ
(
�k − �q − �q′

)
ξ
(
�q′
){

ρc2t

[(
�q�q′ − q

(γ)2

x

/
2

)
Uαγ (�q, 0, ω) +

+

(
�q′βx − δβxq

(γ)
x

2

)
q(γ)
α Uβγ (�q, 0, ω) +

(
c2 − 2

)(
q′αγ − δαxq

(γ)
x

2

)
q
(γ)
β Uβγ (�q, 0, ω)

]
−

−ρ̃c̃2t
[(
�q�q′ − q̃

(γ)2

x

/
2

)
Ũαγ (�q, 0, ω) +

(
q′βx − δαxq̃

(γ)
x

2

)
q̃(γ)
α Ũβγ (�q, 0, ω) +

+
(
c̃2 − 2

)(
q′αγ − δαxq̃

(γ)
x

2

)
q̃
(γ)
β Ũβγ (�q, 0, ω) +

(
�q�q′ − q̃

(γ)2

x

/
2

)
Ṽαβ (�q, 0, ω) +

+

(
q′βx +

δαxq̃
(γ)
x

2

)
q̃(γ)
α Ṽβγ (�q, 0, ω) +

(
c̃2 − 2

)(
q′αγ − δαxq̃

(γ)
x

2

)
q̃
(γ)
β Ṽβγ (�q, 0, ω)

]}
.

-�� V
(1)
αγ

(
�k, �q

)
� ������ α = 7, 8, 9 � γ = 1, 2, . . . , 9 �����

V (1)
αγ

(
�k, �q

)
= i

∫
d2�q

(2π)2
ξ
(
�k − �q

)(
q(γ)
x Uαγ (�q, 0, ω) − q̃(γ)

x Ũαγ (�q, 0, ω) + q̃(γ)
x Ṽαγ (�q, 0, ω)

)
.



� 	
�
�� 	�
��
��� 
������ �
�� ���� �� ������������� (��
�
����� �������� ������� :N

-�� V
(2)
αγ

(
�k, �q

)
� 
�
� ������ �����

V (2)
αγ

(
�k, �q

)
=

∫
d2�q

(2π)2
ξ
(
�k − �q − �q′

)
ξ
(
�q′
)(

q(γ)2

x Uαγ (�q, 0, ω) + q̃(γ)2

x Ũαγ (�q, 0, ω) +

+q̃(γ)2

x Ṽαγ (�q, 0, ω)
)
.

<���' c2 = c2l /c
2
t � c̃

2 = c̃2l /c̃
2
t �

L��'� �
�	
����� 	
�
�� 	�
��
��� 
������ �
�� ���� ����� ��������� ���

qs′(x, k, ω) = − ρc2t
(2π)2

∫
ω′dω′d2k′

{
(�k − �k′)

s

[
U

(γ)
k (�k′, ω′) U (σ)

k (�k − �k′, ω − ω′)δss′+

+U (γ)
s (�k′, ω′)U (σ)

s′ (�k − �k′, ω − ω′) + (c2 − 2)U (γ)
s′ (�k′, ω′)U (σ)

s (�k − �k′, ω − ω′)
]
+ 7+D8

+k(γ)
x (�k − �k′)Uγ

x (�k′, ω′)U (σ)
s′ (�k − �k′, ω − ω′) + (c2 − 2)k(σ)

x (�k − �k′)U (γ)
s′ U

σ
x (�k − �k′, ω − ω′)

}
Lγ(�k′, ω′)Lσ(�k − �k′, ω − ω′) exp

{
i(k(γ)

x (�k′) + k(σ)
x (�k − �k′))x

}
.

S� !
�'(�� �����
����� 
� ����� �
�!�"����� � 	
�
�'� ��������� ���"���� 7N8 q �
"�

�������' ����� (�k − �k′)s� 	
��� ���
 ����"���� 7+D8 	���
����� � ����

qS′ =
−ρc2t
(2π)2

∫
ω′dω′d2�k′(�k − �k′)SLγ(�k′, ω′)Lσ(�k − �k′, ω − ω′)·

·T (γσ)

SS′ (�k′, ω′,�k − �k′, ω − ω′) exp
{
i(k(γ)

x (�k′) + k(σ)
x (�k − �k′))x

}
,

7+G8

���

T
(γσ)
SS′ (�k′, ω′,�k − �k′, ω − ω′) = U

(γ)
k (�k′, ω′) · U (σ)

k (�k − kp, ω − ω′)σSS′+

+ U
(γ)
S (�k′, ω′)U (σ)

S (�k − �k′, ω − ω′) − 2U (σ)
S′ (�k′, ω′)U (γ)

S′ (�k − �k′, ω − ω′)−
− U (γ)

x (�k′, ω′)U (σ)
x (�k − �k′, ω − ω′)σSS′ .

-�� ���������� ������� �L(�k) ���!����� ��(��' 7+O8� $����� ξ ���
�� ��(��� 7+O8 ����������
	
 V (1) � V (2)� � �����
� 	��!��"���� 	
 ξ �����

L(0)
α (�k′, ω′) = H

(0)−1

αβ (�k′, ω′)Pβ(�k′, ω′).

�!6������ 
!� ��(���� ��� 	
��	�
��������� � ��� ��
� 	
�������
� �������
� ��	����
	
�����

Uα(x,�k′, ω′) = U (γ)
α (�k′, ω′)H(0)−1

γβ (�k′, ω′)Pβ(�k′, ω′) exp
{
ik(γ)

x (�k′)x
}
. (18)

P�
 ��(���� ��� %�����
����
�
 α ����� �����' ��������� 	
 γ� � ����"���� 7+:8 �����.

��� γ = 1 k
(γ)
x = k� =

√
ω2

2
�
− k2E ��� γ = 2, 3 & k

(γ)
x = kt =

√
ω2

c2t
− k2E ��� γ = 4, 5, 6� �����

�� "� ����� �
���� ��
 � ��� γ = 1, 2, 3� � �
� ��(' ��������� ��
 ��
�
��� ���	�
���������
!������ ��� �
�� ��
�� ���� � ���'�
�E ��� γ = 7, 8, 9 ����� �
���� / 
!������ �� ��� ������

	�������� ��(���� ��� ��
�� ���� ��� γ = 4, 5, . . . , 9.

)
���� Uα(x,�k′, ω′)� 
	���������� �� 7+:8 	�� ���
��� detH(0)
γβ (�k′, ω′) = 0� ���� �������
�

���	����
��
� �

��
(���� �
�� ���� �� �
��
� ������� �������� K���������� 	
 �����#
�� 	
�
� 	�
��
��� 
������� 
	���������� ��������
������ ����"���� 7+D8 � ��
"������
exp(i�k�s)� �
�"�� ��������'�� 	�� ω = 0� S� �����'�
� 	
�����
��� �����'��� ��������
�����
�� !
�'(�� �����
����� 
	���������� 	
������ � ����������� 7+:8� � ���"� 	������'����
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�

�
����� 
��	
����� )
������� 
	�������� ����� 
!6����� �
�� � 	
�
� 	�
��
��� 
�������
)�� ��������
����� 	
 ���� ��"�� �k � �s ������� ��� 	������'��� �
���� 
��������� ����
��	��������� ���	�
����������

����� 	
���
�� ���� �
�� ���� � 	
�
� 	�
��
��� 
������ ����� ��������� �����
����

q(s) (0, �s, 0) ∼ ρ

s

∫
dω

′
ω

′3P 2(ω
′
). 7+:8

����� 	������'�
� �
��� kγ =
ω

cγ
· s√

x2 + s2
� ��������� � ��������� 	
 �
���� �k 
� 
!6��#

��� 	
	������� �
�� � 	
�
��� ���� ��������� 
�����

�q(v) (x,�s, 0) ∼ ρctx
3

(x2 + s2)
5
2

∫
dω′ω′2P 2(ω′). 7+N8

����� ���������� ���"� ����������� 	
	������� �
��� � 	
�
��� 	�
	
���
����� (x2 +
+ s2)−

5
4 � ��
 ���
 � ��������� � 7=O8 �� !
�'(�� �����
����� 	
 s�

�
��������' � ������ (��
�
���
� ������� �������� �� n#
� (��� �������� ���
���

L(n)(�k, ω) = −
∫

d2q

(2π)2
H(0)−1

(�k, ω)
[
V (1)(�k, �q) + V (2)(�k, �q)

]
L(n−1)(�q, ω). 7=O8

)
�������� � 7+G8 ��������� �� 7=+8 �������� L(n)(�k, ω) � �������� 	
 (��
�
���
����� ��#
���� ��
 �
������� ��������� ���� ��	
�� � ��������� 	���
�
 ��	� ������� 
� 	�
���������
���!������� �� 	�
��������� �������� ���������� �������
 
� Lγ(�k′, ω′) 	
��
!�
 
	����
 �
*=, � 	���
��� � ���������� �����'����

< Lγ(�k′, ω′) >= H−1
γβ (�k′, ω′)Pβ(�k′, ω′), 7=+8

Hγα(�k′, ω′) = H(0)
γα (�k′, ω′) −

∫ 〈
V

(1)
γβ (�k′, �q)H(0)−1

βυ (�q, ω′)V (1)
υα (�q,�k′)

〉 d2q

(2π)2
+
〈
V (2)

γα (�k′,�k′)
〉
.

$�������� � V �������� �	���� �
�� ����� �!���� 	
���� H−1 �
"�
 	���������' � ����

H−1(�k′, ω′) =
(
k′2 − k2

0(ω
′) +

i

(τcλ)2

)−1

R(�k′, ω′), 7==8

��� R(�k′, ω′) / �������� �� ������� 
�
!���
����� 4���	�
�������� ����"���� ��� τcλ 	����#
���� � *=,� �������� ��
 %
����� 7==8 	
��
���� ��������' ��������� ��(' �
 ��
�
� 	
�����
	
 ξ/λ� ��� ��������� 
	���������� !�����
� �
�������
��
� %�������.〈

V (1)(�k)V (1)(�k′)
〉
∼ ξ2 ∼

〈
ξ(�k)ξ(�k′)

〉
= (2π)2δ(�k + �k′)ξ2(�k).

����
 �!����'��� ��
 � �
 ����� ��� ��������� � V (1)(�k, �q) 
	�������� � ���������� � �����#
��� �
!�������� ����
� �
�� ���� �� (��
�
���
� ������� ������� ��
� & 	
��	�
��������
�
����� � 〈V (2)(�k,�k)〉 ������ � ��������� �� ����� )
 
�
� 	������ 
�� � ���'���(�� �������#
�����'�� �� !�����

S� ���!�����
� �� 	�
��������� ������� ����"���� �
 ��
�
� 	
����� 	
 ξ ��
!��"��

�� ����+

H(0)−1(�k′, ω′)
V (1)(�k, �q)
H(0)−1(�q)
P (�q, ω)

� �

H(0)−1(�k − �k′, ω − ω′)
V (1)(�k − �k′,�k − �q)
H(0)−1(�k − �q)
P (�k − �q, ω − ω′)

5���+�



� 	
�
�� 	�
��
��� 
������ �
�� ���� �� ������������� (��
�
����� �������� ������� N+

H
���� ����� ���������� � H(0)−1(�k′, ω′) � 
����������� P (�k′, ω′)� ��!
 ���������� �
H(0)−1(�k−�k′, ω−ω′) � 
����������� P (�k−�q, ω−ω′)E 	�������
� ����� �

���������� !�������
�
�������
���� %������ ξ2E � ���(��� 	
�������� ��
"����' V (1)� )
�
!��� ���%�������

!
�������� 	������ � ��
��� �
�������� �����
�
� ���������� *D,� )�
������� ������
��#
��� �������
��
�
 ���� ��� �������
〈

Lγ(�k′, ω′)L∗
σ(�k′ − �k, ω′ − ω)(�k′ − �k)s

〉
≡ Πγσs(�k′, ω′,�k′ − �k, ω′ − ω).

�  ��������
� 	��!��"���� 	
������ ��������� ��� Π

Πγσs(�k′, ω′,�k′−�k, ω′−ω) = H−1
γβ (�k′, ω′)H−1∗

σκ (�k′−�k, ω′−ω)
[
(�k′ − �k)sPβ(�k′, ω′)P ∗

κ (�k′ − �k, ω′ − ω)+

+
∫

〈V (1)
βx (�k′, q)V (1)∗

κμ (�k′ − �k, q − �k)〉Πxμs(�q, ω′, �q − �k, ω′ − ω)
d2q

(2π)2

]
. 7=08

)�� ���
�� 7=18 �� 	����!����� ������� 	
����� λ/d� � ���'���(�� ��� !���� �������
���'
� 
��
��
� ������� �
��� �
�������
���� ������ d 7
!����'� � �
�
�
� ξ2 ������
 
�����


� ����8 ����� 	
 ��������� � ���������
� ����
� �
�� ����� $������ 	
 ������� 	
�
�
q(x,�k, ω) �� !
�'(�� �����
����� 
	���������� �k� ω� ������ 	
 ��������� � ������������
����
���� � ������� �
�� ����� )
 
�
� 	������ ��������∫

〈V (1)
αx (�k′,�t)V (1)∗

ζμ (�k′ − �k,�t− �k)〉Πxμs(�t,ω′,�t− �k, ω′ − ω)
d2t

(2π)2
≡ �k

′
sKαζ(ω, ω′) 7=18

�������� 	�� ����� �k � ω� �k′ �

���������� ����� �
�!�"������ �
�� ����� -�� ��(����

��������� 7=18 ���
"�� ��
 �� 〈V (1)
αγ (�l,�k′)V (1)∗

ζσ (�l−�k,�k′−�k)〉 � 	�
����������� 	
 �k′� )
�����

lsKαζ(ω, ω′) =
∫
< V (1)

αγ (�l,�k′)V 1(∗)
ζσ (�l − �k,�k′ − �k) > H−1

γβ (�k′, ω′)H−1∗
σκ (�k′ − �k, ω′ − ω)∗ 7=;8

∗
(
Pβ(�k′, ω′)P ∗

κ (�k′ − �k, ω′ − ω) +Kβκ(ω, ω′)
)
k′s

d2k′

(2π)2
.

T������� ��(���� 7=D8 
	���������� ���� ����� �� %������

ξ2

(
�l − �k′

)
∼ < V (1)

αγ (�l,�k′)Vζσ(�l − �k,�k′ − �k) > ���

∫
H−1

γβ (�k′, ω′)H−1∗
σκ (�k′ − �k, ω′ − ω)

�������� 	�� ��������
����� 	
 �k′ !
��� 
���
�� )����� %������ ����������
 �������� 	��
��������� �
���� �k′ � ��������� 	
����� d−1� � ��
��� / � ��������� (τcλ)−1� $

���������#

��� ��������� ���� �k′. (dk0(ω′))−1 ��� ξ2(�l−�k′) � (τcλk)−
1
2 ��� H−1

γβ (�k′, ω′)H−1∗
σκ (�k′−�k, ω′−ω)�

K��
"�� 7=D8 �������
 �� �l � ��	
�'��� 7=18� ������ ��
 ������� ��������� 	�����'���
������.

�8 �
�������
���� ������ d ����� 	
 ��������� � τcλ� 9�������
����� 	
 ����
�� �k′ � 7=D8
��	
������� � 	
�
�'�  
���
� %������ ξ2(�l−�k′)� � 	
������ ����������� H−1 �
��� !��'
�������� 	�� �k′ = �l� � 
�
� ������ ��	
�'�
����
�  ��������
� 	��!��"���� ��	�������
�
���� 
	������� 	�� ���
�� 7=18 ��������� ������ 	
 	�������� (a�k′)−2E

!8 	�� ���'(�� ��������� �
�������
��
�
 ������� d < τcλ ��������
����� 	
 �
���� �k′

��	
������� � 	
�
�'� 	
������ ������������� � ��������
����� 	
 ���� θ′ ��"�� �k′ � �l /
U 	
�
�'� %������ ξ2 	�� ���
���

k

(k0(ω′)d)2
<<

1
τcλ

. 7=D8



N= J� 9� K�����
�

������� 	
����
� ����������' b≡ 1

k cos θ + k0(ω) − i

τcλ

� ��� θ ��
� ��"�� �k � �l� � ��
�� ��

������� 
�
!���
���� ������� M

M(�l,�k′) =
V (1)(�l,�k′)R(�k′)

2k0(ω′)
,

	
������

Kασ(ω, ω′) = iπb

[〈
−
∫
MαβM

∗
σκ cos θ′dθ′

〉
PβP

∗
κ+

〈
−
∫
MαβM

∗
σκ cos θ′dθ′

〉
Kβκ(ω, ω′)

]
. 7=G8

5�(�� 7=:8� ���
���

Kmn(ω, ω′) =
[
δm�δnp − iπb

〈
−
∫
Mm�M

∗
np cos θ′dθ′

〉]−1 〈
−
∫
M�αM

∗
pσ cos θ′dθ′

〉
iπbPαP

∗
σ .

7=:8
<���' M∗(�l,�k′) = M(−�l,−�k′)�

)
�������� �������� Kασ� �� 7=:8 � ����"���� ��� 	
��������
��
�
 
	����
�� Πγσs ��
7=18 	
������

Πγσs = H−1
γβ H

−1∗
σκ k

′
s

[
PβP

∗
κ +

(
δβ�δκp − iπb

〈
−
∫
Mβ�M

∗
κp cos θ′dθ′

〉)−1

·

·iπb
〈
−
∫
M�αM

∗
pσ cos θ′dθ′

〉
PαP

∗
σ

]
.

)���������� 
!������ ������� � ����(
δβ�δκp − iπb

〈
−
∫
Mβ�M

∗
κp cos θ′dθ′

〉)−1

=

=
(

det
(
δβ�δφp − iπb

〈
−
∫
Mβ�M

∗
κp cos θ′dθ′

〉))−1

Nβ�,κp ,

��� Nβ�,κp �� ����� 
�
!���
����� ���
���

Πγσs = H−1
γβ (�k′, ω′)H∗−1

σk (�k′ − �k, ω′ − ω)k′s
{−k cos θ − k0(ω) + i/τcλ

−k cos θ − k0 + i/τtrcλ

}
Nβ�,kpP�P

∗
p . 7=N8

<���' τ−1
tr = πcλ

〈
− ∫

SpMSpM∗
(
cos θ

′ − 1
)
dθ

′
〉
� )
������� �������� 
	���������� ���
�
�


!����'�
∣∣∣θ′∣∣∣ < (

k0(ω
′
)d
)−1

� � �� 	
������ ��� ���
 ��������� 
�����

τ−1
tr ∼ a2k2

0(ω
′)cλ

d
. 70O8

9� %
����� 70O8 ����
� ��
 � �
��
� d ����� τtr ������� 4���	�
���� 	
�
�� 	�
��
��� 
������
�
�� ���� ������ ��������� ����"�����

q(s) (0, �s, 0) ∼ s−1ρ

∫
exp

{
− s

τtrcλ (ω′)

}
ω

′3
∣∣∣P (

ω
′)∣∣∣2 dω′

70+8

���

(τcλ
(
ω′))−1 < d−1 <

k0(ω′)√
τcλ (ω′) k

;



� 	
�
�� 	�
��
��� 
������ �
�� ���� �� ������������� (��
�
����� �������� ������� N0

�8 ��� ������ k/(k0(ω′)d)2 > (τcλ (ω′))−1 
����� ��(���� ��������� 7=18 ������ 	�����
��������� � 	���
� ����� 7=18� � 
�
� ������ 
���!����� 	
�
�� 	�
��
��� 
������ �
�� ����

	���������� 	
 	
����� �������� ��� "� τ � ��
 � �������� 	
���
� %������ H−1(�k′, ω′)�
$

������������ ����	�
�������� %
����� ��� τ 	�������� � *=,� � �
�
�
�� � 
������ 
�
����
� ��!
��� ������
�' ��������� ��	����� �
�� �����

)������ �
�����
����� �����	
���
�
 ������� ������� � ���� ��
 ��������� �� �����
��
� �� ��
��� ������ � ���������� H
 ���' 	�� ���������� 	
�
�� ������ � ����
������
%�������� ���!����� ������������' ���(����� ���������� �
�
��� � 	���
��� � 	
�������
τtr� 5�(����� ������ !����� � ������ 
 ����#
%%���� �� (��
�
���
� 	
�����
��� *;,� -���
�
	����� / �
	�
�������� �	���
� *D,�

������������ ��� ���!��

!� ��������� 	
� �
�� �
� �����
� �
 "" #$$%&'( $)*+&,+ %'--'.+� !/ �� 0� �!� 12!!� 3� 4!��

4� �������� �
�
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"
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%
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*
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�����������	�
 ��
���� ������� �		�� 
�� �� � 
� �� �� � 
	�

��� ��������	


� ���������� �	
��
�� ��	�
��
�������
����� ��
���
�	� L1 ��
��������

���
�	� ��

�� �� �����	�
�

��������	
 ��	�
��	�
� 	�� �����������
����

������� ������� ����	�� ���� ���

������ ����	
��� ��
���
� ������������ ��
�
������ �������

 �������� ���	��� ����
�
������� �
����������� ���������� ����
������ ������� �
 ��� ����� ��������
��
�
 �����

� ������� � ! "# ���� ��
���
	 ����
����� ���������
� ��
�� ������� �
Wn. � �����	
��

������ ��
�������	 ������������ H
(3)
3 (L1) ����
������ ������� �
 L = Sn! ��� �����
 ���

������� ����������� ������� �
 Sn.

�� ��������	
�� $���� P % ���� ��������
��
�
 ����� U = P [x1, x2, ..., xn] = ⊕k≥0Uk %
�����
��
������������
���	 ������� �����&�����! ���

Uk =
〈
xα = xα1

1 xα2
2 · · ·xαn

n

∣∣ |α| =
n∑

i=1

αi = k
〉

% ���������	 ���������� � U �
$���'
� Wn = DerU % ������� �
((�����
�����
	 ������� U � $���� D =

∑n
i=1 fi∂i ∈

∈Wn % �
((�����
�����
�! ��� ∂i = ∂
∂xi

� )���* div(D) =
∑n

i=1 ∂i(fi) ���*��&��� �
�������
�
�
((�����
�����
	 D. +���� ����
�����	 ������� �
 Sn �������	���	 ��� ���������� ��
��
������� �
Wn, �����	
�	 
* �
((�����
�����

 ��* �
�������

! ���� Sn = 〈D∈Wn|div(D) =
= 0〉.

$���'
� L = Sn. +���� L = ⊕i≥−1Li, ���

Li =
〈
xα∂j − αj

|α| + n− 1
xα−εjz

∣∣ |α| = i+ 1, j = 1, 2, . . . , n
〉
.

,���� εj = (0, . . . , 1, . . . , 0) % n������� - ���
� �� j��� �����.! z =
∑n

i=1 xi∂i.
L0 = sln = L+

0 ⊕H ⊕ L−
0 	��	���	 ����������� � L! ���

L+
0 = 〈xi∂j | i < j〉, H = 〈xi∂i − xi+1∂i+1| i = 1, 2, . . . , n− 1〉, L−

0 = 〈xi∂j | i > j〉.
/���'��
� � L �������	���	 ��� '�! ��� 
 � Wn

[u∂i, v∂j ] = u∂i(v)∂j − v∂j(u)∂i.

��������	 ������� ��� ��	�
��� 
�����	� 	���� �� �
��� ��	���


��� �
����
���� ������� ��
�����
����	 �����

�© �� �� ����	
���
 �����



0 �������
	� �������� ���	��� �
����������� ���������� L1 ����
������ ������� �
 12

$���'
� L1 = ⊕i≥1Li� 3������ L1 	��	���	 ����
������� �
����������� �����������
����
������ ������� �
 Sn.

������ m L0������	 M ��*������	 ����4
� ��������! ���
 L+
0 m = 0. 5�	 6������� u =

= xα∂j ∈ L �������
� ��� ε(u) 
 ������� deg(u)! ������	

ε(u) =
n∑

i=1

(αi − δ(i = j))εi, deg(u) = |α| − 1,

��� δ % �
���� 7���������

$����

Cq = Cq(L1) = 〈alt(u1 ⊗ u2 ⊗ ...⊗ uq) := u1 ∧ u2 ∧ ... ∧ uq | u1 < u2 < ... < uq〉

% ������������ q������� ����� ������� L1! ��� < % �������
���� �
������ ���	��� � L �8#�
9���
&��� �������� ∂q : Cq −→ Cq−1 �������	���	 ������

� ����*��

∂q(u1 ∧ u2 ∧ ... ∧ uq) =
∑
i<j

(−1)i+j [ui, uj ] ∧ u1 ∧ ... ∧ ûi ∧ ... ∧ ûj ∧ ... ∧ uq,

��� *��� â �*��&���! &�� 6������ a ���
��� $����������� Cq 	��	���	 �����
�������� L0�
������� �����
������ ������
	

ρ(l)(u1 ∧ u2 ∧ ... ∧ uq) =
q∑

i=1

u1 ∧ ... ∧ [l, ui] ∧ ... ∧ uq,

��� l ∈ L0 
 
���� ����� (������

ρ(l)∂ = ∂ρ(l). - .

$���� Zq = Ker ∂q, Bq = Im∂q+1 
 Hq(L1) = Zq/Bq % ������������ :������� �
����!
����
� 
 �������

� ;����

Hq(L1) = ⊕i≥qH
(i)
q (L1),

��� H
(i)
q (L1) % ���������	 ���������� L0 ������	 Hq(L1). $����������� H

(q)
q (L1) ��*������	

������� ��
�
������ �������
� ������� L1.

�� 
�����
����� ��	��	��� �����������

� � � � � � � � � ����� L = Sn, n≥ 6. ����� ����� ����������

H
(3)
3 (L1) ∼= R(6π1 + πn−3) ⊕R(4π1 + π2 + πn−2 + πn−1)⊕

⊕R(3π1 + π3 + 3πn−1) ⊕R(2π1 + 2π2 + πn−3) ⊕R(2π1 + 2π2 + πn−2 + πn−1)⊕
⊕R(2π1 + π3 + πn−2) ⊕R(2π1 + π3 + 2πn−1) ⊕R(π1 + π2 + π3 + πn−2 + πn−1)⊕

⊕2R(π1 + π3 + πn−1) ⊕R(3π2 + 3πn−1) ⊕R(π2 + π3 + πn−2)⊕
⊕R(π2 + π3 + 2πn−1) ⊕R(2π3 + πn−3) ⊕R(π3) ⊕R(3π1)⊕

⊕R(3π1 + π2 + πn−2) ⊕R(3π1 + π2 + 2πn−1) ⊕ 2R(2π1 + π2 + πn−1)⊕
⊕R(π1 + 2π2 + 2πn−1) ⊕R(π1 + 2π2 + πn−2) (����� 22 ����� � ��),

�!� R(λ) �  ������!���" ��!��� �� ����#�� ����� λ � πi � �� !��� ���� �� ����$ i =
= 1, 2, . . . , n− 1.

5���*��������� ������� �������� �� ��*��'��

 L0������	 ∧3L1.



1< 7� =� /����
���

� � � � � � � � 	 
 � � � ����� ����� ���!�%&�� �����'� ��

∧3L1
∼= R(6π1 + πn−3) ⊕R(5π1 + 2πn−1) ⊕R(4π1 + π2 + πn−2 + πn−1) ⊕R(4π1 + πn−1)⊕

⊕R(3π1 + π3 + 3πn−1) ⊕R(2π1 + 2π2 + πn−3) ⊕R(2π1 + 2π2 + πn−2 + πn−1)⊕
⊕R(2π1 + π3 + πn−2) ⊕R(2π1 + π3 + 2πn−1) ⊕R(π1 + π2 + π3 + πn−2 + πn−1)⊕

⊕2R(π1 + π3 + πn−1) ⊕R(3π2 + 3πn−1) ⊕R(π2 + π3 + πn−2) ⊕R(π2 + π3 + 2πn−1)⊕
⊕R(2π3 + πn−3) ⊕R(π3) ⊕R(5π1 + πn−2) + 2R(3π1) ⊕ 2R(3π1 + π2 + πn−2)⊕

⊕2R(3π1 + π2 + 2πn−1) ⊕ 4R(2π1 + π2 + πn−1) ⊕ 2R(π1 + 2π2 + πn−2)⊕
⊕2R(π1 + 2π2 + 2πn−1) ⊕R(π1 + π2) ⊕R(2π2 + πn−1) (����� (� ����� � ��).

��� � � � � � � � � � � � � $� (������ ��*�������
 ����	 ��������
�����	! &�� ����� ��*�
�������
 ����
���
��� �������! ��
�������� � (�����
����� ������'��
	! ����� ��*����
����
 L0������	 ∧3L1. =�� �������	 ����
 �
��������*��
�
��� ����4
� ������� 
* ∧3L1!
������������

� ����4
� �����! ��
�������� � (�����
����� ������'��
	� >� �������*��
���	 ���! &�� ����
�����	 ������� Sn �� ������ 	��	���	 ����������� � ��
�� ������� Wn, �
���'� 	��	���	 L0− ���������� 
 �����	���	 ��	��� ���������� ?������������! ���������
���� �������

 ������� Sn 	��	���	 L0����������� ������������ �������

 ��
�� �������
Wn. $�6���� ����
 8������ ������� Wn �� ���
���� �� ���
! ���������� ������� 
����
������� �
�������
�� $�
����� 
� ��
��� �� ������

 � 6π1 + πn−3.
u1 = x2

1∂n ∧ x2
1∂n−1 ∧ x2

1∂n−2.
"� 4π1 + π2 + πn−2 + πn−1.
u2 = x2

1∂n ∧ x1x2∂n ∧ x2
1∂n−1.

8� 3π1 + π3 + 3πn−1.
u3 = x2

1∂n ∧ x1x2∂n ∧ x1x3∂n.
@� 2π1 + 2π2 + πn−3.
u4 = x2

1∂n ∧ x2
2∂n−1 ∧ x2

1∂n−2 + x2
1∂n ∧ x2

1∂n−1 ∧ x2
2∂n−2+

+x2
2∂n ∧ x2

1∂n−1 ∧ x2
1∂n−2 − x1x2∂n ∧ x1x2∂n−1 ∧ x2

1∂n−2−
−x1x2∂n ∧ x2

1∂n−1 ∧ x1x2∂n−2 − x2
1∂n ∧ x1x2∂n−1 ∧ x1x2∂n−2.

2� 2π1 + 2π2 + πn−2 + πn−1.
u5 = x2

1∂n ∧ x2
2∂n ∧ x2

1∂n−1 − 2x2
1∂n ∧ x1x2∂n ∧ x1x2∂n−1.

<� 2π1 + π3 + πn−2.
u6 =

∑
i x

2
1∂n ∧ x1x2∂i ∧ x3xi∂n−1 − x2

1∂n ∧ x1x3∂i ∧ x2xi∂n−1−
−x1x2∂n ∧ x2

1∂i ∧ x3xi∂n−1 + x1x3∂n ∧ x2
1∂i ∧ x2xi∂n−1+

+x1x2∂n ∧ x1x3∂i ∧ x1xi∂n−1 + x1x3∂n ∧ x1x2∂i ∧ x1xi∂n−1−
−x2

1∂n−1 ∧ x1x2∂i ∧ x3xi∂n + x2
1∂n−1 ∧ x1x3∂i ∧ x2xi∂n+

+x1x2∂n−1 ∧ x2
1∂i ∧ x3xi∂n − x1x3∂n−1 ∧ x2

1∂i ∧ x2xi∂n−
−x1x2∂n−1 ∧ x1x3∂i ∧ x1xi∂n + x1x3∂n−1 ∧ x1x2∂i ∧ x1xi∂n.
A��� u6 ��'�� 
���� ���
&��� �� ���	 �
�������
� ������ ��
 i = 1, 2, 3, n − 1, n. $�


i = 1 
���� ������ ������� ����� ?��&�
 i = 2, 3 
 i = n, n− 1 ������������
�� �����
�����
���� ���
 � ������� �
�������

�

B� 2π1 + π3 + 2πn−1.
u7 = x2

1∂n ∧ x1x2∂n ∧ x3z + x2
1∂n ∧ x2z ∧ x1x3∂n + x1z ∧ x1x2∂n ∧ x1x3∂n,

u8 =
∑

i x
2
1∂n ∧ x1x2∂i ∧ x3xi∂n − x2

1∂n ∧ x1x3∂i ∧ x2xi∂n−
−x1x2∂n ∧ x2

1∂i ∧ x3xi∂n + x1x3∂n ∧ x2
1∂i ∧ x2xi∂n+

+x1x2∂n ∧ x1x3∂i ∧ x1xi∂n − x1x3∂n ∧ x1x2∂i ∧ x1xi∂n.
�
�����	 ����
���
	 4u7 − (n+ 1)u8 ����� u7, u8 	��	���	 8��
���� ������� Sn.
C� π1 + π2 + π3 + πn−2 + πn−1.
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u9 = 2x2
1∂n ∧ x1x2∂n ∧ x2x3∂n−1+

+x2
1∂n ∧ x2x3∂n ∧ x1x2∂n−1 − x2

1∂n ∧ x2
2∂n ∧ x1x3∂n−1+

+2x2
1∂n ∧ x2

2∂n−1 ∧ x1x3∂n + x1x2∂n ∧ x2
1∂n−1 ∧ x2x3∂n+

+3x1x2∂n ∧ x1x3∂n ∧ x1x3∂n−1 + x1x3∂n ∧ x2
2∂n ∧ x2

1∂n−1.

0����� �
���! &�� ���� u9 	��	���	 �
���� ������� Sn, ���� � ���
 ��
��������� ��� π3 

��� ���������� u9 
���� ������� �
�������
��

1� π1 + π3 + πn−1.

u10 = x2
1∂n ∧ x2z ∧ x3z + x1z ∧ x1x2∂n ∧ x3z + x1z ∧ x2z ∧ x1x3∂n,

u11 =
∑

i x
2
1∂i ∧ x2xi∂n ∧ x3z + x1xi∂n ∧ x1x2∂i ∧ x3z+

+x2
1∂i ∧ x2z ∧ x3xi∂n + x1xi∂n ∧ x2z ∧ x1x3∂i+

+x1z ∧ x1x2∂i ∧ x3xi∂n + x1z ∧ x2xi∂n ∧ x1x3∂i,

u12 =
∑

i,j x
2
1∂n ∧ x2xi∂j ∧ x3xj∂i+

+x1xi∂j ∧ x1x2∂n ∧ x3xj∂i + x1xi∂j ∧ x2xj∂i ∧ x1x3∂n.

u13 =
∑

i,j x
2
1∂i ∧ x2xj∂n ∧ x3xi∂j + x2

1∂i ∧ x2xi∂j ∧ x3xj∂n+
+x1xj∂n ∧ x1x2∂i ∧ x3xi∂j + x1xj∂n ∧ x2xi∂j ∧ x1x3∂i+
+x1xi∂j ∧ x1x2∂i ∧ x3xj∂n + x1xi∂j ∧ x2xj∂n ∧ x1x3∂i.

,���� 
�����	 ������

� �
��� ������� Sn

u10 − (n+ 1)u12, 3u11 − 6u12 − (n+ 1)u13.

 D� 3π2 + 3πn−1.

u14 = x2
1∂n ∧ x1x2∂n ∧ x2

2∂n.

+�! &�� u14 	��	���	 �
���� ������� Sn, ��� ������
	�

  � π2 + π3 + πn−2.

u15 = x1z ∧ x1x2∂n ∧ x2x3∂n−1−
−x1z ∧ x1x2∂n−1 ∧ x2x3∂n − x1z ∧ x2

2∂n ∧ x1x3∂n−1+
+x1z ∧ x2

2∂n−1 ∧ x1x3∂n + x1x2∂n ∧ x2z ∧ x1x3∂n−1+
+x1x2∂n−1 ∧ x2z ∧ x1x3∂n + x2

1∂n ∧ x2z ∧ x2x3∂n−1−
−x2

1∂n−1 ∧ x2z ∧ x2x3∂n + x2
1∂n ∧ x2

2∂n−1 ∧ x3z−
−x2

1∂n−1 ∧ x2
2∂n ∧ x3z − 2x1x2∂n ∧ x1x2∂n−1 ∧ x3z,

u16 =
∑

i x
2
1∂n ∧ x2

2∂i ∧ x3xi∂n−1 − x2
1∂n ∧ x2x3∂i ∧ x2xi∂n−1−

−2x1x2∂n ∧ x1x2∂i ∧ x3xi∂n−1 + x1x2∂n ∧ x2x3∂i ∧ x1xi∂n−1+
+x1x3∂n ∧ x1x2∂i ∧ x2xi∂n−1 − x1x3∂n ∧ x2

2∂i ∧ x1xi∂n−1−
−x2

1∂n−1 ∧ x2
2∂i ∧ x3xi∂n + x2

1∂n−1 ∧ x2x3∂i ∧ x2xi∂n+
+2x1x2∂n−1 ∧ x1x2∂i ∧ x3xi∂n − x1x2∂n−1 ∧ x2x3∂i ∧ x1xi∂n−
−x1x3∂n−1 ∧ x1x2∂i ∧ x2xi∂n + x1x3∂n−1 ∧ x2

2∂i ∧ x1xi∂n+
+x1x2∂n ∧ x1x3∂i ∧ x2xi∂n−1 + x2

2∂n ∧ x2
1∂i ∧ x3xi∂n−1−

−x2
2∂n ∧ x1x3∂i ∧ x1xi∂n−1 − x2x3∂n ∧ x2

1∂i ∧ x2xi∂n−1+
+x2x3∂n ∧ x1x2∂i ∧ x1xi∂n−1 − x1x2∂n−1 ∧ x1x3∂i ∧ x2xi∂n−
−x2

2∂n−1 ∧ x2
1∂i ∧ x3xi∂n + x2

2∂n−1 ∧ x1x3∂i ∧ x1xi∂n+
+x2x3∂n−1 ∧ x2

1∂i ∧ x2xi∂n − x2x3∂n−1 ∧ x1x2∂i ∧ x1xi∂n.

A
���� ��* �
�������

 ������� ���� 	��	���	 6������

4u15 − (n+ 1)u16.

 "� π2 + π3 + 2πn−1.

u17 =
∑

i x
2
1∂n ∧ x2

2∂i ∧ x3xi∂n−
−2x1x2∂n ∧ x1x2∂i ∧ x3xi∂n + x2

2∂n ∧ x2
1∂i ∧ x3xi∂n−

−x2
1∂n ∧ x2x3∂i ∧ x2xi∂n + x1x2∂n ∧ x1x3∂i ∧ x2xi∂n+

+x1x3∂n ∧ x1x2∂i ∧ x2xi∂n − x2x3∂n ∧ x2
1∂i ∧ x2xi∂n+

+x1x2∂n ∧ x2x3∂i ∧ x1xi∂n − x2
2∂n ∧ x1x3∂i ∧ x1xi∂n−

−x1x3∂n ∧ x2
2∂i ∧ x1xi∂n + x2x3∂n ∧ x1x2∂i ∧ x1xi∂n.



1C 7� =� /����
���

$� ���� �
���! &�� ������ 6������ 	��	���	 �
����� 0� ��'�� ���� ��������� �
�������
�
� ������ ��
 i = 1, 2, 3, n. E��&�
 i = 1, 2, 3 ������ ���� ��� 6������ � ������� �
�������
���
$�
 i = n ����&��� ������� �����

 8� 2π3 + πn−3.
u18 = x2

1∂n ∧ x2
2∂n−1 ∧ x2

3∂n−2 − x2
1∂n ∧ x2

2∂n−2 ∧ x2
3∂n−1−

−x2
1∂n−1 ∧ x2

2∂n ∧ x2
3∂n−2 + x2

1∂n−2 ∧ x2
2∂n ∧ x2

3∂n−1+
+x2

1∂n−1 ∧ x2
2∂n−2 ∧ x2

3∂n − x2
1∂n−2 ∧ x2

2∂n−1 ∧ x2
3∂n+

+4x2
1∂n ∧ x2x3∂n−1 ∧ x2x3∂n−2 − 4x2

1∂n−1 ∧ x2x3∂n ∧ x2x3∂n−2+
+4x2

1∂n−2 ∧ x2x3∂n ∧ x2x3∂n−1 − 4x1x2∂n ∧ x1x2∂n−1 ∧ x2
3∂n−2+

+4x1x2∂n ∧ x1x2∂n−2 ∧ x2
3∂n−1 − 4x1x2∂n−1 ∧ x1x2∂n−2 ∧ x2

3∂n−
−4x1x3∂n ∧ x2

2∂n−1 ∧ x1x3∂n−2 + 4x1x2∂n ∧ x2
2∂n−2 ∧ x1x3∂n−1−

−4x1x3∂n−2 ∧ x2
2∂n ∧ x1x3∂n−1 + 2x1x3∂n ∧ x1x2∂n−1 ∧ x2x3∂n−2−

−2x1x3∂n−1 ∧ x1x2∂n ∧ x2x3∂n−2 − 2x1x3∂n ∧ x1x2∂n−2 ∧ x2x3∂n−1+
+2x1x3∂n−1 ∧ x1x2∂n−2 ∧ x2x3∂n + 2x1x3∂n−2 ∧ x1x2∂n ∧ x2x3∂n−1−
−2x1x3∂n−2 ∧ x1x2∂n−1 ∧ x2x3∂n.
+�� ��� n > 5! �����	 ���� �� 
���� �
�������
�� $� ���� �
���! &�� ��� 	��	���	 �
�����
 @� π3.
u19 = x1z ∧ x2z ∧ x3z,
u20 =

∑
i,j x1z ∧ x2xi∂j ∧ x3xj∂i+

+x1xi∂j ∧ x2z ∧ x3xj∂i + x1xi∂j ∧ x2xj∂i ∧ x3z,
u21 =

∑
i,j,l x1xi∂j ∧ x2xj∂l ∧ x3xl∂i.

�
�����	 ����
���
	 u20 − (n+ 1)u21 	��	���	 �
���� ��* �
�������

�
$� (������ - . ��4���
�������� ����4
� ������� �������
&���
 	��	���	 �
����
! ����


� ����4
� ���� �� �����'���	 �� ���'����� ����4
� ����� L0������	 L1 ∧ L2.
$�����'
� ��
��� ����4
� ���������
 2� 5π1 + 2πn−1.
u22 =

∑
i x

2
1∂i ∧ x2

1∂n ∧ x1xi∂n.
;����
∂(u22) = −(n− 2)x2

1∂n ∧ x3
1∂n.

+��
� ����*��! u22 �� 	��	���	 �
���� 
 �� 
���� �
�������

�
 <� 4π1 + πn−1.
u23 =

∑
i x

2
1∂n ∧ x2

1∂i ∧ xiz,
u24 =

∑
i x

2
1∂i ∧ x1xi∂n ∧ x1z,

u25 =
∑

i,j x
2
1∂i ∧ x1xi∂j ∧ x1xj∂n.

;���� ������
�� �
����� �������
� �����
����� ����*�� ������ �����
∂(u23) =
= −2x1z ∧ x3

1∂n + (n− 2)x2
1∂n ∧ x2

1z +
∑

i x
2
1∂i ∧ x2

1xi∂n,
∂(u24) =
= (n+ 1)x1z ∧ x3

1∂n − x2
1∂n ∧ x2

1z −
∑

i x
2
1∂i ∧ x2

1xi∂n +
∑

i x1xi∂n ∧ x3
1∂i,

∂(u25) =
= −x1z ∧ x3

1∂n − 3x2
1∂n ∧ x2

1z + n
∑

i x
2
1∂i ∧ x2

1xi∂n + (n+ 1)
∑

i x1xi∂n ∧ x3
1∂i.

���� ����
�� ������ �
�����⎛
⎝ −2 n− 2 1 0

n+ 1 −1 −1 1
−1 −3 n n+ 1

⎞
⎠

����� ����� ,��&
�! *���� �
���� ���� F������ u23 + u24 − (n+ 1)u25 �� 
���� �
�������
��
+����� �� ��
���
� ��
��� ����
�
�������� �
�����
 B� 5π1 + πn−2.
u26 =

∑
i x1xi∂n ∧ x2

1∂i ∧ x2
1∂n−1 − x1xi∂n−1 ∧ x2

1∂i ∧ x2
1∂n,

u27 =
∑

i x
2
1∂n ∧ x1z ∧ x2

1∂n−1.
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;����
∂(u26) = −(n+ 2)(x2

1∂n ∧ x3
1∂n−1 − x2

1∂n−1 ∧ x3
1∂n),

∂(u27) = x2
1∂n ∧ x3

1∂n−1 − x2
1∂n−1 ∧ x3

1∂n.
A
�� (n + 2)u27 + u26 % ��
��������� ����4
� �
�� ������� ����� =� ��*�
����������

6�������� 	��	���	 (n+ 1)u26 − u27, ������� �� ����� �
�����
 C� 3π1 + π2 + 2πn−1.
u28 = x2

1∂n ∧ x1z ∧ x1x2∂n,
u29 =

∑
i x1xi∂n ∧ x1x2∂i ∧ x2

1∂n − x2xi∂n ∧ x2
1∂i ∧ x2

1∂n,
u30 =

∑
i x1xi∂n ∧ x1x2∂n ∧ x2

1∂i − x2xi∂n ∧ x2
1∂n ∧ x2

1∂i.
;����
∂(u28) = ∂(u29) = x2

1∂n ∧ x2
1x2∂n − x1x2∂n ∧ x3

1∂n,
∂(u30) = −(n+ 2)(x2

1∂n ∧ x2
1x2∂n − x1x2∂n ∧ x3

1∂n).
+���� 
�����	 ��� �
��� ������� ����G
(n+ 2)u28 + u30, (n+ 2)u29 + u30.
H�*�
���������� �
���� ������� ���� �����

(2n+ 7)u28 + (n2 + 3n− 1)u29 + (n+ 3)u30.

 1� 3π1 + π2 + πn−2.
u31 = 2x2

1∂n ∧ x2z ∧ x2
1∂n−1−

−x1x2∂n ∧ x1z ∧ x2
1∂n−1 + x1x2∂n−1 ∧ x1z ∧ x2

1∂n,
u32 =

∑
i x1xi∂n ∧ x1x2∂i ∧ x2

1∂n−1 − x2xi∂n ∧ x2
1∂i ∧ x2

1∂n−1−
−x1xi∂n−1 ∧ x1x2∂i ∧ x2

1∂n + x2xi∂n−1 ∧ x2
1∂i ∧ x2

1∂n,
u33 =

∑
i x1xi∂n ∧ x1x2∂n−1 ∧ x2

1∂i − x1xi∂n−1 ∧ x1x2∂n ∧ x2
1∂i−

−x2xi∂n ∧ x2
1∂n−1 ∧ x2

1∂i + x2xi∂n−1 ∧ x2
1∂n ∧ x2

1∂i.
;���� ������

� ����
&��� ����*�
∂(u31) = −∂(u33) = x2

1∂n ∧ x2
1x2∂n−1 − x1x2∂n ∧ x3

1∂n−1−
−x2

1∂n−1 ∧ x2
1x2∂n + x1x2∂n−1 ∧ x3

1∂n,
∂(u32) = 3(x2

1∂n ∧ x2
1x2∂n−1 − x1x2∂n ∧ x3

1∂n−1−
−x2

1∂n−1 ∧ x2
1x2∂n + x1x2∂n−1 ∧ x3

1∂n).
0����� ����&��� ������

� ��� �
��� ������� ����
u31 + u33, u32 + 3u33.
A
�� u31 + nu32 + (3n+ 1)u33 �� 
���� �
�������
��
"D� π1 + 2π2 + 2πn−1.
u34 = 2x2

1∂n ∧ x2z ∧ x1x2∂n + x2
2∂n ∧ x1z ∧ x2

1∂n,
u35 =

∑
i x

2
1∂i ∧ x2xi∂n ∧ x1x2∂n − x1x2∂i ∧ x1xi∂n ∧ x1x2∂n−

−x1x2∂i ∧ x2xi∂n ∧ x2
1∂n + x2

2∂i ∧ x1xi∂n ∧ x2
1∂n,

u36 =
∑

i x
2
1∂n ∧ x2xi∂n ∧ x1x2∂i − x1x2∂n ∧ x1xi∂n ∧ x1x2∂i−

−x1x2∂n ∧ x2xi∂n ∧ x2
1∂i + x2

2∂n ∧ x1xi∂n ∧ x2
1∂i.

?�����

� ����
&��� ����*�
2∂(u34) = −∂(u35) =
= 2(x2

1∂n ∧ x1x
2
2∂n − 2x1x2∂n ∧ x2

1x2∂n + x2
2∂n ∧ x3

1∂n),
∂(u36) =
= −(n+ 2)(x2

1∂n ∧ x1x
2
2∂n − 2x1x2∂n ∧ x2

1x2∂n + x2
2∂n ∧ x3

1∂n)
���� ��� ��� �
��� ������� ���� 2u34 + u35, (n+ 2)u34 + u36 ������� Wn.

I�
��������� �
���� ������� Sn 	��	���	

2nu34 − (n2 + 3n+ 4)u35 + (2n+ 4)u36.

" � π1 + 2π2 + πn−2.
u37 = 2x1z ∧ x1x2∂n ∧ x1x2∂n−1−
−x1z ∧ x2

2∂n ∧ x2
1∂n−1 − x1z ∧ x2

1∂n ∧ x2
2∂n−1,



 DD 7� =� /����
���

u38 =
∑

i x
2
1∂i ∧ x2xi∂n ∧ x1x2∂n−1 − x1x2∂i ∧ x2xi∂n ∧ x2

1∂n−1−
−x1x2∂i ∧ x1xi∂n ∧ x1x2∂n−1 + x2

2∂i ∧ x1xi∂n ∧ x2
1∂n−1−

−x2
1∂i ∧ x2xi∂n−1 ∧ x1x2∂n + x1x2∂i ∧ x2xi∂n−1 ∧ x2

1∂n+
+x1x2∂i ∧ x1xi∂n−1 ∧ x1x2∂n − x2

2∂i ∧ x1xi∂n−1 ∧ x2
1∂n,

u39 =
∑

i x
2
1∂i ∧ x1xi∂n ∧ x2

2∂n−1 − x2
1∂i ∧ x2xi∂n ∧ x1x2∂n−1−

−x1x2∂i ∧ x1xi∂n ∧ x1x2∂n−1 + x1x2∂i ∧ x2xi∂n ∧ x2
1∂n−1−

−x2
1∂i ∧ x1xi∂n−1 ∧ x2

2∂n + x2
1∂i ∧ x2xi∂n−1 ∧ x1x2∂n+

+x1x2∂i ∧ x1xi∂n−1 ∧ x1x2∂n − x1x2∂i ∧ x2xi∂n−1 ∧ x2
1∂n.

? ����
�� ������ ����� ����&��� ������

� ����
&��� �����
	

∂(u38) = 0, n∂(u37) = −∂(u39) =
= n(x2

1∂n ∧ x1x
2
2∂n−1 − 2x1x2∂n ∧ x2

1x2∂n−1 + x2
2∂n ∧ x3

1∂n−1−
−x2

1∂n−1 ∧ x1x
2
2∂n + 2x1x2∂n−1 ∧ x2

1x2∂n − x2
2∂n−1 ∧ x3

1∂n).
0����� ����&��� ��� �
��� u38 
 nu37 + u39 ������� Wn. A
���� ��	 ������� Sn �����

2nu37 + (n2 + n− 1)u38 + 2u39.

""� 2π1 + π2 + πn−1.

u40 = x1z ∧ x2z ∧ x2
1∂n,

u41 =
∑

i x1xi∂n ∧ x2z ∧ x2
1∂i − x2xi∂n ∧ x1z ∧ x2

1∂i,

u42 =
∑

i x1xi∂n ∧ x1x2∂i ∧ x1z − x2xi∂n ∧ x2
1∂i ∧ x1z,

u43 =
∑

i x
2
1∂n ∧ x1x2∂i ∧ xiz − x1x2∂n ∧ x2

1∂i ∧ xiz,

u44 =
∑

i,j x1xi∂n ∧ x1x2∂j ∧ x1xj∂i − x2xi∂n ∧ x2
1∂j ∧ x1xj∂i,

u45 =
∑

i,j x
2
1∂i ∧ x1x2∂j ∧ xixj∂i,

u46 =
∑

i,j x1xi∂n ∧ x2xj∂i ∧ x2
1∂j − x2xi∂n ∧ x1xj∂i ∧ x2

1∂j ,

u47 =
∑

i,j x1xi∂j ∧ x2xj∂i ∧ x2
1∂n.

;����

∂(u40) = x1z ∧ x2
1x2∂n − x2z ∧ x3

1∂n,

∂(u41) = −(n+ 1)(x1z ∧ x2
1x2∂n − x2z ∧ x3

1∂n)+
+
∑

i x1xi∂n ∧ x2
1x2∂i − x2xi∂n ∧ x3

1∂i,

∂(u42) = −(
∑

i x
2
1∂i ∧ x1x2xi∂n − x1x2∂i ∧ x2

1xi∂n)−
−(
∑

i x1xi∂n ∧ x2
1x2∂i − x2xi∂n ∧ x3

1∂i) + (x2
1∂n ∧ x1x2z − x1x2∂n ∧ x2

1z).
∂(u43) = −(

∑
i x

2
1∂i ∧ x1x2xi∂n − x1x2∂i ∧ x2

1xi∂n)+
+n(x2

1∂n ∧ x1x2z − x1x2∂n ∧ x2
1z) − (x1z ∧ x2

1x2∂n − x2z ∧ x3
1∂n),

∂(u44) = (n+ 2)(
∑

i x
2
1∂i ∧ x1x2xi∂n − x1x2∂i ∧ x2

1xi∂n)+
+(n+ 1)(

∑
i x1xi∂n ∧ x2

1x2∂i − x2xi∂n ∧ x3
1∂i),

∂(u45) = (n+ 1)(
∑

i x
2
1∂i ∧ x1x2xi∂n − x1x2∂i ∧ x2

1xi∂n)−
−(
∑

i x1xi∂n ∧ x2
1x2∂i − x2xi∂n ∧ x3

1∂i),
∂(u46) = −(n+ 1)(

∑
i x1xi∂n ∧ x2

1x2∂i − x2xi∂n ∧ x3
1∂i)+

+2(x2
1∂n ∧ x1x2z − x1x2∂n ∧ x2

1z) − (x1z ∧ x2
1x2∂n − x2z ∧ x3

1∂n),
∂(u47) = 2(

∑
i x

2
1∂i ∧ x1x2xi∂n − x1x2∂i ∧ x2

1xi∂n)−
(
∑

i x1xi∂n ∧ x2
1x2∂i − x2xi∂n ∧ x3

1∂i).
���� ����
�� ������ �����
�

⎛
⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

0 0 0 1
0 1 0 −n− 1

−1 −1 1 0
−1 0 n −1

−n− 2 n+ 1 0 0
n+ 1 −1 0 0

0 −n− 1 2 −1
2 −1 0 0

⎞
⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠



0 �������
	� �������� ���	��� �
����������� ���������� L1 ����
������ ������� �
  D 

����� @� ,��&
�! 
�����	 @ �
��� ������� Wn

(2n3 − 3n− 1)u40 + (2n2 + 2n− 1)u41) + (n+ 1)nu42 − (n+ 2)u43 − (n− 1)u44,

n(n2 + n− 4)u40 + (n2 + 2n− 1)u41) + (n+ 1)nu42 − (n+ 1)u43 + (n− 1)u45,

(n3 − n2 − 4n+ 6)u40 + (n2 − 3)u41) − 2u42 + 2u43 − (n− 1)u46,

(3n2 − 2n− 3)u40 − (n2 − 3)u41) + 2nu42 − 2u43 + (n− 1)u47.

A
����
 ��* �
�������

 �����

(2n2 + 2n− 3)u40 − (n3 − 2n2 + 2n+ 1)u41 − (3n+ 2)u42 − (n+ 1)(2n2 − 1)u43+

+n(n+ 1)3u44 + (n2 − n− 1)(n+ 1)2u45 + n2(n+ 1)2u46 + (n2 − n− 1)(n+ 1)u47,

(n2 − 2)u40 − u43 − (n+ 1)u44 + (n2 − 1)u45 − (n+ 2)(n2 − n− 1)u47.

"8� 3π1.
u48 =

∑
i,j,k x1xi∂j ∧ x1xj∂k ∧ x1xk∂i,

u49 =
∑

i x1z ∧ xiz ∧ x2
1∂i,

u50 =
∑

i,j xjz ∧ x1xi∂j ∧ x2
1∂i,

u51 =
∑

i,j,k xixj∂k ∧ x1xk∂i ∧ x2
1∂j .

��&
��	�� 
� ����
&��� ����*�
∂(u48) = 3(n+ 1)

∑
i,j x1xi∂j ∧ x2

1xj∂i − 3x1z ∧ x2
1z − 3

∑
i x

2
1∂i ∧ x1xiz,

∂(u49) = −(n− 2)x1z ∧ x2
1z −

∑
i xiz ∧ x3

1∂i,
∂(u50) = −∑i,j x1xi∂j ∧ x2

1xj∂i + 3x1z ∧ x2
1z−

−(n+ 1)
∑

i xiz ∧ x3
1∂i − (n− 1)

∑
i x

2
1∂i ∧ x1xiz,

∂(u51) = (n+ 2)
∑

i,j x1xi∂j ∧ x2
1xj∂i −

∑
i xiz ∧ x3

1∂i − 2
∑

i x
2
1∂i ∧ x1xiz.

���� ����
�� ������ �����
�⎛
⎜⎜⎝

3n+ 3 −3 0 −3
0 −n+ 2 −1 0

−1 3 −n− 1 −n+ 1
n+ 2 0 −1 −2

⎞
⎟⎟⎠

����� 8� ,��&
�! 
�����	 ����� ��
� �
�� ������� Wn

(n+ 1)u48 − 3u49 + 3u50 − 3nu51,

������� 
���� ������� �
�������
��
� ��������

� ���� ����� ����������� �
��� ��* �
�������

�
"@� 2π2 + πn−1.
u52 =

∑
i x

2
1∂n ∧ x2

2∂i ∧ xiz−
−2x1x2∂n ∧ x1x2∂i ∧ xiz + x2

2∂n ∧ x2
1∂i ∧ xiz,

u53 =
∑

i x1xi∂n ∧ x1x2∂i ∧ x2z − x2xi∂n ∧ x2
1∂i ∧ x2z−

−x1xi∂n ∧ x2
2∂i ∧ x1z + x2xi∂n ∧ x1x2∂i ∧ x1z,

u54 =
∑

i,j x
2
1∂i ∧ x2xj∂n ∧ x2xi∂j − x1x2∂i ∧ x2xj∂n ∧ x1xi∂j−

−x1x2∂i ∧ x1xj∂n ∧ x2xi∂j + x2
2∂i ∧ x1xj∂n ∧ x1xi∂j .

;� ����*� �����
∂(u52) =

∑
i x

2
1∂i ∧ x2

2xi∂n − 2x1x2∂i ∧ x1x2xi∂n + x2
2∂i ∧ x2

1xi∂n+
+(n− 2)(x2

1∂n ∧ x2
2z − 2x1x2∂n ∧ x1x2z + x2

2∂n ∧ x2
1z),

∂(u53) = −(
∑

i x
2
1∂i ∧ x2

2xi∂n − 2x1x2∂i ∧ x1x2xi∂n + x2
2∂i ∧ x2

1xi∂n)−
−(x2

1∂n ∧ x2
2z − 2x1x2∂n ∧ x1x2z + x2

2∂n ∧ x2
1z),

∂(u54) = −(n+ 1)(
∑

i x
2
1∂i ∧ x2

2xi∂n − 2x1x2∂i ∧ x1x2xi∂n + x2
2∂i ∧ x2

1xi∂n)+
+(x2

1∂n ∧ x2
2z − 2x1x2∂n ∧ x1x2z + x2

2∂n ∧ x2
1z).
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���� ����
�� ������ �����
� ⎛
⎝ 1 n− 2

−1 −1
−n− 1 1

⎞
⎠

����� "� ,��&
�! 
�����	 ����� ��
� �
�� ������� Wn

(n+ 2)u52 + (n2 − n− 1)u53 − (n− 3)u54.
H�*�
���������� 6�������� 	��	���	
(n+ 1)u54 − u53 + u52.
;! �������! �������
� ���&���
"2� π1 + π2.
u55 =

∑
i x

2
1∂i ∧ x2z ∧ xiz − x1x2∂i ∧ x1z ∧ xiz,

u56 =
∑

i,j x1xj∂i ∧ x2xi∂j ∧ x1z,

u57 =
∑

i,j x
2
1∂i ∧ x2xi∂j ∧ xjz − x1x2∂i ∧ x1xi∂j ∧ xjz,

u58 =
∑

i,j,k x
2
1∂i ∧ x2xk∂j ∧ xixj∂k − x1x2∂i ∧ x1xk∂j ∧ xixj∂k.

;����
∂(u55) = (n− 2)(x1z ∧ x1x2z − x2z ∧ x2

1z),
∂(u56) = −2

∑
i,j x1xi∂j ∧ x1x2xj∂i − x2xi∂j ∧ x2

1xj∂i+
+2
∑

i x
2
1∂i ∧ x2xiz − x1x2∂i ∧ x1xiz,

∂(u57) = −∑i,j x1xi∂j ∧ x1x2xj∂i − x2xi∂j ∧ x2
1xj∂i+

+x1z ∧ x1x2z − x2z ∧ x2
1z+

+(n− 1)
∑

i x
2
1∂i ∧ x2xiz − x1x2∂i ∧ x1xiz,

∂(u58) = (n+ 1)
∑

i,j x1xi∂j ∧ x1x2xj∂i − x2xi∂j ∧ x2
1xj∂i−

−∑i x
2
1∂i ∧ x2xiz − x1x2∂i ∧ x1xiz.

���� ����
�� ������ �
�����⎛
⎜⎜⎝

0 n− 2 0
−2 0 2
−1 1 n− 1

n+ 1 0 −1

⎞
⎟⎟⎠

����� 8� ,��&
�! 
�����	 ����� ��
� �
�� ������� Wn

2nu55 + (n− 2)(n2 − 2)u56 + 2(n− 2)2u57 − 2n(n− 2)u58.
H�*�
���������� 6�������� 	��	���	
(n+ 1)u58 − u57 + u56 − u55.
�
�����	 ��*��
�
����� ����4
� �������� u1, u2, . . . , u58 ����� ������	���	� $�����'��
�

����*����
$� ���� ����*��������� ������'��
	 �� ����*��
 
 ��������

������������ ������� ��

�� ���� ���� ��  ���!� ����� 	 
"� #�	�� �$%&� '� �(� )�� *� �� + �$�

�� ��	
�� ��
�� ���� ���� ��  ���!� ����� 	 
"� #�	�� �$%�� '� �%� )&� *� $� + $��

&� ������������� ����� �������� ���� �� ,������ �$$�� '� �%�� )��

��������� � ��!��)�% ��

��		
��

������ ��������� � ������ ��'���������� ��������
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���� �����	�
��
 ��������� ��	������ ����������� �� �������� � ������������� ����� 

���������	
�� !"�����#� ����
�������� !$��������# %& ���	��� ������������
������������'���� ���������%! �� ������
 ���� � # 

(����������
��
 ���	����'��� ������� ��
 ������������ ������������'���� ���������
L, �������
����� �����)��* ����)�*

[Dt −A+N ]u(t) = f(t), t ∈ (0, b), μu(0) − u(b) = 0,

��� Dt = ∂
∂t , N [u(t)] =

m∑
k=1

αku(tk), μ, αk ∈ C, k = 1, . . . ,m, f ∈ H, A− Π��������� +,-� H =

= L2(0, b;H), H = L2(Ω), Ω − n������* 	�� � ������ 2π.
&�����)�� )���� ρL, .σL � /σL� ��������������� �����'������� ���������� ��)�)��*

���	�� � ����������* ���	�� ��������� L 
0����� ����� �������� )�� ���	��'	� Dt −A−λ+N = Dt − (A+λ) +N, ��� A+λ− �����

Π���������� �������)�� ���)��' ���)�* λ = 0. 1����� ������)���
2 α =
m∑

k=1

αk,

3(s) ≡
[μ− exp{b ·A(s)}] · [A(s) − α] + [μ− 1]

m∑
k=1

αk exp{tkA(s)}
A(s)

, s ∈ S. !,#

4��� s ��	��� )�� A(s) = 0, �� � !,# 3(s) �����
���
 ������'��� ������������2 lim
A(s)→0

3(s) =

= bα+ (μ− 1)[1 +
m∑

k=1

αktk]. 5���������� �����
6�� ����� 

� � � � � �� 0 ∈ ρL ����� � ������ ������ ����� 3(s) �= 0 ∀s ∈ S.
� � � � � �� 0 ∈ .σL ����� � ������ ������ ����� ��� ����������� s0 ∈ S 3(s0) = 0, ���

3(s) ���������� �  
!�

� � � � � �� 0 ∈ /σL ����� � ������ ������ ����� "#$�"��#�� ��"������������"��

{sl}∞l=1 ⊂ S ������ %�� |3(sl)| → 0 ��� l → ∞.
� � � � � � � 
 � �� 0�� μ = 0, ∞ � ��������'��� ��������� A ��)�)��* ���	�� ������

���� L �� ������ ���� !� ����)�� �� ���)�
� 	���� ����������� ������	� +,� � ,��7 �78-# 
� � � � � � � 
 � �� &�����)��* ���	�� ��������� L ����� 	�	 � � ��������� A, �� ���'

σL = .σL, /σL = σL \ .σL. &	������'� )�� 9�� ���*���� ��������� L �� ������� �� ����)�

������	� 

:�	�� �������� �� �����	������� ���� ������� �������������' ������� 
�� � � � � �� 
�%�� λ ∈ C ��������&�� �����# �' ���&�"�� ρL, .σL, /σL.
1 ��	�
)���� �������� )�� ����������� ������������'��� ��������� ���)����' ��	��

� ������� +�;<- 
�
��������� , =���� " " &�6�� ������� ������ �����)��� ����) > � ,?@� � 3ABCDE�

FGCH I J KKL MNOCED IEPB QNR ���� SNF 8T� U V . ,�8,;,�W� 8 =�������� > : KK =���
������ ��������
 ���, : 8T� U , 5 W@;<W W ������� X I Y�������
 ��������)��	�*
�������� I � ,??< < Z���� [ 5 KK =�������� ��������
 ,??, J �T� U , / @�;?87 U ? 
/ ,<<�;,<V8 



,�W 5������ ��������� >�������	� >&� ($

������������ !"�����# %& ������� ��������* ���������* ����)� 5������%! �� ����
���
 ���� � # 

0���' Ω⊂ R
2 ; ������'� ��	�
)����
 ����� ��
���� S1 � S2. 5�������
 ������� γ (y =

= Ψ(x, t)) ����� Ω �� ��� ����������2 Ω1 � �������* S1∪γ � Ω2 � �������* γ∪S2 0������������
)�� ������
��� ����� S1 � γ� γ � S2 �� ����������� ��	�����* ���������'��* 	�������� 
&�����)�� )���� Lk ; ��������)��	�* �������� ���� ���
�	�� k = 1, 2, 3 

0���' p(x, y, t) ; �������� � ������� Ω1� um(x, y, t) ; ����������� � ������� Ωm, m =
= 1, 2. :�������
 ���������' ���	��� p(x, y, t)� u1(x, y, t), u2(x, y, t), Ψ(x, t), ����������

6��
��������)��	�� ��������
�

L1p(x, y, t) = 0, (x, y) ∈ Ω1, 0 < t < T,

L1+mum(x, y, t) = 0, (x, y) ∈ Ωm, 0 < t < T, m = 1, 2,

��)��'��� ������
�
Ψ|t=0 = ψ0(x), x ∈ R ,

p|t=0 = p0(x, y) � Ω1 , um|t=0 = u0m(x, y) � Ωm , m = 1, 2,

	������ ������
�

p|S1×(0,T ) = q(x, t) , um|Sm×(0,T ) = qm(x, t) , m = 1, 2,

������
� �� ��������* ������� y = Ψ(x, t)

u1 = u2 = b1(x, y, t) + b2(x, y, t)p(x, y, t) ,
∂p

∂n
= 0 ,

λ1(x, y, t)
∂u1

∂n
− λ2(x, y, t)

∂u2

∂n
= − 1√

1 + (∂Ψ/∂x)2
∂Ψ
∂t

,

��� n ; ������' 	 ����������� γ� �����������
 � ������' Ω2� n =
1√

1 + (∂Ψ/∂x)2

(
− ∂Ψ
∂x

; 1
)

 

=�	����� �������)��
 �����������' ����)� � ������� ������������ \��'����� ����������
� +,- 1 5 ]����������� ����)��� ��)��� ����	� ������
 &�������
�' �� ���� ������ +�-�
�����������
 ����� ���������
 ������������� ������
 ����������* ����)� 

�
��������� , ]�������� 1 5 � ^����
	 : [ ����	��'��� �������� � ������ 	�����
����*��� ��������)��	�� ��������* ����������	 ,?T< ,<< R � &�)����� " 5 KK 0>:_ 
,??< : 8V� U W / ,,� ` ,,? 

�����
������ !"�����#� ������	���
 �� !5��	��0��������# %& ������������ �����
��*��* ����)� �� ��������* �������* >��	����1������� � ��������'��* �������%! �� ������

���� � # 

0���' Ω ; ������)����
 ������' � Rn, n ≥ 2, S = ∂Ω � ����' ���	����
 ����������'
γ(t) ����� ������' Ω �� ��� ���������� Ω1(t) � Ω2(t) ��	� )�� ∂Ω1(t) = S ∪ γ(t), ∂Ω2(t) =
= γ(t). 0���' γ(0) = Γ, Ωm(0) = Ωm. &�����)�� Q

(m)
T = {(x, t) |x ∈ Ωm(t), t ∈ (0, T )}, m =

= 1, 2, ST = S × [0, T ] (��������� ����)� >��	����1������� :�������
 ��*�� ��������

������� γ(t), u1(x, t), u2(x, t) �� ������
�

∂tum − amΔum = 0 � Q
(m)
T , m = 1, 2,

um|t=0 = u0m(x), x ∈ Ωm, m = 1, 2, γ(t)|t=0 = Γ,

u1|ST
= b(x, t), u1 − u2|γ(t) = 0,
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λ1∂νu1 − λ2∂νu2|γ(t) = 0, Vν = −c0λ1 ∂νu1|γ(t), 0 < t < T, (1)

��� ν ; ������' 	 ����������� γ(t), �����������
 � Ω2(t), Vν ; �	�����' ������6���
 γ(t)
�� ������� ν.

=�
 ����� ���)���* ������� ��������
 ������� γ(t) ����� ���' ������ ���������� x =
= ξ + ρ(ξ, t)N(ξ), ξ ∈ Γ, ��� N ; ��	������ ����� �������� �� Γ, ���)�� N ∈ C∞(Γ), N · ν ≥
≥ d1 = const > 0.

�� � � � � �� (#"�� α ∈ (0, 1), S, Γ ∈ C2+α.

���� ��)���"� 0 < T0 ≤T ������ %�� ��� �*��+ ,#��-��+ b(x, t)∈C2+α,1+α/2(ST ), u0m

∈ C2+α(Ωm), #����������*$�+ #"������ "����"������ ������� ������� � #"������ ∂νu01 −
−∂νu02≥d1 = const > 0, |λ1∇u01−λ2∇u02|Γ|
1, '���%�  
! ����� ����"������� ��.���� um∈
∈C2+α,1+α/2(Q(m)

T0
), m = 1, 2, ρ∈C2+α,1+α/2(ΓT0), ∂tρ∈C1+α,(1+α)/2(ΓT0), ������� ���%�����"�

�-����

2∑
m=1

|um|(2+α)

Q
(m)
t

+ |ρ|(2+α)
Γt

+ |∂tρ|(1+α)
Γt

≤ c1

( 2∑
m=1

|u0m|(2+α)
Ωm

+ |b|(2+α)
St

)
, t≤ T0.

=�	������'���� ������� ��������� � +,- 
�
��������� , ]������� \ [ � 5������	�� 1 " KK "������ � ������ ���� : ,�� U V 

5 ?@`,8? 

��!�� "# !"�����# %(����������' ������*���� ��������
 ]��'�����% ! �� �����
���� � # 

5���6���� 
��
���
 ��������� ������ +,- ^���)� $��� ��
 ������� ������*���� �����
����
 ]��'����� �� ��������� ����������� �������	��
����� ��������*����
 � �������

Q = R+
1 × R3 × V3

(
t ∈ R+

1 ≡ [0,∞); x ∈ R3 ≡ {−∞ < xj < ∞, j = 1, 3}; v ∈ V3� V3 ≡

≡ {−∞ < vj < ∞, j = 1, 3}
)

���������'�� ���	��� ������������
 f = f(t, x, v) ��������


+�-
∂f

∂t
+ (v, gradf) = J(f) − fS(f) ≡ B(f, f), f(t, x, v)

∣∣∣∣
t=0

= ϕ(x, v), !,#

��� J(f) =
∫
V3

∫
Σ

f(t, x, v′)f(t, x, v′1)K(θ,W )dσdv17 S(f) =
∫
V3

∫
Σ

f(t, x, v1)K(θ,W )dσdv1; K(θ,W ) =

= |W |(n−5)/(n−1)Λ(θ); v, v1 ; ��	���� �	������ ���� ����	���
6���
 ����	��7 W = v1 − v ;
��	��� ���������'��* �	������7 v′ = v + β(β,W ), v′1 = v1 − β(β,W ); β ; �����)��* ��	��� �
����������� �����
��
 ����	��� β =

(
sin θ cos ε, sin θ sin ε, cos θ

)
; (θ, ε)∈Σ≡{0≤θ≤π; 0≤ε≤2π

}
.

��)��'��
 ���	��
 ϕ(x, v) ��	�
� )��

ϕ(x, v) ∈ C2(R3;L1(V3));
∫
V3

∣∣∣∣
∣∣∣∣B
(
B(ϕ,ϕ), ϕ

)∣∣∣∣
∣∣∣∣
C(R3)

dv <∞; !�#

∫
V3

|v|γ ‖ ϕ(v) ‖Cm(R3) dv <∞; γ = 0, 2; m = 0, 2; !8#

��� Cm(R3) ; ������������ m���� ���������������� ���	��* � R3.
������� �� /"�� ��%������ ,#��-�� ϕ(x, v) #������������ #"������  �!�  �!� �� "#$��

"��#�� ����"������� ��.���� f(t, x, v)∈C1(R+
1 ×R3;L1(V3)) '���%�  
! � ��� ���� "����������

�-����∫
V3

|v|γ‖f(t, v)‖dv ≤
∫
V3

|v|γ‖ϕ(v)‖dv;
∫
V3

|v|γ‖ft(t, v)‖dv ≤
∫
V3

|v|γ‖ψ(v)‖dv, γ = 0, 2;
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∫
V3

‖ftt(t, v)‖dv ≤
∫
V3

‖χ(v)‖dv;
∫
V3

|v|γ‖fxj (t, v)‖dv ≤
∫
V3

|v|γ‖ϕxj (v)‖dv, γ = 0, 2; j = 1, 3;

∫
V3

|v|γ‖B(f, f)‖dv ≤
∫
V3

|v|γ‖ft(t, v)‖dv +
∫
V3

|v|1+γ
3∑

j=1

‖fxj‖dv, γ = 0, 1; ∀t ∈R+
1 ,

��� ψ(x, v) = −(v, gradϕ) + B(ϕ,ϕ); χ(x, v) = −(v, gradψ) + B(ψ,ϕ), ‖f(t, v)‖ = sup
x∈R3

|f(t, x, v)|.
������� �� H � ,#��-�� 0���-���� ����"������� ‖f(t, v)‖C(R3) ����� ���

H(t) =
∫
V3

‖f(t, v)‖C(R3) ln ‖f(t, v)C(R3)‖dv,

� ,#��-�� ‖f(t, v)‖C(R3) ��� t → ∞ "������"� � ,#��-�� 1��"����� ‖f(v)‖C(R3) = Ce−αv2
,

��� C � α � ��"�������� ������������ " ����$�* "���#*$�+ "�����.���)∫
V3

|v|γ‖f(t, v)‖C(R3)dv =
∫
V3

|v|γ |ϕ(x0, v)|dv, γ = 0, 2; ∀t,

x0 � ��%��� ��� ,#��-�� f(t, x, v) ��"������ "���+ "#����#��� � R3.

�
��������� , "	�� " a KK >�������)��	�* ������ "����� ���� : ,� U , � ������
�������� 
�����
2 Y�������
 ]��'�����2 ��� � ���� 0�� ��� =� Z Z�������� 4 Y >�������
�� > � ,?@V 

$�
�!%�&
 !"�����# %&���	� ���
��
 9���	�� $����� �� ������������� ���� � 9��	�
���)��	�� 	����	���%! �� ����� ���� � # 

1 ,?W� ���� I $���� ������	���� ������� � 	�����* ������ 9���	�� ������
6�*�
 � ����
��
6�� ��	��2 ���� � 9��	���)��	�� 	��������
6�� �����*���� ����� ����� ����	�
 ����
�������� �� ��������
 � 	������ =����* 9���	� ��)������ ��� ������� ��� ����� ��	��
���
�	� ∼10−4A $������ ���� ���	����� ��������� )�� �������� ����� ������
� 9��	����
��� ����������
6�� ���������'��* ���'��� ����������* ����	�* �� ����������� 9��	������
����������� ������'��* ������������ 1 ���'��*��� 9��� 9���	� ��� �����'�� ����������
� 9	�����������'��* ������� !( b��'�� 1�������� _���	 � �� # 

1 �������������* ������ ��
 �������
 	���)��������� ��	�����������* ��������������

�����������)��
 ��������)��	�
 �����' ������������
 ����������� � 9��	������ � �������
����� �������'���� 9��	���)��	��� 	����	�� >����' �)������� ��	� ����������* ������'�
���� 9��	�������� � �	�
)��� ��� ��������
 ����������������

∂2θi

∂r2
+

1
r

∂θi

∂r
+
∂2θi

∂z2
+
ρj2i
λ

= 0, i = 1, 2,

� 	������ ���	��� θ1(r, z) � θ2(r, z) �������

� ������������ ��������������� � 	����� D1 =
= {0 < r <∞,−∞ < z < 0} � ����� D2 = {0 < r <∞, 0 < z <∞} 

:������ 0 = j ·uf = j2 ·σf � �����
���
 ������'���� 9��	������� �� ����������� ����� �
	����	���� �
��� 0 ≤ r < f � ����� ���������
���
 ����� 	������ � ������2 0 = 0	 + 0� =
= θf (r,0)

W + 0�� θf (r, 0) = θ2(r,+0) − θ1(r,−0) c�� ������� �)��������
 	������� ������
��
������ �� ������� 	����	�� z = 0

λ
∂θf (r, 0)

∂z
=

{
θf (r,0)

W , 0 ≤ r < f,
0, f < r <∞,

− λ
∂θ1(r, 0)
∂z

=

{
0 − θf (r,0)

W , 0 ≤ r < f,
0, f < r <∞,
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�� ���	���)�� ��������� �� 	����	����� �
��� �������� z = ±∞� r = +∞ ���������

θ1 = θ2 = 0 _���)��	�� ���������� �����'�������� � ��������
�� ���
� �����
6�* �����2
j ; ��������' ��	� � 	����	���� �
���� uf ; 9��	���)��	�� ����
����� ����� ���������
��
�� ����	�� σf ; 9��	���)��	�� ������'��� ����'��� ������������� �� ������� ���6���
����������� ����	�� W ; ����'��� �������� ������������� �	���' ����	�� λ ; ����'��
 ����
������������' ��������� 	����	��� � ����	� 

1 �����'���� ������
 	�����* ����)�� ������������ ���������� ��������� ����������
����������� � ������ �
��� ��
 ����� 9��	������ (����'���� �����
��
 � ������� ��������
� 9	�����������'���� ������� 

=�
 ����	� ���
��
 9���	�� $����� �� ������ 	����	�� � ���������
 ���������'����
������� ����� �	����� � ������ 	����	��� 9��	������ ������������ � ������'��� 9��	����
��� �������
 �����������* 	������* $����� Ko � ���� ��������
 ������������
 ����	� 	
	����	����� ������������
 ��� ���������� ����	� !������������
 �����
# 5 ����6'
 	���
����
 $����� ����������� � ������ �
��� �� 9��	������ ����� ���' �������� �����
6��
�������

θ1(0, 0) = θj [1 + η1(Ko)], θ2(0, 0) = θj [1 + η2(Ko)].

_��	��� η1(Ko) � η2(Ko) �������

�� ��������������� ��������� ������'��� � ���������
	�������� � �������� ������� 	����� � ����� [� ���)���� � )��������� �������� )�� ���� Ko <
< 0.02� �� ������'��* ������ ����� �������
�� ����� ,�d �� ��������
 � ��������� ���������
��� Ko = 0.28 ��� �������
�� � ��� Ko > 1 ������'��* 	�������� ����������� � ,� ���
��������� ������� 	�������� 

�
��������� Q e MBEOGD� X J MBfFEgBhCPNHE� if j QkElG� %mnPGhEPGND No MNBFCO mpCRP
ND PBC JChkCOEPfOC qGCFl GD mFCRPOGREF /NDPERPn%� .ONR rDPCODEPGNDEF rmmm /NDo reIr/������
rnFEhEsEl� .EgGnPED� ���� kk 
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ÏÐÀÂÈËÀ ÎÔÎÐÌËÅÍÈß ÑÒÀÒÅÉ
Ñòàòüè, íàïðàâëÿåìûå â "Ìàòåìàòè÷åñêèé æóðíàë", äîëæíû óäîâëåòâîðÿòü ñëå-

äóþùèì òðåáîâàíèÿì:

1. Ñòàòüÿ ìîæåò áûòü ïðåäñòàâëåíà â ïîëíîì îáúåìå èëè â âèäå êðàòêîãî ñîîáùåíèÿ
íà ðóññêîì èëè àíãëèéñêîì ÿçûêàõ.

2. Ñòàòüÿ ïðåäñòàâëÿåòñÿ â äâóõ ýêçåìïëÿðàõ è ÿâëÿåòñÿ îðèãèíàëîì äëÿ ïå÷àòè.
Â ëåâîì âåðõíåì óãëó íåîáõîäèìî óêàçàòü èíäåêñ ÓÄÊ, äàëåå íàçâàíèå ñòàòüè è
ôàìèëèè àâòîðîâ ïî àëôàâèòó.

3. Ê ñòàòüå ïðèëàãàþòñÿ â äâóõ ýêçåìïëÿðàõ íà ðóññêîì è àíãëèéñêîì ÿçûêàõ (äëÿ
ñòàòüè íà àíãëèéñêîì ÿçûêå òîëüêî íà àíãëèéñêîì): íàçâàíèå ñòàòüè; ôàìèëèè
è èíèöèàëû àâòîðîâ; êëþ÷åâûå ñëîâà; àâòîðåôåðàò ñ óêàçàíèåì èíäåêñà 2000
Mathematics Subject Classi�cation.

4. Êðîìå òâåðäûõ êîïèé íåîáõîäèìî ïðåäñòàâèòü â ðåäàêöèþ äèñêåòó ñ ïîäãîòîâëåí-
íûì â LATEX tex-ôàéëîì ñòàòüè èëè ïåðåñëàòü åãî ýëåêòðîííîé ïî÷òîé e-mail:
journal@math.kz (ñì. îáðàçåö îôîðìëåíèÿ ñòàòüè â http://www.math.kz/ â
ðàçäåëå "Ìàòåìàòè÷åñêèé æóðíàë").

5. Îáúåì ñòàòåé (ñòàíäàðòíûé ôîðìàò â LATEX) íå äîëæåí ïðåâûøàòü 10 æóðíàëüíûõ
ñòðàíèö (íå áîëåå 20 ìàøèíîïèñíûõ ñòð. ÷åðåç 2 èíòåðâàëà), êðàòêèå ñîîáùåíèÿ
� 3 æóðíàëüíûå ñòðàíèöû (íå áîëåå 6 ìàøèíîïèñíûõ ñòð. ÷åðåç 2 èíòåðâàëà).
Îáúåì ðåôåðàòà � íå áîëåå 1/4 ñòð. (0,5 ìàøèíîïèñíîé ñòð.).

6. Íóìåðîâàííûå ôîðìóëû ñëåäóåò ïèñàòü â îòäåëüíîé ñòðîêå.

7. Ñïèñîê ëèòåðàòóðû ñîñòàâëÿåòñÿ ïî ïîðÿäêó ññûëîê â òåêñòå. Ïðè ññûëêå íà ìî-
íîãðàôèþ íåîáõîäèìî óêàçàòü ñòðàíèöó (íàïðèìåð, [1, ñ.45]). Ññûëêè íà íåîïóá-
ëèêîâàííûå ðàáîòû íå äîïóñêàþòñÿ. Ñïèñîê ëèòåðàòóðû ïðèâîäèòñÿ â ñëåäóþùåì
âèäå.
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